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AR 3
MLBRA v A F R (EREAREERE)

<Taml version="1. 0" encoding="UTF=-8"7>
CMCCI_IN200100UVO1 ITSVersion="YML_Ll. 0" xsi:schemalocation="urn:hl7=-org:v3 HCCI _IN200L00UVOL, xsd” xmlns="urn:hl7T-org:v3” xmlhs:xai= http //www. w3, org/
2001 /¥MLSchema=instance”™>
_ <id extension="N.1.2" root="2, 16.840. 1. 113883, 3,988, 2, 1. 3.22"/>
<!— N.1.2: Bateh Number —>
<ereationTime value="201012141516177/>
¢{!— N.1.5: Date of Batch Transmission —>
<responseModeCode code="D"/>
¢interactionld extension="MCCI_INZ00100UVO1” reot="2.16.840. 1. 113883,1.67/> .
¢name code="N. 1. 1" codeSystem="2. 16. 840. 1. 113883.3.985.2.1. 1, 17/>
{1e= N.1.1: Type of Messages in Batch —>
¢1— Message #1 —>
<PORR_INO49016UV>
<id extension="N.2.r.1" roat="2.16.840. 1. 113883, 3,989,2.1.3.1"/>
<!— N.2.r.1: Message Ldentifier —>
{creationTime velue="201012141B1617°/>
¢l— N.2.r.4: Date of Message Creation ——>
<interactionld extension="PORR_IND490I6UY" root="2, 16. 840, 1, 113883, 1. 6"/>
{processingCode code="P"/>
{processinglodeCode code="T"/>
<accepthckCode code="AL"/>
{receiver typaCode="RCV">
<device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.Z2.r.3" root="2.16. 8401, 113883.3.989.2.1.3. 12'/>
{le— N.2,r,3: Message Receoiver Identlfier —>
¢/devicey :
{/receiver)
¢sender typeCode="SND"> ,
<device classCode="DEY" determinerCode="INSTANCE"> . .
¢id extensjon="N.2.r.2" root="2,16, 840, 1. 113883, 3,989,2,1,3.117/>
¢l— N.2.1r.2: Message Sender Identifier -—> ) ’ .
</device>
</sender>
<cantrnlAntProc|:ss classCode="CACT" moodCode="EVN™>
¢code cade="PORR_TE04501BUY" codeSystem="2. 16. 840. 1. 113883, 1. 18"/>
<J=— KL7 Trigger Event ID ——>
(effectiveTime value="20101214151617"/>
¢<1— C.1.2: Date of Creation —>
{subject typeCode="SUBJ™>
<investigationEvent classCode="INVSTG" moodCode="EVN™> .
<id extension="C.L. 17 root="2.16.840. 1, 113883, 3,989,2.1.3.1°/>
¢{— C.1.1: Sender's (case) Safety Report Unique Identifier —>
¢id extension="C, L 8.1 root="2. 16.840, 1, 113883.3.985,.2.1,3.27/>
<l— C.1.8.1: Worldwide Unique Case Identification Number —>
<id extension="J2.1b” root="2, 16.840, 1, 113883. 3.989.5.1.3.2.3. 1"/>
t— gaaje. 1b: HRAEF (B —
<code code="PAT_ADV_EVNT” codeSystem="2. 16. 840, 1. 113883 5.47/3
{textdH. 1{/text>
<I— H#.1: Case Narrative Including Clmmal Course, Therapeutic Measures, Outcome and Additicnal Relevant Information —>
{statusCode code="active™/>
<!— 8@ej2.7.1 =T, ﬂEmTEﬁ -
<{effectiveTima?
<low value=" 20090101'/)
¢{!— C.1.4: Date Report Was First Recelved ‘from Source ~—»
¢feffectiveTime>
{availabilityTime value="200001017/>
¢!— ¢.1,5: Date of Most Recent Information for This Report —>
¢reference typeCode="REFR™>
{document classCode="DOC" moodCode="EVN™>
<code ¢ode="1" codeSystem="2. 16, 840. 1. 113863, 3. 989. 2, 1.1, 27" displayName=" documentsHeldBySender F2
{titledC. 1.6, L. r. 1</title>
¢]— C. 1.8, 1.r. 1: Dacuments Held by Sender (repeat as necessary) #1 —>
<text mediaType="applicetion/pdf” representation="B64">C.1.6.1.r. 2</text>
¢]— €. L6 1Lr2: Included Documents #1 —> .
</decument>
{/reference>
{reference typeCode="REFR™>
<document classCode="DOC™ meadCode="EVN™>
¢code code="1" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 27" displayNawe="docunentsHeldBySender™/>
<titleC. 1.6. L r. 1</title> '
¢l— C, 1,6.1.r. 1¢ Documents-Held by Sender (repeat as necessary) #2 —>
(text medialype="image/jpeg” representation="BE4" compression="DF">C. LG 1 r. 2{/text>
<J== C.1.6. 1.1 2: Included Documents H2 -—> .
</document?>
¢/referance>



<reference typeCoda="REFR™>
{document classCode="DOC” moadCode="EVN™>
" (eode code="2" codeSystem="2. 16. 840. 1, 113883, 3.689, 2. 1. 1, 27" displayName=" hteratureReference )
CtitledJ2. IT. ré/titled
<l-- @deyz, 17.r MR/ FROSE 1 —
<text mediaType="application/pdf” representation="B647>C.4.r.2¢{/text>
<|— C.4.1r.2: Included Documents #I —
<hiblicgraphicDesignationText>C. 4. r. 1</bibliographicDesignationText>
¢!— C.4,r.1: Literature Reference(s) #1 —>
{participation typeCode="AUT™>
¢assignedEntity classCode="ASSIGNED™>
{represontedrganization classCode="0RG™ determinerCode="INSTANCE™>
<asLacatedBntity classCode="LOCE™>
¢lacatien classCode="COUNTRY” determinerCode="INSTANCE">
<code code="J2, 15, r" codeSystew="1. 0. 3166. 1, 2.2"/>
<I-- 888)2.15.r A¥E #1 —>
</location’
{/asLocatedEntity)
{/representedfrganization>
{/assignedBntity>
{/participation>
{/document>
¢/reference>
{reference typeCado="REFR">
{document e¢lassCode="THIC" moodCode="EVN">
{code code="2" codeSysten="2. 16. 840. 1, 113883, 3, 985. 2LL 21" dlsplayName— literatureReference”/>
<{title}]2, 17. r{/title> -
<I=- e88]2. 17.r BB/ HIROHHE #2 -=>
Ctext mediaType="application/pdf” represemtation="B&4">C.4.r. 2</text>
¢!— C.4.1.2: Included Documents HZ —>
¢hibliographicDesignationText>C. 4. . 1</bibliographicDesignationText>
¢J— C.4.r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT™>
CagsignedEntity classCode="ASSIGNED™>
{representedOrganization classCodes"0RG™ determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY” determinerCode="INSTANCE™>
<code cade="J2.15.¥" codeSysten="1. 0, 3166.1.2.2"/>
¢l geaje. 15. r ARE #2 —>
¢/location>
¢/aslocatedEntity>
{/representedOrganization>
© {fassignedEntity>
{/participation>
</document>
{/reference>
{compenent typeCode="COMP™> ~
¢adverseEventAssessment classCode="INVSTG” moodCode="EVN">
<subjectl typeCode="SBJ™>
{primaryRole classCode="INVSB]">
{playerl classCode="PSN" determmerCode— INSTANCE” >
<name>D. 1</hame>
¢|— Db.1: Patient (name or initials) —>
(administrativeGenderCode code="D, 5" codeSystem="1.0, 5218"/>
¢l— D.5 Sex —>
<birthTime value="20090101"/>
¢l— D.2.1: Date of Birth —>
{deceasedTine value="20090101"/>
¢l=-D.9.1: Date of Death —>
¢asIdentifiedEntity classCode="IDENT™>
<id extension="0, 1.1.1" root="2.16. §40. L. 113883. 3.989. 2. 1.3, 7°/>
¢1=- D,1.1 1: Patient Medical Record Number(s) and Source(s) of the Recard Number (GP Medical Record Number) -->
{code code="1" codeSyster="2. 16. 840, 1, 113883.3.989.2. 1. 1. 47 d:splayName— GP™/>
{/asIdentifiedEntity>
¢asIdentifiedEntity classCode="IDENT">
¢id extension="D. 1. 1,27 reot="2. 16.840. L. 113883,3, 989, 2.1,3.8"/>
¢]— D.1.1.2: Patient Medical Record Number(s) and Source{s) of the Record Number {Specialist Record Number) —>
{code code="2" codeSystem="2, 16, 840, 1, 113883, 3, 989. 2, 1, 1, 4" displayNeme="Specialist™/>
{/usIldentifiedEntity> '
<asldentifiedBntity classCode="IDENT">
<id extension="D.1.1.3" root="2.16. 840. 1. 113883, 3,989, 2. 1.3.9"/>
¢<l— D.1.1.3: Patient Medical Record Number(s) and Saurce(s) of the Record Number (Hospital Record Number) —>
<cods code="3" codeSystem="2. 16, 840. 1. 113883. 3, 989. 2. 1, 1. 4" displayName= Hosp1tal Renord W
</asldentifiedEntity>
¢asIdentifiedEntity classCode="IDENT“>



¢id extension="D, 1. 1.4” root="2. 16, 840, 1. 113883, 3. 980, 2,1,3,10"/> .
¢!— D,1,1,4: Patient Medical Rerord Number(s) and Source(s) of the Record Number (Investigation Number) ——>
{code code="4" cadeSysten="2. 16,840, 1. 113883, 3.589. 2. 1. 1. 4" displayName="Investigation”/>
{/asIdentifiedEntity>
{role classCode="PRS">
<code code="PRN” codeSystem="2. 16, 840. 1. 113883. 5. 1117/>
<assaciatedPersen classCode="PSN” determinerCode="INSTANCE">
<name>D. 10. 1{/name>
¢!— D. 10, 1: Parent Identification —>
¢adpinistrativeGenderlode code="D. 10,67 codeSystem="1. 0. 52187/>
{|— D.10.6: Sex of Parent —>
<birthTime value="200301017/> .
¢l=- D, 10,2, 1: Date of Birth of Parent —>
{/associatedPerson>
{subject0f2 typeCode="SB]™>
{observation classCode="0BS" mandCode="EVN™>
<cade code="3" codeSystem="2. 16. 840, L. 113883, 3, 989. 2. 1. 1. 197 displayName="age"/>
<value xsiitype="PQ" value="10" unit="D.10.2.2b"/>
¢!— D. 0.2, 2a: Age of Parent (number) —>
<l-— D.10.2.2b: Age of Parent (unit) —>
{/vwbservation>
{/subject0f2>
<subject0Of2 typeCode="SB]">
¢observation classCode="0B5" maodCode="EVN">
{eode code="22" codeSystem="2. 16, 840. L. 113883, 3, 989, 2. 1. 1, 19” displayName="lastMenstrualPeriodDate”/>
¢value xsiitype="TS" value="200801017/>
¢!— D.10.3: Last Menstrual Period Date of Parent —»
</observation>
</subject0f2>
. <subjectDf2 typeCode="SBI]">
Cobservation classCode="0BS" moodCade="EVN">
¢code code="T" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2, 1. 1, 18" displayName="badyWeight”/>
<value xsi:type="PQ” value="50" unit="kg"/>
¢]— D, 10, 4 Body Weight (kg) of Parent —»
{/cbservation>
</subject0f2>
{subject0f2 typeCode="SBI">
<observation classCode="0BS" moodCode="EVN™>
¢code code="17" codeSyster="2. 16. 840, 1, 113883, 3. 989, 2. 1. 1. 19" displayName="height"/>
{value xsi!type="PQ* value="160" unit="cn"/>
<|— D.10.5: Height (cmw) of Parent -=>
{/ecbservation>
</subject0f2> .
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN™>
<code code="1" codeSystem="2. 16.840. L. 113883, 3, 989. 2.1, 1, 20" displayMame="relevantYedicalHistoryAndConcurrentConditions”/>
<component typeCode="COMP">
<chservation c¢lassCode="0B5" maocdCode="EVYN™> .
<ecode code="D, 10,7 1.r. 1b" codeSystem="2. 16. 840. 1, 113883. 6. 163" codeSystenVersion="0.10.7. L. r. 1a"/>
{i— 1,10, 7. L. r. la: WedDRA Version for Medical History #1 -->
¢]1— D.10.7. 1.1, 1b: Medical History (disease / surgical pracedure/ ete.) (ModDRA code) #1 -
{affectiveTime xsi:type="IVL_TIS™>
<low valuze="20090101"/>
(}l— D.10.7.1.xr. 2! Start Date #1 —>
<high value="20090101"/>
¢!— D, 10.7.1.r. 4: End Date #1 —>
¢/effectiveTime> .
{ouiboundRelationship? typeCode="COMP™> :
{ohservation classCode="0BS” moodCode="EVN™>
<code code="10" codeSystem="2. 16, 840, 1, 113883, 3. 989, 2. 1. 1. 19" displayName="comment”/>
{value xsi:type="ED">D. 10.7. L. r.5</value>
¢]— 0.10.7.1.r. 5 Comments #1 ==>
{/observation>
¢/outboundRelationship2>
{inboundRelationship typaCode="REFR™>
Cobservation classCode="0BS" mocdCode="EVN™>
<code code="13" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="continuing”/>
(value xsi:type="BL" value="true”/>
<!—,_— I.10,7.1,r,3: Continuing #L —>
{/observation>
</inboundRelationship?
</observation?
</component> .
{component typeCode="COMP">
{observatien classCode="0BS" moodCede="EVYN™>



{code code="D. 10, 7. 1. . 1b” codeSystem="2. 16. 840. L. 113883, 6. 163" codeSystenVersions"D. 10.7. 1. 1. 1a"/>
{l— D.10.7.1.7. la: MedDRA Version for Medical Mistory #2 —>
. A= D.10.7. 1.x. Ih: Medical History (disease / surgical procedure/ etc.) (MedDRA cede) #2 —>
' <effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
¢l== D.10.7. 1.r.2: Start Date 2 —>
<high value="200901017/>
<!— 0. 10.7. 1. r,4: End Date {2 —>
{/effectiveTime>
{outboundRelationship2 typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>
<code code="10" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="comment”/> .
Cvalue xsi:type="ED">D. 10. 7. L. r.5¢/value>
{l— D, 10,7. 1. r. G: Comments #2 ~—>
</observation>
{/outhoundRelationship2>
<inboundRelationship typeCode="REFR™>
{ehservation classCode="CBS"™ maodCode="EVN™> .
<code code="13" codeSystem="2. 16. 84C. 1. 113883, 3. 989. 2, 1. 1. 19" displayName="continuing /)
<value xsi:type="BL" value="true”/>
¢I— D, 10, 7. 1. 1. 3: Continuing #2 >
<{/observation? -
</inboundRelationship>
</observation?
¢/component?
{component typeGode="COMP™>
{chservation classCode="0BS" mocdCode="EVN">
<code code="18" codeSystem="2. 16. 840, 1, 113883, 3. 980. 2. 1. 1. 18" dlsnlayName— h1storyﬂndConcurrentCondit1un‘l‘axt ‘>
¢yalue xsiitype="ED">I. 10,7, 2{/valued
¢1— D.10.7.2: Text for Relevant Medical History and Concurrent Conditions of Parent —>
</observation>
</component>
</organizer?
</subject0f2>
¢subject0£f2 typeCode="SB]">
{organizer classCode="CATEGORY" moodCode="EVN™>
¢eode code="2" codeSystem="2. 16. 840. 1. 113883, 3, 089, 2. 1. 1. 207 displayName="drugHistory”/>
{component typeCode="COMP™>
{substancepdministration classCode="SBADM® moodCode="EVN™>
{effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
¢l~~ D.10.8.1. 4: Start Date #l —>
<high value="200901017/> .
{t— P.10.8.r.5: End Date #1 ——>
{/effectiveTime>
{consumable typeCode="CSW™>
<instanceOfKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{code code="I.10,8.r.2b" codeSystem="TBD-MPID" codeSystenVersion="D. 10.8 r.2a"/>
|~ T.10. 8. 1. 2a: WPED Version Date / Number H#1 ——>
¢l— D,10.8.x.2b! Medicinal Preduct ldentifier (MPID) #1 -->
<name>D. 10. 8. r. 1{/hame>
<|— D11 B.x. L Name of Drug as Reported #1 —>
</kind0fProduct>
¢/instance0fKind>
¢/consumable>
¢outboundRelationship? typeCode="RSON™>
{observation classCode="0BS" moodCode="BVN">
<code code="19" codeSystem="2. 16. 840, 1. 113883, 3. 988, 2. 1. 1. 197 displayName=" 1ndlcatlon'/>
¢value xsi:type="CE" code="D. 10.8,r,6b" codeSystew="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="D.10.8.r. 6a™/?
¢}=— D.10.B.r.6a: MedDRA Version for Indication #1 —>
¢}— D.10.8.r.6b: Indication (MedDRA coede) H1 —>
{/observation>
{/outboundRelationship2>
<outbeundRelationshin? typeCade="CAUS™>
<observation classCode="0BS" moodCade="EVN">
{code tode="20" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="reaction”/>
Cvalue xsiitype="CE* code="D.10.8.1.7b" codeSystem="2. 16. 840, 1, 113883, 6. 163" codeSystemVersion="D, 10. 8.r. 7a"/>
¢l— DL 10.8.r. 7a: MedDRA Version for Reaction H#1 -—>
¢l—~ D.10.8.r. 7b: Reactions (MedDRA code) #1 —>
</observation>
{/outboundRelationship2>
{/substanceAdministration>
{/component>
{compenent typeCode="COMP">



{substanceAdninistration classCadé="SBADM" moodCode="EVN™>’
(effectiveTine xsi:type="IVL_TS">
<low value="20080101"/> .
<l— D, 10.8.r. 43 Start Date §2 --> '
¢high value="200901017/>
¢l— D,10.8.r.5: End Date #2 —>
¢fetfectiveTime>
{eonsumable typeCode="CSM™>
<instanceOfKind classCode="INST™> }
<kind0fProduct classCode="MMAT" determinerCede="KIND™>
{code code="D. 10. 8. r. 3b" codeSystem="TBD-PhPID" codeSystenVersion="D. 10,8.r.3a"/>
<l— D.10.8,r.3a: PhPID Version Date / Number #2 —>
¢l-= D.10.8.1.3b: Pharmaceutical Product Identifier (PhPID) #2 —
<name>D. 10. 8. r. 1</name>
¢l— D.10.8. 1. 1; Name of Drug as Reported 2 —>
{/kindOfProduct> .
</instance0fKind> '
</consumable>
<outboundfelationship2 typeCode="RSON™>
<ohservation classCode="0BS" moodCode="EVN™>
{eode code="19" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="indicaticn”/>
Cvalue xsiitype="CE” code="D.10.8.r.6b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystenVersion="D.10.8.r.6a"/>
¢l~~ D.10.8.1.6a: MedDRA Version for Indication #2 —>
¢]— D. 10.8.r.6b: Indication {MedDRA code) #2 —>
{/observatiend
¢/outhoundRelationship2>
{autbeundRelationship? typeCode="GAUS™>
{observation classCade="0BS” moodCode="EVN™>
(code code="29" codeSysten="2. 16, 840. 1. 113883, 3,989, 2,1, 1, 19" displayNeme="reaction”/> .
<yalue xsi:type="CE” code="D.10.8.r.7b" codeSystem="2. }6. §40. L, 113883, 6, 163" codeSystemVersion="D, 10,8, r, 7Ta"/
¢l=— D,10.8.r. 7a: MedDRA Version for Reactien #2 —->
¢l— D, 10,8, 1. 7b: Reactions (MedDRA code} H2 —>
{/observation>
</vutboundRelationship2>
</substanceAdmifistration>
{/component>
{/organizer>
</subject0f2>
</role>
</playerl>
<subjectOft typeCode="SBJ">
{researchStudy classCode="CLNTRL” moodCode="EVN™>
<id extension="C, 5. 3" root="2.16.840. 1. 113883, 3.989.2. 1.3.57/>
¢!— €, 5,3: Sponsor Study Number —>
{code code="C.5.4" codeSystem="2. L6. 840, 1, 113883.3.089.2. 1. 1. 8"/>
<!— C.5.4: Study Type Where Reaction(s) / Event(s) Were Observed —> .
<title>C. 5. 2</title> . .
<I— €. 5.2: Study Name —>
{authorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moadCede="BVN">
¢id extension="C.5.1.r. 17 reot="2. 16.840. 1, 113883, 3,989.2.1.3.6"/>
<|— C.5. L r. 1 Study Registration Number #1 —>
{author typeCode="AUT™>
{territorialAuthority classCode="TERR">
<governingPlace classCode="COUNTRY" determinerCode="INSTANCE™>
¢eode code="C.5. L.r.2" codeSysten="1.0.3166.1.2.2"/>
{1— .5, 1.r.2: Study Registration Country #1 —>
</governingPlace> '
</territorialAutherity>
{/suthor>
{/studyRegistration}
{/authorization?
<authorization typeCode="AUTH™>
¢studyRegistration classCode="ACT” moedCode="EVN™>
<id extension="C,5.1,r.1" roat="2. 16. 840, 1. 113883, 3,089, 2.1, 3.67/>
{l— C.5,1,r.1 Study Registration Number #2 —>
<author typeCede="AUT">
<territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY" determinerCode="INSTANGE™>
<code code="C,5,1.r.2" codeSystem="1,0. 3166, }, 2.27/>
<!=~ C.5.1.xr.2: Study Registration Country #2 —>
</governingPlace>
{/territerialAuthority>
</author>
{/studyRegistration?



{/authorization>
</researchStudy>
{/subjectOf1>
{subject0f2 typeCode="SB]">
¢observation classGode="0BS” moodCode="EVN™>
¢code code="3" codeSystem="2. 16. B40. 1, 113883. 3. 989, 2. 1. 1. 19" displayName="age"/>
¢yalue xsi:type="PQ" value="10" unit="D.2. 2b"/>
¢l== D.2.2a: Age at Time of Onset of Reaction / Event (number) —>
¢[— D.2.2b: Age at Time of Onset of Reaction / Event (umit) —>
</observation?
</sub ject0f2>
{subjectOf2 typeCode="SB]™>
{observation classCode="0BS” moodCode="EVN™>
¢eode code="16" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1, 1. 18" displayName="gestationPeriod”/>
¢value xsi:type="PQ” value="10" unit="D.2.2.1b"/>
¢!— D.2.2. 1a: Gestation Period When Reaction / Event Was Observed in the Foetus (number) ——>
<|— D[.2.2.1b: Gestation Period When Reaction / Event Was Observed in the Foetus {unit) —>
¢/ohservation
¢/subject0f2>
<subject0f2 typeCode="SB]™>
{chservation classCode="0BS™ moodCode="EVYN">
" ¢code code="4" codeSystem="2. 16.840. 1. 113883, 3,089. 2. 1. I. 1¢” displayName="ageGroup”/>
<value xsi:type="CE” code="D. 2, 3" codeSystem="2. 16, 840, 1, 113883, 3,989, 2,1, 1. [
¢!~ D.2.3: Patient Age Group (as per reporter) —>
{/ohservatien>
¢/sub ject0f2>
<subjectOf2 tprCode— SBI">
<Lobservation tlassCode="0BS" moodCode="EVN">
¢code code="7" codeSystem="2. 16, 840, 1. 113883, 3.989,2.1.1.197 dlsplayName— bodyWe1ght'/>
<value xsiitype="PQ" value="48.2" wnit="kg"/>
¢l— D.3: Body Weight (kg) ~=>
{/observation> :
</subject0f2>
{subject0f? typsCode="SB]">
{observation classCede="0BS” moodCoda="EVN">
<code code="17" codsSysten="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="height"/>
Cvalue xsi:type="PQ" value="152" unit="en"/>
¢l— D.4: Height (em) —>
{/observation?
{/subject0f2>
<subjectOf2 typeCode="SBJ">
{ohservation classCode="0BS” moadCode="EVR">
Ccode code="22" codeSystem="2, 16, 840. 1. 113883, 3,989, 2, 1. 1. 187 displayName=" lastMenstrualPermdDate />
<value xsi:type="TS" value="20090101"/>
<]— D.&: Last Menstrual Period Date —>
</observat10n>
</subject0f2>
<subjectOf2 typeCode="SBJ">
(organizer clessCode="CATEGORY” moodCode="EVN">
¢code code="1" codeSystem="2. 16, 840, 1. 113883, 3, 89, 2, 1, 1. 20" displayName= relevantl[ed1calHlstnryAnanncurrentCond1tmns T
‘Ccomponent typeCode="COMP™>
{observation classCode="0BS™ mcodCode="EVN™>
<code code="D. 7. 1.t.1b" codeSysten="2. 16. B40. 1. 113883, 6, 163" codeSystemVersion="0.7.1.r.1a"/>
¢!— D.7.1.r. 1a: MedDRA Version for Medical History #1 —>
¢|— D.7.1r. 1b: Medical History (disease / surgical proceduro / ete.) (MedDRA code) #1 —>
{effectiveTime xsi:type="IVL_T5"> .
<low value="200901017/>
<l=— D.7. L r.2: Start Date #l —>
<high value="20080101"/>
¢l— D.7.1.r.4: End Date #1 —>
{/effectiveTize>
<outhoundRelationship2 typeCoda="COMP™>
<observation classCode="0BS” moodCode="EVN"> !
<code code="10" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2, 1, 1. 19”7 displayName="¢omnent />
{value xsi:type="ED*>D.7.1.r. 5</value>
<l— D.7.1.2.5: Comments #1 ~>
{/chservaticon? .
¢foutboundRelationship2>
(outhoundRelationship? typeCode="BXPL™>
{observation classCode="0BS™ moodCode="EVN™>
(code code="38" codeSystems"2, 16. 840, 1. 113883, 3. 989, 2, 1, 1. 197 displayName="familyHistory”/>
<value xsiitype="BEL" value="true”/>
¢l— I 7. 1.1, 6: Family Histery #1 —>
{/observation>
{/outboundRelationship2>



CinboundRelatisnship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
{code codes”13" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 197 dJsplayNamew cnntlnumg wh
{value xsi:type="BL" value="true”/>
<— D. 7. 1.x. 3 Continuing #1 —)
</observation>
{/inboundRelationship>
{/observation)
{/conponent>
{component typeCode="COMP™>
{observation elassCode="0B5" moodCede="E¥N">
<cade code="D. 7. 1.r.1b" codeSystem="2, 16. 840, 1, 113883, 6, 163" cedeSystemVersion="D. 7. L. 1. la"/>
<]— D.7.1.r. la: MedDRA Version for Medical History #2 —>
¢l— D.7.1.r. 1b; Medical history (disease / surgical procedure / etc.) (MedDRA cade) ¥2 ~=>
CeffectiveTime xsi:type="IVL_T5">
{low value="20090101"/>
I~ D.7.1.1.2: Start Date #2 —>
¢high value="206201017/>
¢I— 0.7.1.r.4: End Date #2 —>
</effectiveTime>
<outboundRelationship2 typeCaode="COMP">
{observation classCode="0BS" moodCode="EVN™>
¢eode code="10" codeSystem="2. 16. 840. 1. 113883, 3. 089, 2, 1, 1, 19" displayName="corment”/>
{value xsi:!type="ED">D.7. L. r.5¢/value>
¢l— D.7.1,r.5! Comments #2 —>
</observation>
¢/outheundRelationship2>
{outboundRelationship2 typeCode="EXPL">
Sobservation classCode="0RS" moodCode="EVN">
¢code code="38" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2, 1. 1. 19" displayName="familyHistory”/>
{value xsji:type="BL” value="true”/>
¢{)—D.7.1.r.6! Fapily History #2 -=>
{/observation>
</ontbeundRelatiohshipn2>
<inboundRelatienship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN™>
{code code="13" codeSystem="2. 16. 840. 1. 113883 3. 989, 2.1 1. 19" displayName="continuing”/>
<value xsi:type="BL” value="true"/>
¢1— D.7.1,r.3: Contipuing #2 —>
<{/observation?
</inboundRelationship?
{/cbservation>
{/component>
<gomponent typeCode="COMP™>
Cobservation classCode="0BS" moodCode="EVN™>
<code code="18" codeSystem="2. 16, 840. 1. 113883, 3, 989. 2, L. 1. 197 displayName="" hlstoryi\ndConcurrentCondxtlonText /)
<value xsi;type="ED">D, 7,2¢/value>
¢l— D, 7.2: Text for Relevant Mediecal History and Concurrent Conditions (not ineluding reaction / event) —>
{/observation>
{/companent>
{compenent typeCode="COMP™> .
Cabservation classCode="0BS" moodCode="EVYN™>
{code cade="11" codeSystem="2. 16, 840, 1, 113883, 3,989. 2, 1, 1. 19" displayName="concomitantTherapy™/>
<value xsi:type="BL" value="true”/>
{l— D, 7.8: Concomitant ‘Thsrapies el
</observation»
</comnonsnt>
{/organizer>
{/subjectOf2>
<subjectOf2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN™>
{code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2, 1, 1, 20" displayName="drugHistory™/>
{component typeCode="COMP">
{substanceAdministration classCode="SBADM” mocdCode="EVN™>
" (effectiveTime xsi:type="IVL_TS™>
<low value="20080101°/>
¢l=~D,B.r. 4: Start Date #1 —>
<high value="20090101"/>
{!— D.8.r.5: End Date #1 —>
</effectiveTime>
<consumable typeCode="CSH">
¢instance0fKind classCode="INST">
<kind0fPreduct classCode="MMAT" determinerCode="KIND™>
<code code="D, 8, r.2b" codeSystem="TBD-MPID” codeSystemVersion="D.8.r.2a"/>
{l=— D.8.r.2a: WPID Version Date / Number #1 —>
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¢l— D.8.1.2b: Medicinal Produet Identifier (MPID) 1 —>
<name>D. 8. r. 1</name>
¢i—=D,8.r.1: Name of Drug as Reported #1 —>
¢/kindOfProduct>
</instance0fKind>
</consumable?
¢outboundRelationship2 typeCade="RSON™>
¢observation classCode="0BS” moodCode="EVN">
Scode code="19" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19" displayName="indication”/>
{value xsiitype="CE” code="D.8.r.6h" codeSystem="2. 16, 840. 1. 113883. 6. 163" codeSystem\"ersmn— D.8. r.6a"/>
<!— D.B, r Ba: MedDRA Versien for Indication #1 —>
{l=~ D.8.r.6b: Indication (MedDRA code) #1 —>
{/observation>
{fuutboundRelationship2>
<outboundRe lationship2 typeCode="CAUS">
<observation classCode="0BS” moodCode="EVN™>
{code code="29" codeSystem="2. 16.840. 1, 113883, 3.989, 2, 1, 1, 197 displayName= "reaction”/>
¢value xsittype="CE” code="D.8.r.7b" codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="D. 8, r, 7a"/>
¢l D.8.r.7a: MedDRA Version for Reaction §1 —>
¢|— D.B.1.7h: Reacticn (MedDRA code} #1 —>
{/observation> '
¢/outboundRelationship2>
{/substanceAdministraticn>
¢/componant?
<compohent typeCode="COMP™>
¢substanceAdministration classCode="SBADM" moodCode="EVN">
CeffectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
¢l— D.8.r. 4: Start Date #2 —>
<high value="200901017/>
{l-- D.8.r,5: End Date #2 -->
</effectiveTime>
{consumable typeCode="CSW">
{instance0fKind classCode="INST">
<kind)fProduct classCode="MMAT* determinerCods="KIND"> -
<code code="D.8.r.3b" codeSystem="TED-PhPID" codeSystemVersion="D.8. r. 3a"/>
<}— D.8.r.3a: PWPID Version Date / Number —>
<1~ D.8.r.3b: Pharmaceutical Preduct Identifier (PhPID} #2 —>
<nawe>D. 8. 1. 1</nane>
{le~ D.8.r.1: Name of Drug as Reported #2 —)
{/kind0fProduct?
</instanceQfKind>
</consumable>
(outbnundRelattonsh1p2 typeCode="RSON"> . ' -
<observation classCode="DBS" moodCode="EVN">
{code code="19" codeSystem="%. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="indieation"/>
¢value xsi:type="CE* code="D.8.r.6b" codeSystem="2.16,840. 1, 113883, 6, 163" codeSystenVersion="D.8. r,6a"/>
¢{1— D.8.r. 6a: MedDRA Version for Indication #2 —> :
¢1— D.8.r.6b: Indication (MedBRA code) #2 —>
{/abservation)
¢/outboundRelationship2>
¢outhoundRelationship2 typeCode="CAUS™>
(observation classCode="0BS" moodCode="EVN™> . '
{eode code="29" codeSystem="2. 16, 840. 1. 113883. 3,989, 2. 1. 1. 197 displayName="reaction”/>
Cvalue xsiitype="CE" code"D.8.r.7h” codeSystem="2. 16.840, 1, 113883, 6. 163" codeSystemYersion="D. 8. r.7a"/>
¢l~— D.8.1.7a: MedDRA Version for Reaction #2 —>
{!— D.B r,7b: Reaction (MedDRA code) #2 ~=>
{/observation>
</outhoundRelationship2>
¢/substancehdninistration>
¢/component?
+ </organizer>
</subjectOf2>
¢stthject0f2 typeCode="SB]™>
<observation classCods="0BS" moodCode="EVN">
¢ode code="32" codeSysten="2. 16. 840, 1. 113883. 3. 989, 2, 1. 1. 19" displayName="reportedCause0fDeath”/>
<value xsitype="CE” code="D.9.2.r.1b" codeSystew="Z2.16.840, 1. 113883. 6. 163" codeSystemVersion="D, 9, 2.r.1a">
© ¢l— 1,9, 2.1, 1a: MedDRA Version for Reported Cause(s) of Death #I —
¢!— D.9,2. 1, 1b: Reported Cause(s) of Death (MedDRA code} #1 —>
{originalText>D.D. 2. r. 2</originalText>
¢l== D.9.2.1.2: Reported Cause(s) of Death (free text) #1 —>
</value> :
</observation>
</eubject0f2>
{subjectQf2 typeCode="SBI">



{ohservation classCede="0BS" moodCode="EVN™>
¢code code="32" codeSysten="2, 16. 840, |, 113883, 3.0809. 2. 1.1 197 displayName= ruportedCauseﬂfDeath'/)
<value xsiitype="CE” code="D.9,2,r. 1b” cadeSysten="2. 16. 840, 1. 113883, 6. 163" codeSystemVersion="D.9.2.r, 1a">
<l— D.9.2.1, 1a: MedDRA Version for Reported Cause(s) of Death #2 -->
¢|== D.9,2.1. 1b: Reported Cause(s) of Death {MedDRA code) #2 —>
CoriginalText>D. 9. 2. r. 2¢/originalText>
¢<|— D,9,2.1.2: Reported Cause(s) of Death (free text} #2 —>
{/value>
</observation>
{/sub ject0L2> s
<subject0f2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EYN™>
<code code="5" cedeSystem="2. 16. 840, 1. 113883, 3,080. 2. 1. 1. 19" displayName="autopsy”/>
{value xsiitype="EL" value="trus"/>
{1—D,9.3 Was Autopsy Done? —>
<outboundRelationship? typeCode="DRIV™>
{observation classCode="0BS" moodCode="EVN™>
{eoda code="8" codeSysten="2. 16. 840, 1, 113883, 3,989, 2,1, 1, 19" displayName="cause0fDeath™/>
Cvalue xsiitype="CE" code="D.9, 4.r.1b" codeSystem="2.16.840. 1. 113883, 6. 163" codeSystenVersion="D,9,4.1.1a">
<1— D.9.4.1.1a: MedbRA Version for Autopsy-determined Cause(s) of Death #1 -=>
¢l— D.9, 4. 1. 1b Autopsy-determined Cause(s) of Death (MedDRA code) #1 —>
CoriginalText>D. 8. 4, r. 2</originalText>
<l— D.9.4.r.2: Autopsy-determined Cause(s) of Death (free text) #t —>
</value>
<{/fobservation>
</outboundRelationship2>
{outhoundRelationship2 typeCode="DRIV™>
{chservation classCode="0B$” moodCode="EVN">
¢code code="8" codeSysten="2. 16, 840, 1, 113883. 3, 980. 2. . 1. 19 displayName="cause0fDeath”/>
¢value xsiitype="CE" code="D.9,4.r.1b" codeSystem="2, 16, 840, 1. 113883, 6, 163" cadeSystemVersion="D.9.4.r.1a"™>
¢l— D.9,4.1. 1a: MedDRA Version for Autopsy-determined Cause(s) of Death #2 —>
{l—— 1.9.4. 1. 1b Autopsy-determined Cause(s) of Death (MedDRA code) #2 —>
<originalText>D. 9. 4. r. 2{/originalText>
{l— D.9.4.1.2: Autopsy-determined Cause(s) of Death (free text) #2 ——¥
<{/value>
{/observation>
</outboundRelationship2>
¢/observation)
¢/subject0f2>
{subject0f2 typeCode="SB]™>
{observation classCode="0BS” moodCode="EVN">
{id root="154¢h8B9-958b—45F2—al2f-42d4d6f4657"/>
{code code="29" codeSystem="2. 16. 840, {, 113883, 3.989. 2. 1. 1. 19" displayName="reaction”/>
<effectiveTime xsi:types"IVL_TS™>
<low value="200901017/>
{l— E.i.d4: Date of Start of Reaction / Event #1 —>
<high value="200801027/>
¢!-— E.i.5: Date of End of Reaction / Event #1 —>
{/effectiveTime>
¢value xsiitype="CE” code="E. i.2.1b" codeSystem="2, 16.B40. L. 113883, B, 163" codeSystemVersion="E.i.2.1a™>
¢l B, i.9.1a: MedDRA VYersion for Reaction / Bvent ¥1 —>
¢!— B.i.2 1b: Reaction / Event (MedDRA code) #1 —>
{originalText language="E.i, 1. 1b">E. i.1.la</originalText>
¢!— B.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #i —
¢l=- E,i.1.1b: Reaction / Event as Reported by the Primary Source Language #1 —>
<fvalued '
<location typeCode="LOC™>
{locatedEntity classCode="L.OCE™>
¢locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
{code code="E.1.9" codeSystem="1.9.3166,1.2.2°/>
¢1— E.i.9: Identification of the Country Where the Reaction / Event Occurred #1 —>
{/locatedPlace>
{/locatedEntity>
¢/location>
¢outhoundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCede="EVN">
¢code code="30" codeSystem="2. 16: 840. 1. 113883, 3, 589. 2. 1. 1. 19" displayName="reactionForTranslation”/>
¢value xsi:type="ED>E. i. L 2¢/valued '
¢}== E.i.1.2! Reaction / Event as Reported by the Primary Source for Translation #1 —>
{/observation>
</outheundRelationship2>
<asutboundRelationship? typeCode="PERT™>
<observation ¢lassCocde="0BS" moodCode="EVN™>
{code code="37" codeSystem="2, 16, 840. 1. 113883, 3. 989, 2, L. 1, 19" displayName="termHighlightedByReporter”/>
¢value xsittype="CE" code="E.i.3.1” codeSystem="2, 16. 840. 1. 113883, 3. 989. 2. 1. 1.10°/>
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¢}— B,i,3.1: Term Highlighted by the Reporter #1 —>
{/ochservation
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{abservation classCode="0BS” moodCode="EVN"> ]
<code code="34" codeSystem="2. 16. 840, 1, 113883, 3,989. 2. 1. 1. 19" displayName="resultsInDeath”/>
¢value xsiitype="BL” value="true”/>
<l-— BE.i.3.2a: Results in Death.#1 —>
{/observation>
{/outboundRelationship2> )
¢outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
Ceode code="21" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName=" 15L1feThreaten1ng Wi
<value xsi!type="BL” nullFlavor="NI"/>
¢l== E.i.3.2b: Life Threatening #1 ——>
{/observation>
</outboundRelationship2>
{outboundRelationshipZ typeCade="PERT™>
{observation classCode="0BS" moodCodes"EVN™>
¢code code="33" codeSystem="2. 16. B40. 1. 113883, 3,989, 2. 1. 1. 19" displayName="requiresInpatienttospitalization™/>
{value xsi:type="BL" value="true”/>
<l-- E.i.3.2ct Caused / Prolonged Hospitalisation #1 —=>
</observation>
{/outboundRelationship2>
¢outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS" moodCode="EVN™>
{code code="35" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19* displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nullFlavor="NI"/>
{}== E.i.3.2d! Disabling / Incapacltatlng #1—>
</observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
Ceade code="12" codeSystem="2, 16. 840. 1. L13883. 3. 989, 2, L, 1, 19" displayName="congenitalAnomalyBirthDefect”/>
<yalue xsi:type="BL” nullFlavor="NI"/> "
¢l— E.i.3.2e! Congenital Ancmaly / Birth Defect #1 ~=>
{/observation>
</outboundRelationship2>
{cutboundRelationshipZ typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
(code code="26" codeSystem="2, 16, 840, 1, 113883. 3.989. 2. 1. 1. 19" displayName="otherMedicallyInportantCandition”/>
¢value xsi:type="BL” value="true”/>
{l== E,i,3.2f: Other Medically Important Condition #1 ==>
{/chservation?
¢/outboundRelationship2>
{outboundRelationship2 typeCade="PERT™>
{observation classCode="0BS" moodCode="BWN">
{code code="27" codeSystem="2, 16, 840. 1. 113883..3. 969. 2. 1. 1. 19" displayName="outcome”/>
{value xsiitype="CE” code="E.i.7" codsSystem="2. 16.840. 1. 113883, 3,989,2.1.1.117/>
¢l== E.i,7: Outcome of Reaction / Event at the Time of Last Observation #1 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™> | .
{observation classCode="0BS" mocdCode="EVN">
{code code="24" codeSystem="2, 16, 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName= medlcalﬂonfumat:nnByHealthProfessmnal />
<value xsi:types"BL” value="true”/>
¢l-= E, i,B: Medical Confirmation by Healthcare Profassional §1 -->
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="CBS" moodCode="EVN™>
<oode code="11" codeSystem="2, 16, 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayNeme="3:40 - BExn"/>
¢vyalue xsiitype="CE” code="]2.14.1i" codeSysten="2, 16,840, 1. 113883, 3.985.5.1.3.2. 1,8 /> -
<l 8682, 14.1 S - B #1 — . '
¢/observation’
</outboundRelationship2>
</obgervation>
{/subjectDf2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN">
<id root="2baa28d6~c0e8—4e6c-93e9-5b860b3142207/>
Seade code="29" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1, 1. 19" displayName="reaction™/>
<effectiveTime Xxsi:type="IVL_TS™>
{low value="20030101"/>
¢l== E.i.4: Date of Start of Reaction / Event #2 —>
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<width value="24" unit="E.i.8b"/>
¢!—— E. i, 62! Duration of Reaction / Event (number} #2 —>
¢{}— E.i.6h: Duraticn of Reaction / Event (unit} #2 —>
<feffectiveTime> :
Cvalue xsi:type="CE* code="E.i.2.1b" codeSystem="2. 16.840. 1. 113883, 6. 163" codeSystemVersion="E.i.2. 1a">
¢l— E.1i.2.1a: MedDRA Yersion for Reaction / Event #2 —>
¢l— E.1i.2.1b: Reaction / Event (MedDRA code) #2 —>
{originalText language="E.1i.l.1b"2E. i. 1. 1a¢/ariginalText>
¢l-— B.1.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #2 -—>
¢l=— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #2 ——>
</value>
<lacation typeCode="L0OC™>
{lacatedEntity classCode="LOCE™>
¢locatadPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E.i.9" cedeSysten="1.0,3166. 1,2, 2°/>
¢}—— E.i.9: Identification of the Country Where the Reaction / Event Occurred §2 —>
¢/locatedPlace>
{/locatedEntity>
</location> .
<putboundRelationship? typeCode="PERT">
{observation classCode="0BS" mecdCode="EVN">
{code code="30" codeSystem="2. 16. B40. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="reactionForTranslation”/>
{value xsi:type="ED"JE, i.l.2¢/value>
¢les B, i, 1,2 Reaction / Event as Reported by the Primary Scurce for Translation #2 —>
<fohservation}
</cutboundRelationship2>
¢outhboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
(code code="37" codeSystem="2, 16. 840. 1. 113883, 3. 980. 2, L. 1. 19" displayName="ternHighlightedByReporter®/>
<value xsi:type="CE" code="E.i.3.1” codeSystem="2.16, 840. 1.113883,3.989.2.1. 1. 107/>
¢l== E.i.3.1:Term Highlighted by the Reporter #2 -~>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moadCodes"EVN™>
{code code="34" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="resultsInDeath™/>
{value xsi:type="BL* value="true”/>
<]~ E.i.3.2a: Results in Death #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" meodCode="EVN™> .
{cade code="21" cedeSystem="2, 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19" displayName="isLifeThreatening™/>
<value xsi:type="BL” nullFlaver="NI"/>
"¢~ B, i.3.2h: Life Threatening #2 —>
</observation’>
{/outboundRelaticnship2>
<outhoundRelationship2 typeCede="PERT™>
<observation classCode="0BS" mcodCode="EVN">
¢code code="33" codeSystem="2.16.840. 1. 113883. 2, 989, 2.1, 1, 19" displayName="requiresInpatientHospitalization®/>
Cvalue xsistype="BL" value="true”/>
{l=- E.i.3.2¢c! Caused / Prolenged Hospitalisation #2 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
<code code="35" codeSystem="2, L6. 840. L. 113883. 3.989. 2, 1. 1. 197 disalayName='resu1tsinPersistentOrSignificantDisability'/>
<yalee xsi:type="BEL" nmullFlavor="NI"/>
¢l— E,i,3.2d: Disabling / Incapacitating #2 —>
<{/ohservation>
{/outhoundRelationship2> '
<outboundRelationship2 typeCode="PERT">
{chservation classCode="0BS” moodCode="EVN™>
<code code="12" codeSysten="2. 15, 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="congehitalAncmalyBirthDefect™/>
{value xsi:type="BL" nullFlaver="NI"/>
¢!— E.1i.3.2e: Congenital Anomaly / Birth Defect #2 —>
{/observation> :
</outboundRelationship2)
<outboundRelationship? typeCode="PERT™>
<chservation classCode="0BS" moodCode="EVN">
<eode code="26" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. I, 197 displayName="otherMedicallyImportantCondition”/>

¢value xsi:type="BL" value="true”/> ,
¢l— E.i.3.2f: Other Medically Important Condition #2 —>
</observation>

</outhoundRelaticnship2>

-11 -



{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EYN">
{code code="27" codeSystem="2.16.840. I. 113883, 3. 989. 2. L. 1. 18" displayName="outcome”/>
{value xsiitype="CE" code="E.i. 7" codeSystew="2. 16. 840, 1. 113883.3.989.2,1. 1. 11"/>
¢I— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #2 —>
{fobservation?
</outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="24" codeSystem="2, 16.840. 1. 112883.3.989. 2. 1. 1. 19" displayName="medicalConfirmaticnByHealthProfessional”/>
{value xsi:type="BL” value="true"/>
¢lw= E.i.8: Medical Confirmaticn by Healthcare Professional #2 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{abservation classCode="0BS" moodCode="EVN™>
<code code="11* codeSystem="2, 16. B840, 1. 113883, 3. 989, 5. 1. 3,2, 1. 10" displayName="584n - BEA"/>
<yalue xsi:type="CE" code="J2.14.i" codeSystew="2, 16. 840, 1. 113883, 3.989.5.1.3.2.1.8°/>
<1— e89]2.14. 1 & K # —> ‘
</abservatien?
</outboundRelationship2>
{/abservation>

</subjectdf2>
<subject0f2 typeCode="SB]">

<observation classCade="0BS™ moodCode="EVN™>
<id root="3a8626ch-9f1b-4eal-Balf-e0Ff34430adE"/>
{code code="28" cedeSystem’ 2. 16, 840. 1. 113883, 3. 989, 2. 1. 1, 197 displayName="reaction"/>
(effectiveTime xsi:type="IVL_TS™>
<width value="24" unit="E.i.6b"/>
¢!— E, i, 6a: Duration of Reaction / Event {number) #3 —>
¢|-- E.i.6b: Duration of Reaction / Event (unit) #3 —>
<high value="20101201"/>
¢l— E.1i,67 Pate of End of Reaction / Event #3 —
{/affectiveTimed
<value xsi:type="CE” code="E. i.2.1b" codeSystem="2, 16, 840, 1, 113883. 6. 163" codeSystenVersion="E,i.2. 1a™>
¢l—— E.i.2 la: MedDRA Version for Reaction / Event #3 —>
¢{!— B.i.2.1b: Reaction / Event (MedDRA code) #3 —>
¢originalText language="F. i, 1, 1b"3E. i. 1. 1a{/eriginalText>
¢!— B.i.l.1a: Reactian / Event as Reperted by the Primary Source in Native Language #3 -=>
¢l— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language H#3 -=>
<{/value>
¢location typeCode="LOC™>
{locatedEntity classCode="LOCE™>
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.i.9" codeSystem="1.0.3186.1. 22"/
¢l— E.i.9: Identification of the Country Where the Reaction / Bvent Occurred #3 —>
</locatedPlace> '
{/locatedEntity>
¢{/location>
{outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN™>
{oode code="30" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2, 1, 1. 19" displayName="reactionForTranslation”/>
{valpe xsi:type="ED"ME. i. 1. 2</value}
¢l— E.i.1.2: Reaction / Event as Reperted by the Primary Seurce for Translation #3 —>
¢{/chservation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
¢obgervation classCode="0BS" moodCode="EVN™>
Zeode code="37" codeSystem="2, 16. 840. 1. 113883, 3, 989. 2. . 1, 19" displayName="termHighlightedByRaporter”/>
<value xsi: type—"CE code="E. 1.3. 1" codeSystem="2. 16, 840. 1. 113883, 3, 980. 2, 1. 1. 10" />
<!— R.1i.3, 1:Tern Highlighted by the Reporter #3 —
{/ohservation’
</outboundRelaticnship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0B3" moodCode="EVN™>
(code code="34" codeSystew="2.15. 840, 1. 113883. 3. 989, 2. 1, 1. 18" displayName="resultsInDeath”/>
¢yalue xai!type="BL" value="true”/>
¢l— E.i,3.2a: Rosults in Death #3 —>
{/observation>
¢/outboundRelationship2>
CouthoundRelationship? typeCode="PERT™>
Cobservation classCode="0BS” moadCode="E¥YN™>
<code cade="21" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1, 1. 197 displayName="isLifeThreatening™/>
<value xsi:type="BL" nullRlaver="NI"/>
¢1-— B.i.3.2b: Life Threatening #3 —> ) -

- 12 -



</observationy
{/outboundRelationship2>
<cutboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="33" codeSystem="2. 16,840, 1. [13883. 3. 989, 2. 1. 1. 197 displayName="" requ1reslnpatlentﬂosp1talizatmn el
<value xgi!type="BEL" values="true”/>
¢l=- E.i,3.2c: Caused / Prolonged Hospitalisation H#3 ——>
¢/chservation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
<code code="35" codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1.1, 19" displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nullFlavor="NI"/>
<!— E. 1,3, 2d: Disabling / Incapacitating #3 -=>
¢/ohservation> .
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™> ~
<code code="12" codeSystem="2. 16.840.1. 113883, 3. 989.2. 1.1, 19" displayName="congenitalAnctsalyBirthDefeet™/>
¢value xsi:type="BL" nullFlavor="NI"/>
</— B, i,3,2e: Congenital Anomaly / Birth Defect #3 —>
</observation>
{/outboundRelaticnship2>
<outhoundRelationship? typeCode="PERT">
Cobservation classCede="08S" moedCode="EVN™>
<code code="26" cocdeSystem="2. 16. 840. i. 113883, 3, 989, 2. L, 1, 19" displayName="otherMedicallyTnportantConditica”/>
{value xsiitype="BL™ value="true"/>
¢l-= E.i.3.2f: Other Medically Important Condition #3 —>
</observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN™>
¢eode code="27" codeSystem="2.16. B40, 1, 113883, 3. 989, 2, 1, 1. 19" displayName="outcome”/>
¢value xsi:type="CE” code="E.i.7" codeSystem="2.16.840. 1, 113883, 3.989. 2. L. L. 11"/>
¢l E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
¢/observation>”
</outbhoundRelationship2>
¢outhoundRelationship? typeCode="PERT™>
{observation classCode="085" moodCode="EVN™>
<code code="24" codeSystem="2. 16. 40, 1. 113883, 3. 989, 2, 1, 1, 19" displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
<|== E.i.8: Medical Confirmation by Healthcare Professional #3 —>
{/observation>
</eutboundRelationship2>
{outboundRelationshipZ typeCode="PERT">
{ohservation classCode="0B5" moodCode="EVN™>
¢eode code="11" codeSystem="2. 16. 540, 1, 113883, 3. 989. 5. 1, 3, 2. 1. 10" displayName="2R4m « BEAn"/>
<value xsi:type="CE" code="J2.14,1" codeSystem="2, 16.840. 1. 113883, 3.989,5.1.3.2. L.8"/>
<1-- @8RY2. 14. 1 R - Bk #3 —> ‘
{fobservation> .
</outboundRelationship2>
¢/abservation>
{/subject0O£2>
(subject0f2 typeCode="SBJ">
¢observation classCode="0BS" moodCode="EVN">
¢id root="2e99840f-08b4-499¢-80Ff-ddB415F418a5"/>
<code code="29" codeSystem="2. 16,840, 1. E13883. 3, 98%. 2. L. 1. 187 displayName="reaction”/>
effectiveTime xsi:type="SY{PR_T5™>
" Ceomp xsittypes"TVL_TS™>
<low value="20000101"/>
¢|— E.i.4: Date of Start of Reaction / Event k4 —>
<high value="20101201"/>
¢!— E.i,5: Date of End of Reaction / Event #4 —>
</comp>
Ccomp xsiiiype="IVL_TS" operator="A">
<width value="24" unit="E, i.6b"/>
{l= E.i,6a: Duration of Reaction / Event (rn.unher) #—
¢}— E.i,6b: Duratien of Reaction / Event (unit) #4 —>
{/comp> ) -
</effectiveTinme>
<value xsiitype="CE" code="E.i.2.1b" cedeSystem="2. 16, 840, 1. 113883. 6. 163" codeSystemVersion="E.i.2. 1a™>
¢!— E.i.2 la: MedDRA Version for Reaction / Event #4 —>
¢I— E.i.2.1b: Reaction / Event (MedDRA code) #4 —>
{originalText Panguage="E.i. 1. 1b"™>E. i. L, la/eriginalText>
{l— E.i.l la: Reaction / Event as Reported by the Primary Source in Native Language 84 —>
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¢l— E.i.l.1lb! Reaction / Event as Reported by the Primary Source Language #4 —>
</value>
<location typeCode="LOC™>
(locatedEntity ¢lassCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
¢gode code="E.i.9" codeSystem="1.0.31866.1.2,2"/>
¢!— E.i.9: Identification of the Country Where the Reaction / Event Occurred #4 —-> ) . ,
{/locatedPlace>
{/locatedEntity>
¢/location)
<outhoundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS" mocdCode="EVN™>
<{code code="30" codeSystem="2, 16, B40. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="reactionForTranslation™/>
{value xsi:type="ED">E.1i.l.2¢/value’
¢I— B i.1,2: Reaction / Bvent as Reported by the Primary Source for Translation #4 —>
</observation>
</outboundRelationship2> -
<putboundRelationship2 typeCode="PERT">
{chservation classCode="0BS" moodCode="EVN™>
{eode code="37" codeSystem="2, 16, 840. 1. 1138B3. 3. 98%. 2. L. 1. 19" displayNamo="ternflighlightedByReporter”/>
¢value xsi:type="CE” code="E.i.3.1" codeSysten="2.16.840. 1. 113883, 3,989. 2. 1. 1. 10“/>
{l=~ E.1i.3.1:Term Highlighted by the Reporter #4 -->
</observation>
, (/outhoundRelat10nsh1p2>
{outboundRelationship2 typeEode—"PERT >
{observation classCode="0BS" moodCode="EVN">
¢code code="34" codeSystem="2. 16, 840, 1. 113883, 3. 989, 2. 1, 1. 19" displayName="resultsInDeath”/>
<value xsi!type="BL” value="true”/>
{!—- B.i.3 2a: Resulls in Death #4 —>
{/ohservation?
</outboundRelationship2>
<outhoundRelationship2 typeCade="PERT™>
<observation classCode="0BS" moodCode="EVN™>
(code code="21" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19” displayName="isLifeThreatening”/>
<yalue xsittype="BL” nullFlavor="NI"/>
<I— B i.3.2b: Life Threatening #4 —>
{fobservaticn> ‘ . .
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS" meodCode="EVN"> }
¢code code="33" codeSystem="2. 16, 840, 1, [13883, 3. 989. 2. 1. 1. 19" displayName="requiresInpatientHospitalization™/>
{value xsiitype="BL" value="true”/>
¢l-- B.i,3.2c: Caused / Prolenged Hospitalisation #4 —>
¢/observation>
</outboundRelationship2>
<putboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
¢code code="35" codeSystem="2. LG, 840, 1, 113883.3.0809. 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" nullFlavar="NI"/>
{l— E.i.3,2d: Disabling / Incapacitating #4 —>
{/observation>
{/outboundRelationship2? -
<outboundRelationship2 typeCode— PERT” )
{abservaticn classCode="0BS" moodCode="EVN">
{code code="12" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1 1 19" displayName="congenitalAnomalyBirthDefect”/>
<value xsiitype="BL” nullFlaver="NI"/> :
<!— E,i.3.2e: Congenital Anumaly / Birth Defect #4 —>
{/ohservation> .
</outboundRalationshin2> .
{outboundRelationship? typeCode="FERT™>
{observation classCode="0B$" moedCode="EVN"> \
<code code="26" codeSystew="2. 16, B40, 1. 113883. 3. 989. 2. 1. 2. 187 displayName="ctherMedicallylmportantCondition”/>
{value xsi!type="BL" value="true”/>
<!— E.i, 3 2f: Other Hedically Important Condition #4 —>
¢/observation>’
{/outboundRelationship2>
{oitthpuidRelationship? typeCode="PERT™> .
{observation classCode="0BS" macdCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2: 1. 1. 187 displayName="outcome"/>
<value xsi:type="CE" code="E.{,7" codeSystem="2. 16,840, 1, 113883,3.889.2.1, 1. 11°/>
<l— E.i.7: Outcome of Reaction / Event at the Time of Last Chservation #4 —>
{/abservation?
{/outboundRelationship2>
<outboundRelationship2 typeCade="PERT™>
¢ohservation classCode="0BS" moodCode="EVN">
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<cade code="24" codeSystem="2. 16, 840, 1, 113883, 3. 989.2.1.1.19" displayName=" med1calConf1rmanonByHealthProfesslonal 2]
{value xsi:type="BL” value="true”/>
¢l— E.i.8: Medical Confirmation by Healthcare Professional #4 —>
</observation?
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{eade code="11" codeSystem="2. 16. 840. 1. 113883, 3.989.5. 1. 3,2, 1, 107 displayName="7 - BEH"/>
<value xsi:type="CE* code="J2.14. 1" codeSystem="2. 16.840. 1. 113683.3.989.5. L3. 2. 1. 8"/
<I— @RaJ2. 14.1 K0 - BEFn #4 -
{/observation?
{/outboundRelationship2>
{/observation>
{/subject0f2>
<subject0f2 typeCode="SBJ">
{observation elassCode="0BS" moodCode="EVYN">
<id root="1071064c-cfl0-4a3b-83cl~34f9ddbTeabd™ />
{code code="29" :m:leS)rstem— 2. 16. 840, 1, 113883, 3, 989. 2. 1. 1. 19" displayName="" reactlon Wil
{effectiveTime xsi:type="IVL_TS™>
<low value="2009010L"/>
(l=~ E.1i,4: Date of Start of Reaction / Event #6 —>
{feffectiveTime>
{value xsi:type="CE” code="E.i.2, 1b” codeSystex=" 2 16. 840, 1. 113883, 6 163" codeSystemVersion="E. 1.2, Ia™>
¢l— E.i,2 la; MedDRA Version for Reaction / Event #5 —>
{l— E.i.2.1b: Reaction / Event (MedDRA coda) #5 —=>
<eriginalText language="E.1i.1.1b">E. i, 1, la{/originalText>
¢l— E,i.1,1a: Reaction / Event as Reported by the Primary Source in Native Language #5 —>
¢l==~ E.i.1.1b: Reaction / Event ss Reported by the Primary Source Language #5 —>
{/value>
<location typeCode="10C"> .
<lotatedEntity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY” determinerCode="ENSTANCE™>
¢code code="E.i.9” codeSystem="1,0. 3166.1.2.27/>
{l— E.1,9: Identification of the Country Where the Reaction / Event Cccurred #5 —=>
<{/locatedPlace>
<{/locatedEntity>
</location?
¢putboundRelationship2 typeCode="PERT"Y
{observation classCode="0BS" meodCode="EVN™>
¢code code="30" codeSystem="2. L5, 840. 1. 113883.3. 989, 2. L. 1, 19" displayName="reactionForTranslation”/>
{value xsi:type="ED™ME, i, L. 2¢/valued
¢I=~ E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 —>
{/observation?
{/outboundRelationship2>
<cutboundRelationshipZ typeCode="PERT*>
{chservation classCode="0BS" meodCode="EVN™>
<eode code="37" codeSystem="2 16,840, 1, 113883.3.989.2, 1. 1. 19" displayName="termHighlightedByReporter™/>
(value xsiitype="CE” code="E.i.3.1" codeSysten="2. 16.840. 1. 112883, 3,989, 2, 1. 1. 10"/>
¢l-- BE.i.3. 1:Term Highlightsd by the Reporter H5 —>
</observation>
</outboundRelationship2>
{puthoundRelationship2 typeCode="PERT™>
{chservaticn classCode="0BS" moodCode="EVN"™>
<code code="34" codeSystem="2. 16, 840, 1. 113883, 3.989. 2. 1, 1, 19" displayName="resultsInDeath”/>
<value x5i:type="BL” value="true”/>
¢l~= E 4,3.2a3: Results in Death #5 >
</observation>
{/uutbaundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observatich classCode="0BS™ meodCode="EVN™>
<code code="21" codeSystem="2. 16. 840. 1, 113883, 3, 989. 2. 1. . 18" displayName=" 1sL1feThrear.en1ng T/
. {value xsi:type="BL" nullFlavor="NI"/>
<l-- B, 1,3, 2b: Life Threatening #5 —>
{/observation?
</outboundRelationship2>
<outheundRelationship? typeCode="PERT™>
{observation classCode="0B3" mcodCode="EVN™>
<eode code="33" codeSysten="2.16. 840, 1, 113883, 3. 989. 2. 1. 1. 19" displayName= reqmresInpanentHosmtall.zatlon />
<value xsi:type="BL" value="true”/>
¢l-- B.i.3.2¢' Caused / Prolonged Hospitalisation §5 -—>
{fobservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCede="0BS" moodCode="EVN">
<code code="35" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2, |, 1. 19" displayName="resultsInPersistentOrSignificantDisability™/>
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{value xsi:type="BL" nullFlavor="NI"/>
{l-= E.i,3.2d: Disabling / Incapacitating #5 —>
{/observation> ,
¢/outboundRelationship2>
SouthoundRelationship? typeCode="PERT™>
<chservation classCode="0BS" moodCode="EVN™>
¢eode eode="12" codeSyster="2. 16. 840, L. 113883, 3. 589, 2, 1. 1, 19" displayName="congenitalAnomalyBirthDefect™/>
¢value xsi:type="BL" nullFlaver="NI"/>
{l—- B.1i.3.2e: Congenital Anomaly / Birth Defect #5 —>
¢/observation?
</outboundRelationship2>
<outboundRelationship2 typeCode-’PERT >
{ohservation classCode="0BS" mocdCode="EVN™>
{code code="26" codeSystem="2. 16.840.1.113883. 3. 980. 2. L. 1. 19" displayName="otherMedicallylmportantCondition”/>
<value xsi:type="BL” value="true“/>
{lw= E.1i.3.2f! Other Medically Important Condition #5§ —>
</observation?
{/outboundRelationship2>
¢outboundRelationship? typeCode="PERT">
{chservation classCode="0BS" moodCode="EVN™>
¢code code="27" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. 1, 1. 197 displayName="cutcens”/>
¢value xsi:itype="CE” code="E.1i. 7" codeSystem="2. 16. 840. 1. 113883.3,989. 2. 1. L. 1I"/>
¢lu~ E i.7: Outcome of Reaction / Event at the Time of Last Observation #56 —>
</observation>
{/eutboundRelationship2>
<outboundRelationship2 typeCede="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="24" codeSystem="2, 16. 840. 1. 113883, 3. 989. 2. L. 1. 15" displayName="medicalConfirmationByHealthProfessional”™/>
{value xsi:type="BL" value="true”/>
¢!— E,1i,8: Hedical Confirmation by Healthecare meessmnal ﬂS —>
{/observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS" moodCode="EVN™>
{code code="11" codeSystem="2. 16.B840. 1. 113883, 3. 989.5.1.3. 2.1, 107 displayName=" S - ﬁiﬂ /o
<value xsi:type= "CE" code="J2.14.1* codeSystem="2, 16. 840. 1. 113883. 3.949.5,1.3.2,1.8"/>
¢I— @8age. 4.1 i - Fehm #5 —> ’
{/observation>
</outboundRelationship2>
</observation>
{/subjectdf2>
{subjectOf2 typeCode="SBJ">
{observation classCode="0BS” mocodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640fb181" />
{code code="29" codeSyster="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS™>
<high value="200901017/>
{l== E.i.4! Date of Start of Reaction / Event #6 —>
<feffectiveTime?
¢value xsiitype="CB” code="f.i.Z. 1b" codeSysten="2.16. 840, 1, 113883. 6. 163" codeSystemVersion="E.i.2. 1a™>
¢lu= E 1,2 la! MedDRA Version for Roaction /, Event #6 —>
¢|— B.i.2 1b: Reaction / Event (MedDRA code) #6 ——>
<originalText language="E.i. 1. 1b">E.i.1.1a{/originalText>
¢l— E. i, 1.1a! Reaction / Event es Reported by the Primary Source in Native Language e -
¢l== E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #6 —>
</value> . '
¢location typeCode="LOC™>
{locatedEntity classCode="LOCE"> .
¢locatedPlacs classCode="COUNTRY” determinerCode="INSTANCE™>
<eode code="E: i.9" codeSysten="1.0.3166. 1.2.27/>
{!— E.i.97 Identification of the Country Where the Reaction / Event Occurred #8 —>
<¢/locatedPlace>
</locatedEntity>
" ¢/lecation®
CoutboundRelationship2 typeCode="PERT">
{chservation classCode="0BS" mocdCode="EVN">
<code code="30" codeSystem="2. 16, 840, 1. 112883, 3. 980, 2. L. 1. 187 displayName="reactionForTranslation”/>
<value xsi:type="ED™)E i. 1, 2</value> .
¢!— B.i,1,2: Reaction / Event as Reported by the Primary Source for Translation #6 —>
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCade="PERT">
Cobservation classCodo="0BS" moodCode="EVN">
¢eode coda="37" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2, 1. 1. 19 displayName="ternHighlightedByReporter™/>
¢value xsi:type="CE™ code="E.1i.3.1" codeSystom="2. 16, 840. 1. £13883. 3. 889.2, L. L. 10°/>
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¢l-= E, i,3, 1:Term Highlighted by the Reporter #6 —=>
{/observation>
¢/outbaundRelationshin2>
{outboundRelationship? typeCode="PERT™> - .
<observation classCode="0BS" moodCade="EVN">
<code code="34" codeSystem="2. 16. 840. . 113883, 3, 989, 2. 1. 1. 19" displayName="resultsInDeath”/>
Cvalue xsitype="BL" value="true”/>
{l-= E.1i.3.2a: Results in Death #6 —>
{/observation>
¢/outhoundRelationshin2>
<outhoundRelationship? typeCode="PERT™>
{chservation classCode="0BS" moodCode="EVN">
<code code="21" codeSystem="2. 16, 840, 1, 113883, 3, 989. 2. k. 1. 19" displayName="isLifeThreatening”/>
{value xsiitype="BL" nullFlaver="NI"/>
= E.i.3.2b: Life Threatening #6 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERI">
{chservation classCode="0BS" moodCode="EYN">
<code code="33" codeSystem="2. 16, 840, 1, 113883, 3. 989. 2. 1. 1. 19" displayName= requuesInpatlentHospxtahzatmn />
¢value xsiitype="BL" value="true”/>
¢l— E.i.3,2c: Caused / Prolonged Hospitalisation #6 -=>
{/observation>
{/outhoundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN™> )
¢code cede="35" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1, 1, 19" displayName="resultsInPersistentOrSignificantDisability™/>
<value xsi!type="BL" nullFlavor="NI"/>
{l== E,1i,3.2d: Disabling / Incapacitating #6 —=>
{/abservation>
</outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode=TEVN™>
¢code code="12" codeSystems”2. 16, 840. 1. 113883, 3,989, 2.1, 1, 19" displayName="congenitalAnomalyBirthDefect”™/>
¢value xsi:types"BL” nullFlavor="NI"/>
<l— E.i.3.2e: Congenital Ancmaly / Birth Defect #6 ~->
{/ohservation>
</eutboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCede="0BS" moodCode="EVN">
{code code="26" codeSystem="2, 16, 840. 1, L13883. 3. 989. 2. 1, . 19" displayName="otherMedicallylmportantCondition™/>
{value xsi:types"BL” value="true”/>
¢l—'E. i.3.2f: Other Medically Important Condition #6 —>
{/observation> L
¢/vutboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" mocodCode="EVN™>
{code code="27" codeSystem="2, LB. 840. L. 113883. 3. 989. 2. 1, 1, 19" displayName="outcome”/>
<value xsi:types"CE® code="E.i.7" codeSystem="2.16.840.1.113883,3,989.2.1. 1.11"/>
¢l— E,i.7! Outcome of Reaction / Event at the Time of Last Observation #6 —>
{/observation?
</outboundRelationship2>
<outhoundRelationship2 typeCade="PERT™>
{observation classCode="0BS" moodCode="EVN™)>
{code code="24" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2, 1, 1, 14" displayName=' medmﬂlConflrmatmnByHealthPrufessmnal />
{value xsi:type="BL" value="true”/>
¢|— E i.8: Medical Confirmation by Healthcare Professional #6 ~->
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="11" codeSystem="2. 16.840, 1, 113883. 3.989. 5. 1. 3. 2, 1, 10 d1sp1ayName— "oeim - BEEnT
Cvalue xsiztype="CE” code="J2, 14, 1" codeSystem="2. 16, 840. 1. 113863, 3.989.5.1.3.2. 1.87/>
<l— @888J2. 14.i k& - BER #6 —
{/observation>
¢/outboundRelationship2>
{/observation>
</subject0f2>
{subject0f2 typeCode="SBJ™>
{observation classCode="0BS" moodCode="E¥YN™>
<id root="e0342969-38be-423f-b6bb-celdbc279dBe” />
Ccode code="29" codeSystem="2, 16,840, I, 113883, 3. 989. 2.1, 1, 18" displayName=": reactmn el
CeffectiveTime xsi:type="IVL_TS™>
<width value="24" unit="B.i.6b"/>
¢|—~ E.i,6a: Duration of Reaction / Event {number} #7 -->
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{Yue B, i,6b: Duraticn of Resction / Bvent {(unit) #7 —>
{/effectiveTime>
<value xsiitype="CE* code="E. i, 2. 1b" codeSysten="2. 16, 840. 1. 113883, 6, 1637 codeSystemVersl'.oF”E.5.2. 1a™>
<|— B.i.2. 187 MedBRA Version for Reactian / Event #7 —
¢{l— B.i,2.1b: Reaction / Event {NedDRA code) #7 —>
doriginalText language="E.i.1.1b"JE. i. 1. la¢/originalText>
¢l E.i.1.1a! Reaction / Event as Reported by the Primary Source in Native Language #7 ——>
¢<!— B.i. L lb: Reaction / Event as Reported by the Primary Source Language #7 —>
</value>
{location typeCode="LOC™>
{lacatedEntity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
¢code code="E.i.9" codeSystem="1.0.3166.1.2.27/>
¢l=— E.i.9! Identification of the Country Where the Reaction / Event Occurred #7 -->
</locatedPlace> R
{/locatedEntity>
</location>
CoutboundRelationship? typeCode="PERT™>
{observetion classCode="0BS” moodCode="EVN"> :
<code code="30" codeSystem="2, 16. 840, 1. 113883, 3, 989, 2.1 1. 19" displayName="reacticnForTranslatien”/>
<value xsi:type="ED">E. i. L. 2</value>
¢|— B.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 —>
{/observation> '
</outboundRelationship2>
CoutboundRelationship? typeCode="PERT™>
<observation classCodes"0BS” maoodCode="EVN™>
Lcade code="37" codeSystem="2. 16, 840. 1. 113883, 3, 989.2, 1, L 197 dlsplﬂyName— termHighlightedByReporter™/>
" ¢value xsi:type="CE® code="E.i.3.1" codeSystem="2. 16. 840, '1.1123883. 3,989.2. 1. 1. 10°/>
¢(!— B.i.8. 1:Tern Highlighted by the Reporter #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
¢observation classCode="0B5" moodCode="EVN">
¢code code="34" codeSystem="2. 16, 840.1,113883.3.989.2.1. 1,197 displayName="resultsInDeath”/>
{value xsi:type="BL" value="true"/> :
<l-— B.i.3 2a! Results in Death #T -
{/vhservation>
</outhoundRelationship2>
CautboundRelationship? typeCode="PERT™>
{observation classCode="DBS” moadCode="EVN™>
<code codes"21" codeSyster="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="isLifeThreatening™/>
<value xsi:type="BL" nullFlaver="NI"/> . ‘
<!— B.i.3.2b: Life Threatening #7 -—>
{/ohservation?
¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCodes"0BS” moodCode="EVN™> X
Ccode codo="33" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1, 1, 19" displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="true"/>
<|-- E.i.3.2¢c! Caused / Prolonged Hospitalisation #7 —>
{/observation>
{/outboundRelationship2>
Coutboundfelationship? typeCode="PERT™>
{ahservation classCode="0BS” mcodCode="EVYN™>
{code i:orle-'SS' codeSysten="2. 16, 840, 1. 113883, 3,989, 2, 1, 1, 19" displayName="resultsInPersistentOrSignificantDisability”/>
¢value xsi:type="BL" nullFlavor="NI"/> .
¢I-- B.i.3.2d: DPisabling / Incapacitating #7 —>
</obsgervation>
¢/outhoundRelationship2>
{eutboundRelationship? typeCode="PERT">
{ohservation classCode="0BS” moodCode="EVN">
¢eode code="12" codeSystem="2. 16. 840, 1. 113883, 3, 989, 2. L, 1. 19" displayName="congenitalAnomalyBirthDsfect”/>
¢value xsi:type="BL* nullFlavor="NI"/>
¢!~ B.i.3.2: Congenital Ancmaly / Birth Defect #7 —>
{/ahservation> '
</outboundRelationship2>
{outboundRelationship? typeCede="PERT">
(observation classCode="0BS" moodCodes"EVN™>
{code cede="26" codeSystem="2, £6. 840. I. 113883, 3. 98%. 2, 1, 1, 197 displayName="otherMedicallyInpartantCondition™/>
<value xsiitype="BL" value="true”/>
¢l— E.i.3.2f: Other Medically Important Cendition #7 —>
{/ohsarvation> ’
<{/outboundRelatichship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
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(code code="27" codeSysten="2. 16. 840. 1. 113883, 3. 989, 2, 1. 1. 19" displayName="cutcome”/>
(value xsiitype="CB" ccde="E.i.7" codeSysten="2.16, 840. 1. 113883. 3. 989, 2. 1, L. 11"/>
¢!— B.i.7: Outcome of Reactien / Event at the Time of Last Observation #7 -->
{fobservation>
</outboundRelationship2> .
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” mocdCode="EVN">
¢code code="24" codeSystem="2. 16, 840. 1. 113883, 3. 989.2. 1. 1. 197 displayName= medlcalConflrmatlonByHealthProfesswnal'/)
{value xsi:type="BL" value="true”/>
¢l~- E.i.8: Medical Confirmation hy Healthcare Professional #7 —>
{/ehservation>
¢/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
<code code="11" codeSystem="2. 16. 840. 1. 113883, 3. 989, 5. 1. 3.2, 1. 10" displayName="54n » BESN“/>
¢value xsi'type="CE" coede="J2.14.i" codeSystem="2, 16.840. 1. 113883. 3.989.5.1.3.2. 1. 8"/>
!— eeaje, 14,1 A% - BEAT BT —
{/cbservation>.
¢/outboundRelationship2>
</observation>
</subject0f2>
{subjectOF? typeCode="SBI™>
{observation classCode="0BS" moodCode="E¥N™>
<id root="al6be092-8070~426d-af04-E863263443¢07/>
¢code code="20" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. E9” displayName="reaction”/>
CeffectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_TS™>
<low value="20090101"/>
{}=- E.i.4! Date of Start of Reaction / Event #8 -->
¢width value="24" unit="E. i.6b7/>
¢l— E.i.6a: Duration of Reaction / Event {number} #8 —>
¢l~= E, i,6b: Duration of Reaction / Event (unit) #8 -->
</comp>
 {eomp xsiitype="IVI_TS" operator="A">
<high value="201012017/>
€l== E.i.5: Date of End of Reaction / Event #B ~=>
</comp>
{/affectiveTime>
¢value xsiitype="CE” code="E.1i.2.1b" codeSystom="2, 16. 840, 1, 113883. 6. 163" codeSystemVersion="E. 1.2, 1a™>
<l—- £.1.2.1a: HedDRA Version for Reaction / Event #8 —>
¢l— E. i,2.1b: Reaction / Event (MedDRA code) #8 —>
{originalText language="E.i.l.1b">E. i. 1. la{/originalText>
¢l== E, i, 1.1a: Reaction / Event as Reported by the Primary Scurce in Native Language 8 —>
¢l~— E.i,1.1b: Reaction / Event as Reported by the Primary Source Langusge #& —>
</value>
<location typeCode="LOC™>
<locatedEntity elassCode="LOCE™)
ClacatedPlace classCode="COUNTRY” determinerCade="INSTANCE™>
{code code="E, i.9” codeSysten="1. 0, 3166.1.2.27/>
{I== B, i.9! Identification of the Country Where the Reaction / Event Occurred 48 —
¢/locatedPlace?
{/locatedEntity>
</location>
{outhoundRelatienship? typeCode="PERT™>
{observation classCode="0BS" mocdCode="EVN™>
{code codes™30” codeSystex="2. 16 840, 1.113883. 3,989, 2, 1. 1, 19" dlsplayName— reactionForTranslation®/>
{value xsi:type="ED"JE. i.1,2¢/value>
¢1— B.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 —>
{/chaervation> ’
¢/outboundRelationship2>
<{outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" mocdCode="EVN™>
Ceode code="37"" codeSystem="2. 16. B40. 1. 113883. 3,989, 2. 1. 1. 19" displayName="ternHighlightedByReperter”/>
<value xsiitype="CE" code="E.i.8.!" codeSystem="2. 16.840, 1, 113883, 3.989. 2. 1. 1. 10"/>
{l-= E, i.3.1:Term Highlighted by the Reporter #8 —>
{/ocbservation>
{/outboundRelationship2>
¢outboundRelationship2 typeCode="PERT">
{observation classCode="0B5" mocdCade="EVN">
<eode code="34" codeSystew="2. 16, 840, 1. 113893, 3, 989, 2. 1. 1. 19" displayName="resultsInDeath”/>
{value xsiltype="BL" value="true”/>
¢l— E.i.3.2a: Results in Death #8 —>
{/cbservation>
¢/outboundRelatienship2)
{outboundRelationship? typoCode="PERT™>
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{observation classCode="0BS" moodCade="EVN™>
<code codem21° codeSystem="2. 16, 840, 1, 1£3883, 3. 989. 2. 1. 1. 18" displayName="isLifeThreatening™/>
{value xsi:type="BL nullFlavor="NI"/>
{lw~ E.i.3.2b- Life Threatening #8 -~>
</observation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{chservation classCode="0BS" moodCode="EVN">
Coode code="33" codeSystem="2. 16. B40. L. E1368%. 3. 989. 2. 1. 1, 19" displayName="requiresInpatientHospitalizaticn”/>
<valpe xsi:type="BL" value=s"true™/>
¢l— B, i.3,2: Caused / Prolonged Hospitalisation #8 —>
{/observationd . .
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS* moodCode="EVN">
Coode code="35" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1, 19" displayName="resultsInPérsistentOrSignifieantDisability™/>
" ¢value xsi'type="BL" nullFlaver="NI"/> '
£l— E. .3 2d: Disabling / Incapacitating #8 ——>
{/observation>
</outhoundRelationship2>
<outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN">
<code code="12" codeSystem="2, 16, B40. 1. 113883, 3.989. 2. 1. 1, 19" displayName="congenitalAnomalyBirthDafect”/>
<value xsittype="BL" nullFlavor="NI"/>
¢l— E.i.3,2e: Congenital Anomaly / Birth Defect #8 —>
{/observation)
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0B3" moodCode="EVN™>
Ccode code="28" codeSyster="2.16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="otherMedicallyImportantCondition”/>
¢value xsiitype="BL" value="true”/>
¢{l— E.i.3.2f: Other Medically Important Condition #8 —>
</observation> ’
¢ /outboundRelaticnship2>
CoutboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moddCode="EVN">
<code code="27" codeSystem="2. 16, 840. 1. 113683, 3. 98%. 2. 1. 1. 19" displayName="outcome”/> \
¢value xsiitype="CE” code="E.i.7" codsSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 117/>
¢l— B.i.7: Qutcome of Reaction / Event at the Time of Last Observation #8 —>
{/chservation>
</outbotndRelationship2’
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
<code code="24" codeSysten="2. 16. 840, 1. 113883.3.989, 2. 1. 1. 19" displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true"/>
¢l— B.i.8: Medical Confirmation by Healthcara Professmnal #8 —>
</ohservation>
</outboundfelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
(eode code="11* codeSystem="2. 16. B40. L. 113883, 5. 989. 5. L. 3. 2, 1. 10" displayName="2R%0 - BESN"/>
¢value xsiitype="CE” code="J2.14.1" codeSystem="2. 16,840, 1. 113883.3.980.6.1.3.2. L.8"/>
<1— egajz, 14, i FE - Bk 48 —>
{/observation>
</outboundRelationship2>
{/cohgervation>
</subject0f2>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
Ccode code="3" codeSystem="2. 16. 840. 1, 113883, 3. 889, 2. 1. 1. 20 displayName=" testsAndProceduresRelevantToThelnvestigation” />
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>
¢code code="F.r. 2. 7b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystenVorsion="F.r. 2. 2a™>
{l— F.r.2. 2a: MedDRA Version for Test Name #1 -=>
¢l== F.r.2.2b: Test Name (MedDRA code) #1 —> -
{originalText>F. r. 2. 1{/original Text>
{l— F.r. 2.1t Test Name (free text) #1 —>
{/eode>
CoffectiveTime value="200860101"/>
¢l— F.r.1: Test Date #1 —>
<value xsi:type="IVL FQ">
{center value="10" unit="mg/d1"/>
¢}— F.r.3.2: Test Result (value / qualifier) 41 -
{l— F.r,3,3: Test Result (unit) #1 —>
{/value>
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<interpretationCode code="F,r, 3,17 eodeSystem="2. 16. 840. 1, 113883, 3. 989. 2. 1. 1. 12°/>
¢l=— B.r.3.1: Test Result (code) #1 —>
{referenceRange typeCode="REFV"> ’
{ohservationRange ¢lassCode="0BS” moodCode="EVN.CRT">
{value xsi:type="PQ" value="40" unit="mg/d1"/>
¢l— F.r.4: Normal Low Value #1 —>
{interpretationCode code="L" codeSystem="2, 16, 840, 1. 113883, 5, 83"/>
{/observationRange>
</referenceRange>
{referenceRange typeCode="REFV">
<observationfange classCode="0BS, moodCode="EVN, CRT™>
Cvalue xsiitype="PQ" value="110" unit="mg/d1"/>
¢l— F.r.5: Normal High Value #1—>
{interpretationCode code="H" codeSystem="2. 16, 840, 1, 113883, 5.83"/>
{/observationRange>
</referenceRange>
<outboundRelationship2 typeCode="PERT™> f
{observation classCode="0BS" moocdCode="EVN™>
¢eode code="10" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayNawe="comment”/>
<value xsi:type="ED">F. r.6</value>
{l=- F.r.6: Comments (free toxt) #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="REFR™>
{observation classCode="08S" moodCode="EVN"> i
¢code code=”25” codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. L. 19" displayName="moreInformationAvailable™/>
<value xsittype="BL™ value="true"/>
<|—F.r.7: More Information Available #1 —>
{/observatiocn>
</outhoundRelationship2>
</ohsarvation>
</cemponent? N
{component typeCode="COMP™>
{observation classCade="0BS” moodCode="EVN">
<code cede="F.r. 2.2b” codeSystem="2, 16, 840. 1. 113883. 6. 163" codeSystenVersion="F.r. 2. 2a">
¢1— F.r.2.2a: MedDRA Version for Test Name #2 —>
{Jo= F.xr.2.2b: Test Name (MedDRA code) #2 —>
<originalText>F. 1.2, 1¢/originalText>
(e~ B.r.2.1: Test Name (free text) #2 —>
{/code>
(effectiveTime value="20000101"/>
¢!— F.r.1: Test Date #2 —>
¢yalue xsi:type="IVL_PQ">
<low pullFlavor="NINE"/>
<high value="10“ unit="wg/d}l” inclusive="false"/>
<fvalue
¢l— F.r.2.2: Test Result (value / qualifier) #2 —>
{l== F.r.3.3: Test Result (unit) #2 —>
<I— LT 10 me/dl 82 —>
{/obgervation>
{/eomponent
{component, typeCode="COMP">
{chservation classCode="0BS" moodCode="EVN™>
{eode cede="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="F, r.2.2a"™>
{l== F.r.2.2a: MedDRA Version for Test Nawe #3 —>
{J— F.r.2.2b: Test Name (MedDRA code) #3 —>
CoriginalText>F. r. 2. 1</originalText>
{1—- F.r.2.1: Test Name (free text) H3 —>
</code>
CeffectiveTime value="20090101"/>
(I~ F.r.1: Test Date #3 -=>
<value xsi:type="IVL_PQ™>
<low nullFlavor="NINF"/>
¢high value="10" unit="mg/dl” inclusive="true"/>
</value>
{!— F.r.3.2: Test Result (value / gqualifier} #3 —>
¢lu= F,r.3.3: Test Result (unit) #3 —>
¢l~- LE 10 mg/dl #3~—>
{/observation>
{/conponent?
<component typeCode="COMP™>
{abservation classCode="0BS" maedCode="EVN™>
<cade code="F.r.2.2b" codeSystem="2. 16,840, 1, 113883. 6. 163" codeSystemVersion="F.r.2.2a">
¢!— F.r.2.2a: MedDRA Vorsion for Test Name #4 —>
¢!— F.r.2.2b! Test Name (HedDRA code} #4 —>
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<originalTextdF. r. 2. 1{/eriginalText>
¢{!— F.r.2 1t Test Name (free text) #4 —>
<foode>
CeffectiveTime value="200801017/>
¢l— F.r.1: Test Date #4 —>
Kvalue xsi:type="IVL_PQ™> .
low value="10" unit="mg/d1” inclusive="false”/>
¢high nullFlaver="PINF"/>
{/value>
{l-= F,r.3.2: Test Result (value / qualifier) #4 —>
¢J— F.r,3.3: Test Result (unit) #4 —>
¢l— GT 10 mg/dl #4 —>
<{/chservation>
{/component>
{componsnt typeCode="COMP™>
{observation classCode="0BS" moodCode="EVYN"> | :
<code code="F. 1.2 2" codeSystem="2, 16. 840. 1. 113883, 6. 163" codeSystemVersion="F.r.2, 2a™>
¢l-— F.r.2.25: MedDRA Version for Test Name #5 —>
<I— F.r.2.2b: Test Name (MedDRA code) H#E —>
CoriginalText>F. r. 2. 1</originalText>
¢ F.x, 2. 1! Test Name {(free text) #5 ——>
{fcode>
¢effectiveTime value="200901017/>
{l== F.r.1: Test Date #5 —>
<value xsiitype="IVL_PQ">
¢low values"10" unit="mg/dl” inclusive="tru="/>
<high nullFlavor="PINF"/>
</value>
{|— F.r.3.2! Test Result (value / qualifier) #5 —>
¢l-- F.1.3.3: Test Result (unit} #5 —> |
¢|— GE 10 mg/dl #5 —>
</observation?
</companent?
{component typeCode="COMP*>
{ehservation classCode="0BS"™ moodCode="BYN™>
<code code="F. r. 2, 2b codeSysten="2. 16. 840. 1, 113883, 6. 163" codeSystemVersion="F.r. 2 2a"™>
¢1— F.r.2, 2at MedDRA Version for Test Name H6.-—>
{ie= F.r.2.2b! Test Name (MedDRA code) K6 —>
LoriginalText?F. r. 2. 1</originalText>
{l-= F.r.2.1: Test Name (free text} #6 —>
¢/code>
CeffectiveTime value="200901017/>
{|— F.r.1: Test Date #6 —>
<value xsi:type="ED")F.r.3,4</value’
¢l— F,r,3.4: Result Unstructured Data (free text} #6 ——
{/observation>
</component?
{/organizer?
¢/subjectDF2>
(subject0f2 typeCode="SBJ">
¢organizer classCode="CATEGORY” moodCode="EVN">
{eode code="4" codeSystem="2. 16, 840. 1. 113883. 3. 988, 2, 1. 1. 20" displayName="drugInformation”/>
¢<|— G.k Drug(s) Information (repeat as necessary} #1 —>
{component typeCode="COMP™>
¢substanceAdministration ¢lassCode="SBADM" moadCode="EVN“>
<id root="3c91k4d5-e039-4a7a~0c30-67671k0efes” />
{consumable typeCodes"CSM™>
{instanceOfKind classCode="INST™>
<kindOfProduet classCode="MMAT" determincrCode="KIND">
¢code- code="G. k. 2. 1, 1b” codeSysten="TBD-MPID" codeSystemVérsion="G.k. 2.1 1a"/>
¢l— G.k.2.1,1a: MPID Version Date / Number #1 -->
¢l=~ G.k.2.1.1b: Medicinal Preduct Identifier (MPID) #1L —>
<name>G. k. 2. 2¢/nama>
¢l G.k 2.2: Medicinal Product Name as Reported by the Primary Source # —>
¢asManufacturedProduct ¢lassCode="MANU™)
{subjectOf typeCade="SBI">
<approval classCode="CNTRCT”™ moodCode="EVN">
¢id extension="G.k. 3.17 raet="2, 16, 840. 1. 113883, 3,989, 2. 1. 3.4"/>
¢{1— G.k,3.1: Autherisation / Application Number #1 —>
<author typelode="AUT>
<territerialAuthority classCode="TERR">
{territory classCode="NAT" determinerCode=" INSTANCE™>
<code code="G.k.3.2" codeSysten="1.0.3166.1.2.27/>
<}== G, k.3.2: Country of Authorisatien / Application #l —>
{fterritory?
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</territerialAuthority>

</author>

{pertinentInformation typeCode="PERT">
¢policy classCode="POLICY" moodCode="EVN">

<code code=*J2.5. k" codeSystem="2.16.840. 1. 113883, 3.989.5.1.3.2. 1. 4"/>
<I— geeJ2.5.k: —BAERRYOVASESF #1 —
</policy>
{/pertinentInformatien>
</approval>
{/sub ject0Of>

<subjectOf typeCode="SB]™>
<characteristic classCode="085" moodCode="EVN™>

¢oode code="1" codeSystem="2. I6. 84¢. 1. 113883, 3,989.5. 1. 3. 2. 1, 10" displayName="FERHE ORRESH"/>
¢value xsi:type="CE” code="J2.4.k" codeSystem="2.16.840.1.113883.3.980.5.1.3.2.1.37/>
<le- @882, 4.k IERBZORRES #1 >
</characteristic?
<{/sub ject0f>

¢fasManufacturedProduct?
<asSpecializedKind classCode="GEN">
¢generalizedWaterial¥ind classCode="MAT" determinerCode="KIND">
<code>
CoriginalText>J2. 12¢/originalText>
<l-- g8J2.12: HREEAE —
</code>
{/generalizeddaterialKind>
</asSpecializedKind>
{ingredient classCode="ACTI™>
{guantity>
{numerator value="10" unit="G.k.2.3.r. 30"/
¢l G.k.2.3.r. 3a; Strength {huoher) #1-1 —>
{l— G, k.2.3.r.3b: Strength {unit) #1-1 ~>
{denaminater value="17/>
<Squantity> ,
{ingredientSubstance classCode="MMAT" determinerCode="KIND™>
Zeode code="G. % 2. 3. 1. 2b" cadeSystem="TBD-Substance” codeSystemVersion="G. k. 2.3.r.2a"/>
¢!— G.k.2.3.1.2a: Substance / Specified Substance TermID Version Date / Number $1-1 —>
¢1— G.k.2 3.r.2b: Substance / Specified Substance TermlD #1-1 —>
<namedG. k. . 3. r. 1<{/name>
<l-— G.%. 2.8.r.1: Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
{/ingredient>
{ingredient classCode="ACTI">
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b7/>
{l— G,k 2.3.r.3a: Strength (number} #1-2 -->
<l-- G.k.2.3.r. 3b: Strength (unit} #1-2 —>
<denominator value="17/>

</quantity}

<ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G.k. 2. 3.T.2b" ecodeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a7/>
¢!— G.k. 2. 3.1,2a: Substance / Specified Subsfance TermID Vetrsion Pate / Number #1-2 —>
<l G.k.2.3.r.2b! Substance / Specified Substance TernID #1-2 —>
<name>G. k. 2. 3. r. 1</name>
¢t~ G.k.2.3.1.1; Substance / Specified Substance Name §1-2 -->

¢/ingredientSubstance>

¢/ingredient>
</kind0fProduct>

<subject0f typeCodes"SBI™>
{productBvent c¢lassCode="ACT" moodCode="EYN™>
<code code="1" codeSysten="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 18" displayName="retailSupply”/>
{performer typeCode="PRE"> :
<agsignedEntity classCode="ASSIGNED">
<representedOrganization elassCode="ORG” determinerCode="INSTANCE">
{addr> . .
<eountridG. k. 2. 4</country>
¢]— G.k.2.4: Identification of the Country Where the Drug Was Obtained #1 —>
</addr> : . ’
{/represented0rganization>
<{/assignedEntity>
¢fperformer>
{/productEvent>
{/subjectlf>
<subjectOf typeCode="SB]">
CohservationBvent classCode="0BS” moodCode="EVN™>
code code="2" codeSystem="2, 16. 840. 1. 113883. 3, 96¢. 5. 1. 3, 2. 1. 107 displayName="—#XFIERHOAFER"/>
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{value xsi:type="CE" code="J2.6.k" codeSystewr="2. 16. 840, 1, 113883, 3,989,5. 2. 3.2. 1.57/>
¢1— 880]2. 6. k: —AERKROATEE 1 —
{/ohservationEvent>
¢/subject0f>
¢/instance0fKind>
</consumable>
{outboundRelationshipl typeCode="SAS™>
(pauseQuantlty value- 10" unit="G. k.9.1.3. 1b'/> .

Reaction #1 —>
, ¢l— G.k. 9. 3.3 1b: Time Interval between Beginning of Drug Administration and Start ef Reaction / Bvent {unit) Drug #1,

Reactioh #1 ——> '

<actReference classCode="0BS" mondCode="EVN™>

<id root="154eb889-958b~4552-a02f-42d4d6E46571"/>

{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>

<pauseOuant1ty value- 10" unit="G. % 9. 1. 3. 2b"/>

¢l— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #1 —
{actReference elassCode="0BS" meadCode="EVYN™>
¢id root="154eb885-958b~45f2-a02f-42d4d6F465TE"/>
{/actReference}
{/outboundRelationshipl>
¢outhoundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.i.3 Ib"/>
¢1— 6. k. 9. 1.3 1a: Time Interval between Beginning of Drug Administration and Start of Reactmn / Event (number) Drug #1,
Reaction #2 —>
’ ¢l— €. k. 9.4.3. 1b: Time Interval between Boginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,
Reaction #2 —> ‘
' <actReference classCode="0BS” moodCade="EVN™> .
<id root="2baa28d6-cOe8-1ebc-H3eY-5bBE0L3142207/>
</actReferchce>
{/outhoundRelationshipl>
<outboundRelationshipl typeCode="SAR™>
{pauseQuantity value="10" unit="G.k.9.i.3.2"/>
<!— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #2 —

¢l— (,% 9,1.3,2b: Time Interval between Last Dose of Drug and Start of Reaction / Bvent (unit) Drug #1, Reaction #2 —>
¢actReference classCode="0BS" moodCode="EVN™>
<id root="2baa28d6-c9eB-4cbc-93e9-5b860b314220"/> '
{/actReference> '
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™> ' ’
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢l— 6.k 9.i.3, 1a; Time Interval between Beginning of Prug Administration and Start of Reacticn / Event (number) Drug #1,
Reaction #3 —> '
¢l— .k 9.1i.3. tb: Time Interval between Beginning of Drug Administration snd Start of Reaction / Event (unit) Drug #1,
Reaction #3 —> . - '
(actReference ¢lassCode="0BS” moodCode="EVN™>
¢id reot="3a8626cb-9f1b-4eal-Ba0f-e0ff34430adf”™/>
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G,k.8.i.3.2b"/>
I~ G.k.9.1.% 2a: Time Interval betwaen Last Dose of Drug and ‘Start nf Reaction / Event (number) BDrug #1, Reaction #3 —

Y ) _

¢!— G.k.9.1.3.2b: Time Interval batween Last Dose of Drug and Start of Reaction / Bvent (unit) Drug #1, Reaction 3 —>
(actReference classCode="0BS” moodCode="EYN™>
¢id ront="3a8626cb-9f1b-4eaB-Balf-e0f£34430adf" />
{/actReference’
</outboundRelationshipl>
¢olthoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G. k. 9.1i.3.1b"/>
¢l— G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,
Reaction #4 —> . .
¢!— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {unit) Drug #1,
Reaction #4 —> .
<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4~499c-E0ff-ddB415f4£8a5" />
{/actReferance>
{/cutboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauscQuantity value=”10" unit="G. k. 9.1.2.2b"/>
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Reaction #5 ——>

Reaction #5 ——>

Reaction #6 ——>

Reaction #6 —>

Reaction #7 —>

Reaction #7 ——>

Reaction #8 —>

Reaction #8 —>

¢l— 6.k 9.1.3.2a: Time Interval betwaen Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction 4 —

¢l— G.k 9.1, 3 2b: Time Interval hetween Last Dose of Drug and Stert of Reaction / Event {(unit) Drug #1, Reaction #4 —>
<actReference classCode="0B5" moodCode="EYN™>
. <id root="2e99840f~08b4-409c-B0Ff-dd8415T4f8a5"/>
</actReference>
</outboundRelationshipl> .
<outhoundRelationshipl typeCode="SAS™>
¢patseQuantity value="10" unit="6.k.%.i.3 1b"/>
¢l=— G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (number) Drug &1,

¢l-— G.k.9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,

<agtReference classCode="0BS” moodCode="EYN">
¢id root="1071064c—cT10-4adb-83cl-34f0ddbTeatd” />
{/actReference> .
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9. i.3.2n"/> ) )
¢l G.k.9.i.3.2a: Time Intervel between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction 45 -~

¢l-— G.k.8.1.3.2b! Time Interval betwoen Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #§ —>
actReference clagsCode="0BS” moodCode="EVN™> ‘
{id reot="1071084c~cf10-4alb-83cl~34£0ddbTentd” />
{/actReference’
{/outbeundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G. k.9.i.3.1b"/>
¢l— (. k. 9.14.3.1a: Time Interval between Beginning of Drug Administratien and Start of Reaction / Event (number) Drug #1,

¢l— G.k.9,i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reactien / Bvent (unit) Drug #1,

¢actReference clossCode="0BS™ moodCode="EYN™>
¢id root="1f927283~10b6-4334-9d43-e25640FbI8E" />
¢/aciReference> ) ,
</outboundRelationshipl?
{putboundRelationshipl typeCode="SAE™>
{pavseQuantity value="10" unit="G.k.9,i.3.2b"/>
¢l-- G.k.9.i.8.2a: Time Interval betwcen Last Dose of Drug and Start of Reactien / Bvent (number) Drug #1, Reaction #6 —

¢!|-- G.k. 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction 6 —>
(actReference classCode="0BS" moodCode="EVN™>
¢id roat="1f927283-10L6-4334-9043-925640Fb1BE" />
</actReference>
</outhoundRelationshipl>
{outhoundRelationshipl typeCode="SAS™>
¢panseQuantity value="10" uwnit="G k9, 1i.3.1b"/>
¢l-- G.k.9.i.4.la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #I,

¢l-- G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {unit) Drug #I,

{actReference classCode="0BS” meaadCede="EVYN™>
<id root="e0342069-38be~423f-h6bb-cel4bc279d8e" />
{/actReference>
</outboundRelationshipl> -
{outboundRelationshipl typeCode="SAE™>
<pauscQuantity value="10" unit="G.k.9.i.3.2b"/>
¢l— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #7 ==

¢l— G.k, 9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reactien / Bvent (unit) Brug #1, Reaction #7 —>
{actReference classCode="0BS" moodCode="EVYN™>
<id root="e0342969-38ba-423f~bEbb—celdbc279dBe"/>
<factReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G. k. 9,1.3,1b"/>
¢)— 6.k.9.1,3. 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,

¢!~- 6,k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaetion / Event (unit) Drug f1,

<actReference classCode="0BS" moodCade="EVN™>
<id reot="al5ba092~8070-426d-af04-5863263443e0"/>
{/actReference>
</outboundRelationshipl>
<outboundfelationshipl typeCode="SAE™>
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¢pauseQuantity value="10" unit="G.k 9.1,3.2b"/>
<l— G.k. 9. 1.3 2a; Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction %8 --

>
<l— G k. 9 i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #8 —>
CactReference classCode="0BS" moodCade="EVN™>
<id ront="ai5be092-8070-426d~af04-6863263443:07/>
{/actReference>
</ontboundRelationshipl>
<outhoundRelationshin? typeCode="FERT™>
{observation ¢lassCode="0B5" moodCode="EVN™>
¢code code="B" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2, 1. 1, 19" displayName="blinded"/>
{value xsittype="BL" value="true”/>
<]— G.% 2.5: Investigational Product Blinded #1 —>
{/observation?
¢/outboundRelationship2>
{outboundRelationship? typeCode="COMP™>
¢!— 6.k 4. r: Dosage and Relevant Information (repeat as necessary) #1-1 —>
‘CsubstanceAdministration classCade="SBADH" moodCode="EVN"™>
(text?G. k. 4. r. B{/text) .
<}— G.k 4.r 8: Dosage Text #l-1 —>
(effectiveTime xsi:type="SXPR_T5">
<comp xsi:type="PIVL_15"> : ' ) .
{period value="10" unit="G.k. 4.1.3"/>
¢l== G.k. 4.1.2° Number of Units in the Interval #1-1 —> -
¢l— G,k 4.1, 3: Definition of the Time Interval Unit #1-1 —>
£/comp>
Ccomp xsiitype="IVL_T5" operator="A">
<low value="20080101"/>
¢!— G.k 4.r.4: Date and Time of Start of Drug #1-1 >
<high value="20090101%/> .
¢1— G.k.4.1.5: Date and Time of Last Administration #1-1 —>
{/comp> ¢ '
Ccomp xsi:type="IVL_I5" operator="A">
¢width value="4" unit="G.k 4. x.6b"/> :
¢<l— G.k 4.r.6a: Duration of Drug Administration {number) #1-1 —>
¢]— G.k.4.r.6b: Duration of Drug Administration (unit) #1-1 ——>
</comp> ’
</effectiveTine>
<routeCode code="G. k. 4.1, 10. 26" codeSystem="2, 16. 840, 1. 113883, 3,989, 2, I, 1. 14" codeSystemVersion="G. k. 4. r. 10, 2a™>
¢le= G k.4.r.10.2a: Route of Administration TernID Version Date / Number #1-1 —>
<l G.k.4.r. 10, 2b: Route of Administration TermID $I-1 —>
CariginalText>G. k. 4. 1. 10. 1{/original Text>
<l— G,k 4,r.10.1: Route of Adm1n1strat10n (free text) #1-1 -->
¢/routeCode>
{doseQuantity value=" 10 unit="G, k. 4. r, 1b"/>
) ¢l— G.k.4.1. 1a Dose (number) #I-1 —>
{l— 6.k, 4,1, 1b: Dose {unit) #1-1 —>
{consumahle typeCode="CSH">
<instance0fKind classCode="INST">
{praductInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G, k. 4. r. 7¢/lotNiumbex Text>
¢— G.k.4.r.7: Batch / Lot Number #1-1 —>
{/preductInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<{formCode code="G. k. 4.1.9, 2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.r.9. 2a">
{l— G.k.4.1.9.2a: Pharmaceutical Dase Form TermID Version Date / Number #1-1 ——>
<l— G,k 4.1, 8.2b: Pharmaceutical Dose Form TermID #i-1 -—>
SoriginalTextdG. k. 4, r. 8. 1¢/originalText> i
<{}-= G. k. 4.r. 9.1 Pharmaceutical Dose Form {free text) #1-1 —>
</fornCode> )
</kind0fProduct?
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR">
{shservation classCode="0BS" moodCode="E¥N">
<code code="28" codeSysten="2. 16,840, 1. 113883. 3, 980. 2. L. 1. 19" displayName="parentRouteOfAdministration”/>
¢yalue xsi'type="CE” code="C.k. 4.r.11.2b" codeSystem="2. 16. B40. 1. 113883, 3,980, 2, 1, 1, 14" codeSystenVersion="G.k.4.r.
11.2a™>

¢l— G,k 4 r. 11.2a: Parent Route of Adwinistration TermID Version Date / Number #1-~1 —>
¢l== G.k.4.x.11. 2b: Parent Route of Adninistratien TermID #1-1 —>
CoriginalText>G. k. 4. r. 11, I</originalText>
{l=- G.k.4.1.11. 1: Parent Route of Administration {(free text) #-1 —>
{/value>
</abservation>
{/inboundRelaticnship>
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{/substanceAdministration?

{/outhoundRelationship2>

¢outhoundRelationship2 typeCode="COMP*>
¢l-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1=-2 -
<substanceAdministration classCade="SBADM” moodCode="EVN™>

<text>G. k. 4. 1. 8<{/text>

<l— G. k. 4.1, 87 Dosage Text #1-2 —>

<effectiveTime xsi:type="SXPR_TS"> .

{comp xsiitype="PIVL_TS™>
{period values"10" unit="G.k.4.r.3"/>
<!-- G.%X. 4.r.2: Number of Units in the Interval #1-2 —>
(l=— G.k 4.r.3: Definition of the Time Interval Unit #1-2 —
</comp>
{comp xsi:type="IVL_TS™ operator="A">
{low value= 20090101'/)
¢!— G.k.4.r.4: Date and Time of Start of Drug #1-2 —>
<high value="20050101"/>
¢!— G. k. 4.r.5: Date and Time of Last Admmlstratmn #1-2 —>
</comp>

{/effectiveTime> .

{rauteCode code="G.,k. 4, r, 10, 2b" codeSystem="2. 16, B40, 1, 113883, 3, 989. 2, 1, 1, 14" codeSystemVersion="G. k.4.r. 10.2a">
{!— G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number §1-2 -—> '
<}— G, k4,1 10,2b: Route of Administration TermID #1-2 —>
<originalText>G. k. 4.x. 10. 1{/originalText>
{I— G.k 4.1 10.1: Route of Administration (free text) #1-2 —>

{/TouteCede>

<doseQuantity value="10" unit="G. k 4.1 16"/

{!— 6.k 4.r la Dose (number) #1-2 —>

{}— G. k. 4.1.1b: Dose (unit) #1-2 —>

<consumable typeCode="CSM™>
{instance0fKind ¢lasaCode="INST™>

(productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
. {lotNumberText>G, k. 4. r. 7¢/lotNunberText> '
¢!— G.k.4.1r.7: Bateh / Lot Number $1-2 —>
{/productInstanceInstance’
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
{fornCode code="G.k.4.r.9.2bh" codeSystem="TBD-DoscForu” codeSystemVersion="G.k,4.r.9.2a™>
<l=- G.k.4,r. 9 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 —>
¢l— G.k. 4.r.9.2b: Pharmaceutical Dose Form TermlD #1-2 —>
<originalText>G. k, 4. r. 9. 1</originalText>
¢l-- G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-2 —>
{/formCode>
{/kind0fProduct>
{/instance0fKind>

{/consumable>

<inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">

<code code="28" codeSystem="2. 16, 840, 1. 113883, 3.989.2.1. 1. 19" dlsplayﬂama— parentRouteOfAdninistration”/>
{value xsiitype="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. L. 1. 14" codeSystemVersion="G.k. 4.r.
11.2a">
; ¢l— G.k.4.1.11. 2a! Parent Raute of Administration TermlD Version Date / Number #1-2 -—>
¢l— @.k.4.r. 11, 2b: Parent Route of Administration TernID #1-2 —>
<originalTextdG. k. 4.r.11. 1{/originalText>
<=~ G, k.4,r.11,1: Parent Route of Administration (free text) #1-2 —>
<{/value>
{/chservation>
</inboundRelationship>
¢/substanceAdministration>
</outboundRelationship2>
{outboundRelationship? typeCode="COMP™>
¢!— G.% 4.r: Dosage and Relevant Information {repeat as necessary} #1~-3 —>
{substanceAdministration classCode="SBADM” moodCade="EVN">

Ctext?G. k. 4, 1. 8¢/ text>

¢l— G, K. 4.r.8: Dosage Text #1-3 —>

<effectiveTime xsi:type="SYPR_TS™>
{comp xsi:type="PIVL_TS™>

¢pericd value="10" unit="G.k.4.r.3"/>
¢{— 6.k 4.r.2: Number of Units in the Interval #1-3 —>
- ¢I— G. k. 4. 1. 3: Definition of the Time Interval Unit #1-3 —
</comp>
{comp xsiitype="IVL_TS” operator="A">
<law value="20030101"/>
{I— G.k.4.r.4: Date and Time of Start of Drug #1-3 —>
<width value="4" unit="G.k.4.r.8b"/>
¢l— G.k.4.r.6a: Duration of Drug Administration (number) #1-3.—>
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¢l— G.k.4.r,6b: Buration of Drug Administration {unit) $#1-3 —>
</comp?
{feffectiveTimed
CrouteCode code="G. &, 4.1. 10, 2b" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1, 14" codeSystenVersion=", k, 4. r. 10. 2a">
¢t— .k 4.1.10.2a: Route of Administration TermID Version Date / Number #1-3 —>
¢4~ G.k. 4.1, 10, 2b: Route of Administration TernID #1-3 —>
{originalText>G. k. 4. r. 10, 1{/oxiginalText>
¢l=="G. k.4.r.10. I Route of Administration (free.text) #1-3 —>
<frouteCads’
{daseQuantity value="10" unit="G.Xk.4.r. 1b"/>
{l— G.k 4,r La Dose (humber) #i-3 —>
¢I— G. ). 4.r. 1b: Dose (unit) #1-3 —>
Cconsumable typeCode="CSH">
<instance0fKind classCode="INST">.
(productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNusberText>G. k. 4. r. 7</lotNunberText>
¢l— G.k.4.r.7: Batch / Lot Nomber #1-3 —>
{/productIinstancelnstance?
¢kind0fProduct classCode="MMAT® determinerCode="KIND">

<FornCode code="G. k. 4. r, 9. 2b" codeSysten="TBD-DoseForm” codeSystemYersion="G. k. 4.r.%. 2a">
¢l— G,k.4.r.9.2a: Pharmaceutical Dose Form TermIP Yersion Date / Number #1-3 —>
<]— G.k.4.r.9 2b: Pharmaceutical Dose Form TexrmlD #1-3 —> -
<eriginalText>G. k. 4.1, 9. 1{/originalText>
¢l— G.k.4.r.9, 1: Pharmaceutical Dose Form (free text} #1-3 —>

</formCode)>

< kindProduct?
{/instanceOfKind>
{/consumablel

{inboundRelationship typeCode="REFR"™>
{chservation classCode="0BS” mocdCode="EVN">
¢eode code="28" codeSystem="2. 16, 840, 1, 113883, 3, 989, 2.1, 1, 19" displayName="" parentRouteOfAdmimstratwn 1
{value xsi:type="CE" code="G.k. 4.r.1l.2b" codeSysten="2.16. 840. 1. 113883, 3, 989. 2. 1. 1. 14" codeSystenVersion="6.k. 4.r.
11, 2a™> .
. ¢1— G.k.4.1r. 1L 2a: Parent Route of Administration TernID Version Date / Number #1-3 —>
¢l— G, k. 4,1 11.2b: Parent Reute of Administration TermID #1-3 —>
CoriginalText>G. k. 4. r. 11. 1</originalText>
¢l— 6.k, 4, 1. 11 1% Parent Route of Administration (free text} #1-3 ==>
{/value>
{/observation>
{/inboundRelationship>
¢/substancepdninistration>
{/outboundRelationship2>
<outboundRelationship2 typeCode=" COMP >
{l== G, k. 4.r: Dosage and Relevant Information (repeat as necessary) #1-4 —»
{substanceAdministration ¢lassCode="SBADM" muodCode— EVN">
{text>G. k. 4. 1. 8</text>
¢l== G:k.4.1.8: Dosage Text #1-4 —>
CeffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.1.3"/>

¢<|— Gk 412! Number of Units in the Interval #i-4 —>
¢I— G.X.4,r.3: Definition of the Time Interval Unit #l-4 -->
</comp)

Cconp xsi:type= “IVL_TS" operator="A">
(width value="4" unit="G.k.4,r.6b"/>
¢!I— G.k. 4. r,Ba; Duration of Drug Adwinistration (number) #1-4 —>
¢!— G.k.4.r.6b: Duration of Drug Administration (unit) #1-4 —>
<high walue="200201017/>
¢}— G.k.4.r.5: Date and Time of Last Administration #1-4 —>
</conp?
. ¢/effectiveTime> : . .
¢routelade code="G.k. 4.1.10,2b" codeSystem="2. 16,840, 1. 113883. 3,989, 2. 1. 1. 14" codeSystenVersion="G. k.4.r. 10.2a">
¢l-= G. k. 4.1.10,2a: Route of Administration TernID Version DPate / Number #1-4 —>
{1— 6.k.4,r.10.2b: Route of Administration TermID #I-4 -—>
{originalText>G. k. 4. r. 10. 1</originalText>
<1— G.k.4.r.10.1: Route of Admmstratmn (free text) #1-4 —>
¢/routeCoded
<doseRuantity value="10" unit="G.k.4.r. 1b'/>
{l— G.k.4.r.1a Dose (number) #1-4 —>
{lu= G.k.4.r.1b: Dosge (unit) #1-4 —>
{censumable typeCode="CSH™>
¢instanceOfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT™ determinerCodes" INSTANCE™>
<lotNumberText 6. k. 4. r, 7¢/IotNumberText>
¢l— G.k.4.r.7: Batch / Lot Number #1-4 —>
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</praductinstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
(fornCode code="G. k. 4. 1.9, 2b” codeSystem="TBD-DaseForn” codeSystemVersion="G.k 4.r.%.2a™>
¢l— 6.k, 4,19, 2a; Pharmaceutical Dese Form TermID Version Date / Number #1-4 ——>
<!~ G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-4 -->
<originalText>G. k. 4. r. 9. I1</originalText>
¢l=— G.k. 4.1.9.1: Pharmaceutical Dose Form (free text) #l-4 —>
¢/formCode)
¢/kind0fProduct>
</instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR">
{observation clagsCade="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
¢<value xsi:type="CE” code="G.k.4.r.1l, 2b" codeSystem="2.16.840, 1. 113883, 3.989.2. 1. 1. 14" codeSystemVersion="G. k. 4.r.
11,2a"> . .
¢4~ G.k. 4.1, 11.2a: Parent Route of Administration TermID Version Date / Number #1-4 —>
¢{}— 6.k, 4.1, 11, 2b: Parent Route of Administration TermID #l-4 =->
{originalText>G. k. 4. r. 11. 1{/originalText>
¢1= G.k.4.r,11. 1! Parent Route of Administration (free text) #1-4 —>
{/value>
(/ubservatiop)
</inboundRelationship>
</substanceAdministration>
{/outboundRelationship2>
<outboundRelationship? typeCode="COMP">
¢l=- G.k.4.r: Dosage and Relevant Information (repeat as necessary) HI-5 —>
{substanceAdministration classCode="$BADM" moodCode="EVN™>
{text>G. k. 4. r. B</text>
¢!— 6.k, 4.1.8: Dosage Text ¥1-56 —>
<{affeetiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS™>
<low value="20090101"/>
{l— G.k.4.1.4: Date and Time of Start of Drug #1-5 —>
<high value="200901017/> ’ .
<l— G.k.4.r.5: Date and Time of Last Administration §1-5 —>
</comp>
{comp xsi:type="IYL_TS" operator="A">
<width value="4" unit="G.k. 4, r. 6b"/>
{l— 6.k 4. r Ba: Duration of Drug Administration (number} #1-5 ——>
{l— G.k.4.1.6b: Duration of Drug Administration (unit) #1-8 —>
¢/comp>
{/effectiveTime> '
<routeCode code="G.k.4.r.10.2b" codeSystem="2, 16. 840. 1. 113883, 3, 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4.1. 10, 2a™>
¢{l— G. k.41 10, 2a: Route of Adninistration TermID Versicn Date / Number §l-5 —>
{l—= G.k.4.1.10.2b! Route of Administration TermID #1-5 -->
+ <originalTextG. k. 4. r. 10. 1</originalText>
<l— G. k.4.1.10.1: Reute of Administration (free text) #1-5 —>
{/routeCode>
¢doseQuantity value="10" unit="6.k. 4.r. 16"/>
{1~ G.k 4.1. 12 Dose (number) #1-5 -=>
¢!— 6.k 4.1, 1b: Dose (unit) #1-§ —>
{consumable typeCode="CSM™>
{instanceOfKind classCode="INST > :
<productInstancelnstance classCede="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7¢/lotNunberText)
¢l=- G.k. 4. 1. 7! Batch / Lot Number -6 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
¢formCode code="G. k. 4.1.9, 2b" codeSysten="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a">
<l— G.k.4.r.9, 2a: Pharmaceutical Dose Form TermlD Version Date / Number #i-5 —>
¢l— G.k.4.7.9.2b! Pharmaceutical Dose Form TermID #1-5 ——>
<originalText>G. k. 4, 1. 9. 1</original Text>
¢l== G.k.4.1.9.1: Pharmaceutical Dose Form {free text) £1-5 —>
{/formCode>
</kind0fPreduct>
</instanceQfKind>
¢/consumable>
¢inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN™>
<code code="28" codeSysten="Z. 16, 840, 1, 113883. 3. 989. 2. 1. 1, 19” displayName="parentRoute0fAdministration”/>
¢value xsi:type="CE” code="G. k. 4.r.11.2b" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2, 1. 1, 14" codeSystemVersion="G.k 4. 1.
11, 2a™>
¢t== G, k.4.%.11.2a! Parent Route of Administration TernID Version Date / Number #1-5 —>
<!— 6. k. 4.1.11.2b! Parent Route of Administration TermID #I-5 —>
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<eriginalText>G, k. 4. 1. 11. 1<¢/ariginal Text>
¢l— G, k,4.r,11.1: Parent Route of Administration {free text) #1-§ —>
</value>
{/observation>
{/inboundRelationship>
{/substanceAdninistration>
</outboundRelationship2>
outhoundRelationship? typeCode="COMP™>
<]~ G.% 4. r: Dosage and Relevant Information (repeat as necessary) #1-6 —>
<substanceAduinistration classCode="SBADM” mcodCode="EVN™>
<textdG. k. 4, . B/ text>
1= G. k. 4.r 8: Dosage Text #1-6 —
<effectiveTine xsi:type="SXPR_TS"
{comp xsi:type="PIVL_TS™>
{period value="10" unit="6.k.4.r.3"/>
"¢]-- 6.k 4.1 2: Number of Units in the Interval #1-6 —>
l— G.k. 4.1.3: Definition of the Time Interval Unit #1-6 —>
</comp> .
Ccomp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
{l— G.% 4.7, 4: Date and Time of Start of Drug #1-6 —>
(width value="4" unit="G.k 4.r.667/>
¢t— (.k 4.r.62: Duration of Drug Administration {number} #1-6 —>
¢!~ G.k 4. 7.6b: Durntion of Drug Administration {unit) #1-6 ——>
{/comp> ’
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
{1~ G.k.4.1.5: Date and Tiwe of Last Administration #1-6 —>
{/comp>
{/effectiveTime>
¢routeCode code="G. k. 4.r. 10, 26" codeSysten="2. 16. 840, 1. 113883, 3. 989. 2. L. L 14" eodeSystemVersion="G. k. 4. r. 10, 2a™>
{l— 6. k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-6 —> ’
¢l G, k.4.r.10.2b: Route of Administration TermID #1-6 -->
<originalText>G. k. 4. r. 10. 1<{/originalText>
= G.k.4.1.10.1: Route of Administration {free text) #1-6 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.r.1b7/>
{|— G.k.4.r.1a Dose {number) #1-1 ——>
<I— & k. 4. 1. 1b7 Dose (unit) #1-1 —>
{consumable typeCode="CSH™>
¢instanceOfKind classCode="INST"™> .
<productInstancelnstance classCode="MMAT" determinerCade="INSTANCE™>
¢lotiumberText>G. k. 4. r. 7¢/LotHusberText>
s {I=- G.k.4.r.7: Batch / Lot Number #1-1 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G. k. 4.1r.9,2b" codeSystem="TBD-DoseForm” codcSystemVersion="G.k. 4.r.9.2a">
¢{]— G.k. 4.7.9.2a: Pharmaceuticat Dose Form TermlD Version Date / Number #1-6 -->
{l— G. k. 4.7.9, 2b: Pharmaceutical Dose Form TermID #1-6 —»
<originalTextG. k. 4. r. 9. 1</ariginalText>
,<— 6.k 4.1, 9, 1! Pharmaceutical Dose Form (free text) #1-6 ~>
</formCode>
</kind0fProduct>
¢/instanceOfKind>
{/consumable> )
¢inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moadCode="EVN™>
{code code="28" codeSystew="2. 16, 840, 1, 113883, 3,989. 2. 1. 1. 19" displayName="parentRouteOfAdninistration™/>
<value xsi:type="CE” code="G.% 4,r.11.2b" codeSystem="2.16.840.1, 113883, 3,989, 2.1, 1.14" codeSystezVersion="C. k. 4. 1.
1L.2a">
¢}== G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number $1-6 —>
<l— 6. k. 4.r. 11, 2b: Parent Route of Administration TermID #1-6 —>
<originalText»G. k. 4, r. 11, 1</originalText>
{l— 6.k, 4,111, 1! Parent Route of Administration (free text} #1-6 —>
</value> v
{/observatien> :
</inboundRelationship>
{/substanceAdministration>
¢/outboundRelationship2>
{outhoundRelationship2 typeCode="COMP™>
¢l G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-7 —>
{substanceAdninistration elassCode="SBADM” moodCode="EVN">
CtextdG. k. 4.r. B¢/ text> | ‘
¢!— G.k.4.1.8: Dosage Text #1-T —>
{effectiveTime xsi!type="SXPR_TS">
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Ccomp xsi:type="IVL_T5">
<low value="200001017/> .
3w Gk, 4.1. 42 Date and Time of Start of Drug #1-7 —>
<width value="4" unit="G.k.4.r.6b"/>
== G.k.4.r.6a: Duration of Drug Administration (number) #1-7 —>
¢1-— G.k.4.r.6b: Duration of Drug Administration {unit) #1-7 —>
</comp>
<comp xsi:type="IVL TS operator="A">
<high value="200901017/>
€1-- G.k.4.1.5° Date and Time of Last Administration #L-7 —>
</comp> .
</effectiveTime>
<routeCode code="G. k. 4.1, 10, 2b" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 14" codeSystemVersion="G.k. 4.1.10, 2a™>
4~ G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-7 —>
<}— G.k.4.r.10. 2b: Route of Administration TermID ¥I-7 ——>
CoriginalText>G. k. 4. r, 10, 1{/originalText>
"¢}—- G.k.4,r.10.1: Route of Administration (free text) #1-7 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
¢l— G.k.4,r, 1a Dose (number) #1-7 —>
¢I— G.k.4.x. 1b: Dose (unit) #1-7 —>
{consumablie typeCode="CSH™>
¢instance0fKind classCode="INST">
{praductinstancelnstance classCode="MMAT" determinerCede="INSTANCE™>
<lotNumberTextG. k. 4, ¥, 7{/lotNuzberText>
¢!— G.% 4.r.7: Batch / Lot Number #1-7 —>
{/productInstancelnstanced
<kind0fProduct classCode="MMAT” determinerCode="KIND™>
{fornCode code="G.k.4.r,9.2b" codeSysten="TBD-DoseForn” codeSystemVersion="6.k.4.r.9.2a™>
¢l-~ 6.4 4.r.9.2a! Pharmacentical Dose Form TernID Version Pate / Number #1-7 -=>
<l— G,k 4.r. 9 2b: Pharmaceutical Dose Form TermID #1-7 —>
<originalText>G, k, 4, r. 9, 1{/originalText>
¢!— 6,% 4.1.9.1: Pharmaceutical Dose Form (free text) #1-7 —>
</formCode>
</kind0fProduct>
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR™
{observation classCode="0BS” moodCode="EVN™> .
{code code="28" codeSystem="2. 16. 840. . 113883, 3, 989, 2, 1. 1. 19" displayName="parentRouteOfAdninistration”/>
<value xsi:type="CE” code="G, k. 4.r.1l.2b* codoSystem="2. 18, 840, 1, 113883. 3. 989, 2. 1. 1. 14" codeSystenVersion="G.k. 4.r.
1l.2a™>
{l— G.k.4.r,11,2a: Parent Route of Administration TermID Version Date / Number #1-7 —>
<=~ G, k.4.r.11.2b: Parent Reute of Administration TermID #1-7 —>
CoriginalText>G. k. 4, r, 11. 1</originalText>
<l-- G.k 4.r.11.1: Parent Route of Administration (free text) #1-7 ~>
{/value>
<{/observation>
{/inboundRelationship>
{/substanceAdministration>
R {/outboundftelationship2>
<outhoundRelationship2 typeCode="SUMM™>
{ohservation classCode="0BS” moodCode="EVN">
{code code="14" codeSystem="2. 16. 840. 1. 113883, 3. 589. 2. 1. 1. 19" displayName="cumulativeDoseToReaction”/>
Cvalue xsi:type="PQ@” value="10" unit="G.k. 5b"/> ' '
¢l— & k.5a: Cunulative Dose to First Reaction (number) #1 —>
¢l=- G.k.5b: Cumulative Dase to First Reaction (unit) #1 -->
</observation>
</outboundielationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="E¥N™>
¢eode code="16" codeSystem="2. 16 340, 1. 113883, 3. 989, 2, 1, 1. 19”7 displayName="gestationPeriad”/>
<value xsiitype="PQ” value="10" unit="G.k.6b™/>
{|-- G.k Ba: Gestation Period at Time of Exposure (number) {1 —>
¢!— G.%. 6b: Gestation Period at Time of Exposure f{unit) #1 —>
¢/ohservationd
{foutboundRelationship2>
<outboundRelaticnship2 typeCode="PERT™>
¢observation classCode="0BS” moodCode="EVN™>
<code code="3]1" codeSystem="2. 16. B40. 1. 113883, 3. 089. 2, 1. 1, 19" displayName="recurrance0fReaction”/>
{value xsi:type="CE” code="G.k.9.1i.4" codeSystem="2.16.840.1.113883,3.989,2,1, 1, 16"/>
<l— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction §1 —
<outboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” moodCode="EVN™>
{id root="154ebR89~968b=45f2-a02f-42d4d6£4657E"/>
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{/actReference>
{/outhoundRelationshipl>
{/cbservation?
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCude="0BS" moodCode="EYN>
<code code="31" codeSystem="2, 16. 840. L. 113883, 3. 989. 2. 1. 1. 19" displayName="recurrance0fReaction”/>
<value xsiitype="CE" code="G.k.9.1.4" codeSystem="2, 16.840. I. 113683. 3.989. 2. 1. 1. 16"/>
¢I~— 6.k 9. 7. 4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 —>
CoutboundRelationshipt typeCode="REFR™>
<actReference classCode="0BS" moodCode="EVN™>
<id root="2baa28d6-c9e8-4ebe-92e5-5b86003142207/>
¢/actReference>
</outboundRelationshipl>
{/observation>
</eutboundRelationship2>
<outhoundRelationship? typeCode="REFR">
Zobservation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16, 840. 1. 113883, 3, 989. 2. 1. 1. 18" displayNamo="codedDruginfornation”/>
<value xsititype="CR” code="G.k.10.1" codeSystem='2.16.B40.l.113883.3.989.2.1.1.17'/>
¢l Gk 10,17 Additional Information on Drug (coded) (repeat ms necessary) #l1-1 —>
</observation>
<foutboundRelationship2>
{cutboundRelationshipZ typeCode="REFR™>
{observation classCode="DBS” moodCade="EVN">
{code code="9" cadeSystem="2. 16. 840, 1. 113883, 3, 983, 2.1.1. 19" displayName="codedDrugInformation”/>
<value xsistype="CE” code="G.k.10.1” codeSystem="2. 16, 840.1, 113883, 3,989.2. 1. 1. 17°/>
¢)—~ G.%. 10.r: Additional Information on Drug (ceded) (repest ms necessary) #1-2 —>
¢fobservationd
</outboundRelationship2>
¢outbeundRelationship? typeCode="REFR™>
{observation classCode="0BS” moocdCaode="EVN">
<code code="2" codeSysten="2. 16. §40. L. 113883, 3. 989, 2, 1. 1. 19” displayName="additionalInformation™/>
<value xsi:itype="ST">G. k. 11</value>
{}-- G.k. 11: Additional Informstion on Drug (free text) #1 —>
</abservation>
</outhoundRelationship2>
<inboundRelationship typeCode="RSON™>
{observation classCode="0B5" moodCode="EVN™> . :
¢code code="19" rodeSystem="2. 16. 840, L, 113883. 3, 989, 2. 1. 1. 19" displayNawe="indication”/>
¢valug xsi:type="CE” code="G.k.7.T.2b" codeSystern="2.16.840. 1. 113883, 6, 163" codeSystenVersion="G.k, 7.r. 2a">
{lw= G.k.7.r.2a: MedDRA Yersion for Indication #1-1 —>
¢l— G.k.7.r.2b: Indication (MedDRA cade) #1-1 —>
<originalText>G, k. 7. r. 1</originalText>
¢l— 6.k.7.r.1: Indication as Reported by the Primary Source #1-1 ==>
</value>
<performer typeCode="PRF™>
<assignedEntity classCode="ASSIGNED™>
{code code="3" codeSystem="2, 16.840. 1. 113883, 3.989. 2. 1. L. 21 displayName="sourceReporter™/>
{/assignedEntity>
{/performery
{/ohservationy
</inboundRelationship>
{inbeundRelationship typeCode="RSON">
¢observation classCode="0BS" wmoodCode="EVN™>
{code code="19" codeSysten="2. 16, 840. 1. 113863. 3. 989, 2. 1. 1. 19" displayName="indication”/>
<yalue xsi:type="CE" code="G.k.T.r.2b" codeSysten="2. 16,840, 1, 113883, 6. 163" codeSystemVersion="G.k.7.r.2a"
<}=— G.k.7.r.2a: MedDRA Version for Indication #1-2 —>
¢l~= 6, k. 7.r.2b: Indication (MedDRA code) #1-2 —>
<originalText>G. k. 7. 1. 1<foriginalText>
¢l== 6.k 7.1.1: Indication as Reported by the Primary Source §1-2 —>
{fvalue>
{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED™>
<code codo="3" codeSystem="2, 16, 840. 1. 113883, 3, 989. 2. 1. 1. 21" displayName="sourceReporter”/>
</assignedEntity> '
{/performer> -
</observation?
¢/inboundRelationship>
<inboundRelationship typeCecde="CAUS">
<act classCode="ACT" moodCode="EVN">
{eode code="G. k. 8" cedeSysien="2. 16, 840. 1. 113883. 3, 988. 2. 1. L. 157/>
¢!== G.k.8: Action(s) Taken with Drug #1 —>
</act>
</inhoundRelationship>
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{/substanceAdministration?
{/component>
¢|— G.k Drug{s) Information (repeat as necessary) #2 —>
{eomponent typeCode="COMP™>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
<id root="68d6f5ce—3b3b-45¢7-92dd-69206730c3a9"/>
Cconsumable typeCode="CSH™>
<instance0fKind elassCode="INST™> .
<&indOfProduct classCode="MMAT" determinerCode="KIND™>
<code code="G.k.2. 1. 2b" codeSystem="TBD-PhPID" codeSystemVersion="G.k. 2.1 2a"/>
¢<|— G.k.2.1.2a: PhPID Version Date / Number #2 —>
¢l== G.k.2. 1. 2b: Pharmaceutical Product Identifier (PhPID) #2 —>
{name>G. k. 2. 2{/hame>
¢l— 6.k 2.2: Medicinal Product Nape as Reportad by the Primsry Somrce #2 —
{asManufacturedProduct classCode="MANU">
{subjectDf typeCode="SBI">
<approval classCode="CNTRCT™ moodCode="EVN™>
¢id extension="G.k. 3.1 root="2, 16, 840, 1. 113883.2.985. 2, 1. 3.4"/>
<!— G.k.3.1: Authorisation / Application Number §2 -—>
{author typeCode="AUT™>
{territorialAuthority classCode="TERR™>
{territory classCode="NAT" determinerCode="INSTANCE™>
<code code="G.k.3.2" codeSysten="1.0.3166. . 2.27/>
{lw= G,k 3,2: Country of Authorisation / Application §2 —>
</territory>
{/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT">
{policy classCode="POLICY" moodCode="EVN™>

{code code="J2. 5. k" codeSystem="2. 16. 840, 1. 113883, 3,989.5.1.3.2. 1. 4" />
<l @@8J2.5. k: —RAERRSOV AIENE #2 —
¢/policy>
</pertinentInformation>
{/approval>
{/sub ject0>

{subjectOf typeCode="SB]">
{characteristic ¢lassCode="0BS" moodCode="EVN™>
¢code code="1" codeSystem="2. 16. 840. 1, 113883, 3. 989, 5, 1. 3,2, 1, 10" displayNane="}iERKFEDRES"/>
<value xsi:type="CE" cede="J2.4.k" codeSystem="2, 16, 840. 1. 113883.3.989.5.1.3.2.1.37/>
<I— 8ge]2. 4.k: FEKMFOWIHES #2 —> '
</characteristic>
¢/sub ject0f>
</asWanufacturedPreduct’
<ingredient classCode="ACTI™>
{quantity>
<nugerator value="10" unit="G.k. 2.3.r.3b"/>
¢l=- G.k.2.3.r.3a: Strength (pumber) #2-1 —>
¢<l— G.k.2,3.r.3b; Strength (unit) #2-1 —>
{denominator value="17/>
{/quantity>
<ingredientSubstance classCode="MMAT" determinerCede="XIND">
* ¢eode code="G. k. 2.3.r.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k.2.3.r.2a"/>
<]— G.k.2.3.r.2a' Substance / Specified Substance TermID Yersion Date / Number #2-1 —>
<1~ G.k.2.2.r.2h Substance / Specified Substance TernlID #2-1 —>
<name>G. k. 2, 3, r. E</name>’
<l=- G.k.2.3.r.1: Substance / Specified Substance Name #2-1 -=> .
{/ingredientSubstance>
</ingredient>
¢ingredient classCode®"ACTI™>
<quantity>
{numerator value="10" unit="G. k. 2.3.r.3b"/>
¢l— G.k.2.3.1.3a; Strength (number) {2-2 —>
<{!— G.k. 2 3,r 3b: Strength (unit) #2-2 —>
{denominator value="1"/>
</quantity>
{ingredientSubstance classCode="MMAT" determinerCede="KIND">
{code code="G; k: 2.3, . 2b" codeSystem="TBD-Substance” codeSystemVersion="G.k. 2.3.r,2a"/>
<}=- G, k.2.3.r.2a Substance / Specified Substance TermID Yersion Date/Number #2-2 —>
¢)— 6.k 2.8.1.2b Substance / Specified Substance TermID #2-2 —
<nhame>G. k, 2, 3. v. 1<{/name> !
¢l— G,k 2.3.1.1: Substance / Specified Substance Namwe #$2-2 —>
</ingredientSubstance> ’
</ingredient>
</kind0fProdust> '
{subjectOf typeCode="SBJ">
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{praductBvent classCode="ACT" moodCode="EVN™> -
{cade code="1" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1 1, 18" d1splayName— retailSupply™/>
(performer typeCode="PRF">
<agsignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
Caddr>
{country>G. k. 2. 4</country>
<l— G k. 2,4 Ident1f1catmn of the Country Where the Drug Was Obtained #2 ——>
£/addr> \
(/representedDrgamzat.mn)
{/assignedEntity>
{/performer>
 ¢/productEvent>
{/subjectDf>
¢sub jestOf typeCode="SBI">
{observationEvent classCode="0BS" moodCode="EVN™>
<code code="2" codeSystem="2. 16, 840. 1. 113883, 3,989, 5, 1.3.2. 1. 107 displayName= —)&"H%E;ﬁﬁw}kiﬂ%“b
{value xsi: type- "CE” code=")2, 6, %" cadeSystem="2. 16. 840, 1. 113883. 3.589.5.1.3.2. 1.5"/>
<1-- @ga8J2. 6. k: —RRPBEEROAFER #2 —
_(/observatlunEvent>
{/subjectOf>
</instanceOfKind>
' </consumable>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1.3, 1b"/>
¢l— G.k.9.1i.3.1a: Time Interval between Beginaning of Drug Administration and Start of Reactlon / Event (number) Drug #2,
Reaction #1-->
¢l=- G.%.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit} Drug #2,
Reaction #1 -->
<actReference classCode="0BS" moodCode="EVN™>
¢jd root="154ebB889-958b-4512-a02f-42d4d6F4657E"/>
</actReference>
</outboundRe£at10nsh1p1>
<putboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k. 9. 1i.3.2b"/>
¢l-— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #1 —>

¢le= G.k.9.i.3.2b! Time Interval between Last Dose of Drug and Start of Reaction / Bvent {unit) Drug #2, Reaction #1 —>
{actReference classCode="0BS" moodCode="EVN™> '
{id root="154ebB89-958h-45f2-a02f~42d4d6F465TE"/>
{/actReference> '
¢foutboundRelationshinl>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G, k.9.1i 3.1b"/>
. ¢)— 6. k.9.i.3. la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {number) Drug #2,
Reaction #2 ——> ' : '
¢1— 6.k.9.1.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {unit) Drug ¥2,
Rezction #2 —> -
{actReference classCode="0BS" moodCode="EVN™>
<id reot="2baa28d6-cOeB-4ebc—-93e3-5b860h3142207/>
{/actReference>
{/outboundRelationshipl?>
. ¢outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.%.9.1i.3.2b"/>
¢l— 6.k 9,i.3,2a: Time Interval between Last Doss of Drug and Start of Reaction / Event {(number) Drug #2, Reaction #2 —

¢I— 6.k 9,1, 3. 2b: Time Intervel between Last Dose of Drug and Start of Reaction / Event {unit) Drug-#2, Reaction #2 -
{actReference classCode="0BS” moodCode="EYN™> :
. €id root="Zhan2Bd6-cBeB-4eGc-83e9-5b860b3142207 /)
{/actReference>
{/outboundRelationshipl>
LoutboundRelationshipl typeCode="SAS™>
<pauseQuantity valve="10" unit="G. k. %.1i.3. 16"/>
{I— G.k.9.1i.3. 1a: Time Interval between Beginning of Drug Administratien and Start of Reaction / Event (number) Drug 2,
Reaction #3 —> i
¢!— G.k.9 1i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit) Drug #2,
Reaction #3 —> ' . .
<actReference classCode="0BS" moodCode="EVN"™>
'+ €id root= 3n8626ch—Bf1b—4eaB—BaOf-eﬂff3443ﬂadf >
{factReference’
</outboundRelationshipl> .
<authoundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢!— G.k.9.1,3.2a;r Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reactien #3 —
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Reaction #4 ~=>

Reaction #4 —>

Reaction #5 —> .

Reaction #5 —>

Reaction #6 ——>

Reaction #6 ——>

Reaction #7 ——>

Reaction #7 —>

¢l— 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reactien / Event (unit) Drug ¥2, Reaction #3 —>
<actReference classCode="0BS” moodCode="EVN™>
{id- root="3a8626ch~9f1b-4eaB-Ba0i-e0f £34430adf” />
<{/actReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3. 1b"/>
¢l== G,k.9.i.3.1a: Time Interval between Beginning of Prug Administration and Start of Reaction / Eveni (number) Drug #2,

¢l— G.k.9.i.3.Ib: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit) Drug #2,

{actReference classCode="0BS” moodCode="EVN™>
{id root="2e99840f-08b4-£59c-80ff-ddR415f4f8a5"/>
{/actReferanced
</outboundRelationshinl>
¢outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G. k 8 i.3.26"/>
¢l== G, k.9.i.3.2a Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug #2, Reaction #4 —

¢l=- G,%.9.i.3. 2b: Time Interval between Last Doss of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #i4 ~=>
CactReference classCode="0BS" moecdCode="EVN">
<id root="2¢99840f-(8b4-499c—-80ff~dd8415£4£8a5"/>
¢/actReference>
</outhoundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k.9, i,3.1b"/>
¢l— G.% 9.1, 3, 1a: Time Interval between Begmnmg of Drug Aduinistration and Start of Reaction / Event (number) Drug #2,

¢l— 6.% 9.1.3. 1b? Time Interval between Beginning of VDrug Administration and Start of Reaction / Event (unit} Drug #2,

' CactReference classCode="0BS" mocdCode="EYN">
<id root=" 107l064c—cf10-433b-83¢I-'34f9ddh7ea&d /)
</actReference>
</outboundRelationshipl>
CcutboundRelationshipl typeCade="SAE™>
<paugeQuantity value="10" unit="G. k.9.i.3.2b"/>
¢{l— 6.%.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #5 —-

¢l=— G.%.9.i. % 2b: Time Interval between Last Dose of Drug and Start of Reaction / Bvent (unit) Drug #2, Reaction #5 —>
CactReference classCode="0BS" moocdCode="EVN™>
<id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd”/>
</actReference>
</outhoundRelationshipl>
{ecuthoundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9,i.3. 1b"/>
<l~- G.%.9.1.3. la: Time Interval betwedn Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,

¢l-— G.%. 9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2,

CactReference classCode="0BS" moodCode="EVN™>
<id root="1f927283~10b6~4334-9d43-e026640fb1BE"/>
{/actReference>
</outboundRelationshipl>
<outboundRelaticnshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
{l== G, k.9.i.3.2a Time Interval hetween Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #6 —

¢l—= G,k 0.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #6 —>
<actReferance classCode="0BS” moodCode="E¥N">
<id root="1f927283-10b6-4334-8d43-=926640fh18E"/>
</actReference>
{fautbaundRelationshipl>
{outboundRelationshipl typeCode="5AS">
{pauseQuantity value="L0" unit="6.k.9.1i.3.1b"/>
¢l— 6.k 9, 1.3. 1la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {number) Drug #2,

d— 6.k. 9. 1.3, 1b: Time Interval between Beginning of Drug Administration and Start of Reactien / Event {unit) Drug 42,

CactReference classCode="0BS" wmoodCode="EVN"™>
<id reot="e0342069-38be—423f-h6bb-celdbe279d8e™/>
{factReference>
</outboundRelationshipl>
<outhoundRelationshipl typeCode="SAR">
<pauseQuantity value="10" unit="G. k. 9.i.3, 2b"/>
¢!— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Heaction / Event (number) Drug #2, Reaction §7 —
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Reaction #8 ~->

Reaction #8 —>

11 22">

¢I— .k, 9,1,3.2b! Time Interval between Last Dose of Brug and Start of React:on / Bvent (unit) Drug #2, Reaction ﬂ? —3
{actReference classCode="0BS" moodCode="EVN™>
¢id reot="e0342969-38be-423f~b6bb~celdbc2T9d8e" />
{/actReference>
¢/cutboundRelationshipl>
<putboundRelatiohshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k.9.1.3.16"/>
¢<!— G.k.9.i.3. la: Time Interval between Beginning of Drug Admimistration and Start of Reaction / Event {nunber) Drug #2,

¢l G, k.9.1.3.1b: Time Interval between Beginning of Drug Adiinistration and Start of Reaction / Event (unit) Drug 42,

<actReference classCode="0BS™ moodCode="EVN">
¢id root="al6he(92-8070-426d-af04-6863263443e07 /> ’
¢/nctReference’
</autboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1i.3, 2b"/>
¢<]— 6.k.9.1i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #8 —

{l— 6.k, 9,i.3.2b: Time Interval between Last Dose of Drug and Start of Reactmn / Bvent (unit) Drug #2, Reaction #§ —>
<actReference classCode="0BS" moodCode="EVN™>
<id root="albhe092-8070~426d-af04-686326344320"/>
{factReference
¢/outboundRelationshipl)> '
<outhoundRelationghip? typeCode="PERT™>
<ohservation classCode="CBS" moodCode="EVN™>
¢eode code="6" codeSystem="2, 16, 840, 1. 113883. 3, 98¢, 2, 1, 1. 197 displayName="blinded”/>
{value xsi!type="BL” value="true”/>
¢]— G. k. 2.5: Investigational Product Blinded #2 —>
{/ehservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
¢— G. k. 4.1 ! Dosage and Relevant Information (repeat os necessary) #2-1 —>
¢substanceAdninistration classCode="SBADM" moodCode="EVN">
Ctext>G. k. 4. 1, 8</Text)
<|— G.k 4. r. 8 Dosage Text #2-L —>
<effectiveTime xsi:type="IVL_TS7>
{low value="20080101"/>
{!— G.k.4.r. 4: Date and Time of Start of Drug #2-1 —>
¢high value="200901017/>
<}— G.k.4.1.5: Date and Time of Last Adml.mstratmn 2= —>
{/effectiveTime>
<routeCpde code="G.k.4.r.10.2b" codeSystem="2. 16. 840. 1, 113883.3.989.2. L. 1. 14 codeSystemVersion="G. k. 4. r. 10, 2a™>
¢1—— G. k. 4.1. 10, 2a: Route of Administration TermID Version Date / Number #2-1 —>
¢{1— G.k,4,r.10.2b! Route of Administration TermID #2-1 —>
{originalText>C. k. 4. 1. 10, 1{/originalText>
¢le= G, k. 4.1.10. 1: Route of Administration (free text) #2-1 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b7/>
¢]— G.k. 4.1, 1a Dose (nuzher) #2-1 —>
¢|— G.k. 4.1, 1b: Dose {unit) #2-1 —=>
{consumable typeCode="CSH">
{instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT" detex‘m1nerCode- INSTANCE™>
{LotNumberText>G. k. 4. r. 7¢/1otNunberText>
<}== G.k.4.1.7: Batch / Lot Number #2-] -->
</preductInstancelnstance> -
Ckind0fProduct classCode="WMAT" determinerCode="KIND™>
(formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DeseForn” codeSystemVersion="G.k.4.r.9.2a">
¢l— 6.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number H2-1 -~
¢~ G.k. 4.1.9. 2b: Pharmaceutical Dose Form TernID #2-1 —>
CoriginalText>G, k. 4. r. 9. 1</oxiginalTaxt>
<l—~ G.k. 4:r.9.1: Pharmaceutical Dose Form (free text) #2-1 —>
</farmCodal
</kindOfPreduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR™>
Cohservation ¢lassCode="0BS" moodCode="EVN">
<code Gode="28" codeSystem="2. 16. 840. 1. 113883, 3, 980. 2. L. 1. 18" displayName="parentRouteOfAdninistiration”/>
¢value xsi:type="CE” code="G.k.4.r. 11, 2b* codeSystem="2, 18. 840. 1. 113883. 3. 680. Z. L. 1, 14" codeSystenVersion="G. k. 4.1,

<l== G.k.4.r.11.2a: Pavent Route of Administration TermID Versien Date / Number §2-1 —>
¢l— G.k 4.r.11,2b: Parent Route of Adwinistration TermID #2-1 —>
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CoriginalTextdG k. 4. r. 11. 1¢/originalText
¢! G.k, 4. r. 11,17 Parent Route of Administration (free text) #2-1 —>
¢/value>
¢/ohsarvation>
{/inboundRelationship>
</substanceAdninistxation?
</outboundRelationship2>
{outhoundRelationship2 typeCode="COMP™>
¢J== G.k.4.1: Dosage and Relevant Information (repeat as necessary) #2-2 -—>
{substanceAdministration classCode="SBADN" meodCode="EVN™>
{text>G. k. 4. r. BS/text>
¢l=- G.%.4.r.8: Dosage Text H2-Z —>
KeffectiveTime xsi:type="IVL_TS™>
¢low value="20080101%/>
¢l— G.k 4,r.4: Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k.4.r.6b"/>
¢l== G.k.4.r.6a: Duration of Drug Administration (number) #2-2 —>
<l— G,k 4,r. 6b: Duration of Drug Administration {unit) #2-2 —>
{/effectiveTime?
{reuteCode code="G.k.4.r.10,2b" codeSystem="2. 16. B40. 1. 113883, 3,989, 2, 1. 1. 14" codeSystenVersion="G. k. 4, 1. 10, 2a™>
¢l— G.k 4,r. 10.2a: Route of Administration TernID Version Date / Number #2-2 —>
¢l— G.k.4.r.10.2b: Route of Administration TermID #2-2 —>
<originalText>G. k. 4. 1. 10. I</originalText>
<!— G.k.4.1r.10.1: Route of Administration (free text} #2-2 —>
</routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
{l— G.k.4.r. 1a Dose (number) #2-2 —>
¢l== G k. 4.1. 1b: Dose (unit) #2-2 —>
{constmable typeCode="CSM">
¢instanceOfKind classCodes"INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7¢/lotNumberText>
¢l G.k.4.r.7: Batch / Lot Number #2-2 —>
¢/productInstancelnstance>
<kindOfProduct classCode="MMAT® determinerCode="KIND™>
(fornCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm™ codeSystemVersion="G.k.4.r.9.2a™>
¢!— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 —>
<l~= G.k.4.r.9.2b: Pharmaceutical Deose Form TermID #2-2 —>
<originalText>G. k 4, r. §. 1</originalText>
¢1— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-2 -->
{/FormCode>
</kind0fProduct>
</instance0FKind>
{/consumable>
{inboundRelationship typeCode="REFR™> \
{observation classCode="0BS" moodCode="EVN™>
<code code="28" codeSysten="2. 16.540. 1, 113883. 3. 589. 2. 1. 1. 18" displayName="parentRouteOfAdministration”/>
¢value xsiitype="CE" code="G.k.4.r.11.2b" codeSystem="2. 16,840, 1. 113883, 3,989, 2, 1.1, 14" codeSystenVersion="G. k. 4.r.

11.2a">
<|— &k 4.r, 11, 28! Parent Route of Administration TermlD Version Date / Number #2-2 —>
<l— G.k.4.7. 1L, 2b; Parent Route of Administration TernID #2-2 —>
<originalText?G. k. 4.r. 11 1<{/eriginalText>
¢l— G.k.4.1.11. 1t Parent Route of Administratien (free text) #2-2 —>
{/value>
{/observation>
{/inboundRelationship®
</substanceAdninistration>
</vutboundRelationship2>
- {outboundRelationship2 typeCode="COMP™>
¢l—= G, k. 4. r: Dosage and Relevant Information (repeat as necessary) #2-3 -—>
{substanceAdministration classCode="SBADM™ mocdCede="EVN™>
<text>G. k. 4. 1. 8{/text> )
¢l— G,k 4.1.8: Dosage Text #2-3 —>
Ceffectivelime xsi:type="IVL_TS™>
<width value="4" unit="G.k.4.r.6b"/> .
¢!— G.k 4. r. 6a: Duration of Drug Administration (npumher) #2-3 —>
¢<l— G.k.4.r.6b: Duration of Prug Administratien (unit} #2-3 — -
<high value="20090101"/>
{l=- G.k.4.r.5: Date and Time of Last Administration #2-3 ~->
</otfectiveTime)> )
{routeCode code="G.k. 4. . 10, 2b” codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 14" codeSystenVersion="G. k. 4, r, 10.2a™>
{l— G.k.4.1.10,2a: Route of Administraticn TernID Version Date / Number §2-3 -=>
<l—— G.k.4.r.10.2b! Route of Administration TernmID #2-3 —>
. CoriginalText>G. k. 4. r. 10, 1</originalText>
¢|— G.k.4.x.10.1: Route of Administration (free text) #2-3 —
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¢/routeCade?
{doseQuantity velue="10" unit="G.k.4d.r. 1b"/>
¢|=- G.k.4.r. 1a Dose (number) #2-3 —>
{l— G.k.4.x.1b: Dose (unit) #2-3 —>
{consumable typeCode="CSH™>
<instance0fKind classCode="INST™>
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<lotNMumherText>G, k. 4. r. 7¢/lotNumberText>
{!— 6.k 4.1.7: Batch / Lot Number #2-3 —>
{/productInstancelnstance> '
<kindOfProduct classCode="MMAT" determinerCode="KIND™>

(fornCode code="G. k. 4.T.%. 2b” codeSystem="TBD-DoseForn” codeSystemVersion="G.k.4.r.9.2a™>
{l— G. k. 4.r.9.2a: Pharmaceutical Dose Form TerwID Version Date / Number #2-3 —>
¢l=- G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-3 —>
CariginalText>G. k. 4. 1.9, 1{/originalText> '
{]=- G.k.4.r.9.1: Pharmaceutical Dose Form (free text) H2-3 —>
{/fornCode>
{/kind0fProduct>
{/instancelfKind>
{/eonsumable>

<inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS” moodCode="EVN™>
¢code code="28" codeSystem="2, 16. B40. 1. 113883, 3. 989, 2, 1. 1. 13" displayName="parentRoute0fAdministration”/>
i <valuo xsi:type="CE” code="G.k. 4.r.1L 2b* codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. L, 1. 14" codeSystenVersion="G. k. 4. 1.
11.2a"> ’
¢}— G.k.4.xr. 11, 2a: Parent Route of Administration TermID Yersion Date / Number #2-3 -->
¢1— G.k.4.r.11.%h: Parent Route of Administration TermID #2-3 ~=>
CoriginalTexiG. k. 4. r. 11, 1</originalText>
<~ G.k.A.r.11.1: Parent Route of Administration (free text) #2-3 —>
</value>
{/observation> .
¢/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode=" COMP™>
¢1— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-4 —>
{sthstanceAdministration classCode="SBADM" moodCode="EVN">
<text>G. k. 4. 1. 8</text>
{!— G.k. 4. 1.8: Dosage Text #2-4 ~=>
{effectiveTime xsi:type="SXPR_TS™>
Ccomp xei:type="PIVL_TS™>
{period value="10" unit="G.k.4.r.3"/>
¢l== G.k.4.r.2: Number of Units in the Interval #2-4 —>
¢<l— G.k 4.r.3: Definition of the Time Interval Unit #2-4 —>
</comp?
{comp xsiitype="IVL_TS" operator="A">
<low value="20090101"/>
¢I— G,k £ 1. 4: Date and Time of Start of Drug #2-4 —> .
</comp>? .
{/effectiveTime>
CrouteCode code="G. k. 4. r. 1, 2b” codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. }4” codeSystemVersion="G. k. 4.r. 10. 2a™>
<}— G.k.4.r.10, 2a:. Route of Administration TermID Version Date / Number #2-4 —> .
{}— G.k 4.r.10.2b: Route of Administration TermID #2-4 -->
CoriginalText>G. k. 4. r. 10, 1{/originalText>
=G,k 4. r. 10,12 Route of Administration (free text) #2~4 —>
</routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
== G.k. 4.1. 1a Dose (number) #2-4 -=>
= G. k. 4.r. 1b: Dose (unit) #2-4 —>
{consumable typeCode="CSM™>
{instance®fKind classCode="INST™>
{productInstanceInstance classCode="MMAT® determinerCade="INSTANCE™>
{lotNumberText>G. k. 4, r, 7</lotNumbexText>
¢l G,k.4.r.7: Batch / Lot Number #2-4 —>
</productInstancelnstance? s
(kind0fProduct classCode="MMAT® determinerCode="KIND">

¢fornCode code="G. k. 4.1.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k 4.r.9. 2a">
¢}— 6.k, 4,1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 —>
. <1~- G.k.4.r. 9. 2b: Pharmaceutical Dose Form TermID H2-4 —>
' <eriginalText>G. k. 4.1.9. 1</originalText>
¢l== G.k.4,r.9.1: Pharmaceutical Dose Form (free text) #2-4 —
{/formCode>
</kind0fProduct>
</instance0fKind>
</consumabla_>
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<inboundRelationship typeCades"REFR™>
{observation classCode="0BS” moodCode="EVN™>
{code code="28" cadeSystem="2, 15, 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
{value xsi:type="CE" code="G.k 4.r.1L.2b" codeSystem="2, 16,840, 1, 113883. 3. 089.2. 1. 1. 14" codeSystenVersion="G. k. 4.r.
11.2a™> :
<l— G,k 4.1, 11.22: Parent Route of Administration TermID Yersion Date / Number #2-4 —>
¢}-— G.k.4.r. 11, 2b: Parent Route of Administration TermID #2—4 —
{originalText?G. k. 4. r. 11, 1</original Text>
¢l— G.k.4.1. 11, 1: Parent Route of Administration (free text) H2- 4 —>
{/value>
</chservation>
</inboundRelationship»
</substanceAdministration> .
</outboundRelationship2>
<outboundRelationship? typeCode="GOMP™>
¢{!— G.% 4. r: Dosage and Relevant Information (repeat as necessary) H2-5 —>
{substanceAdninistration classCode="SBADM" moodCode="EVN™>
<textdG. k. 4. r, 8¢/text?
¢l— G,k 4,1.8: Dosage Text #2-5 ~—>
CeffectiveTime xsi:type="SXPR_TS">
{comp xsiltype="PIVL_TS™>
{period value="10" unit="G.%k 4.r.37/>
(lu= G.k.4.71.2: Number of Units in the Interval #2-5 —>
¢I— G.k.4.r.3: Definition of the Time Interval Unit #2~5 -=>
</comp>
{comp xsi:type="IVL_TS" operator="A">
<high value="20090101"/>
I~ G.k 4.r.5: Date and Time of Last Administration #2-5 ——>
</comp>
, {/effectiveTime>
{routeCode code="G, k. 4. r. 10, 2b" codeSystem="2, 16, 840, 1. 113883, 3, 989. 2, 1. 1. 14" codeSystem¥ersion="G.k. 4.1, 10. 2a™>
<!— G.k.4.1. 10, 2a: Route of Administration TermID Version Date / Number #2~5 —>
<l== G.k.4.r.10. 2b: Reute of Administratien TermID #2-5 —>
CoriginalText>G. k. 4.1, 10. [</originalText>
¢t— G. k. 4.1. 10, 1: Route of Administration (free text) #2-5 —>
{/routeCode)
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
{l== . k. 4.r. 1a Dose (number) #2-5 —>
{l— G.k. 4.r.1b: Dose {unit) #2-5 —>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
{productInstancelnstence classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
I G.k 4.1.7: Batch / Lot Number #2-5 —>
</productInstanceIlnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
<fornCode code="6.k.4.r.9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.%k. 4.r.9.2a">
€)— G.k. 4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5 -~>
¢l— G.k. 4.1.9.2b: Pharmaceutical Dose Form TermID H2-5 —>
<originalText>G. k. 4, r. 9. 1</originalTexty
¢<!— G.X.4.r.9.1: Pharmaceutical Dose Form (free text) #2-5 —> .
{/formCode>
</kindOfPreduct
¢/instance0fKind>
</consumable>
<inboundRelstionship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
Ceode code="28" codeSystem="2. 16, §40, 1. 113883, 3. 989, 2. 1. 1, 19" displayName="parentRouteQfAdministration”/>
Cvalue xsiitype="CE” code="G.k.4.r. 11.2b7 codeSystem="2. 16, B40, 1, 113883, 3, 989.2.1. 1. 14" codeSystenVersion="G. k. 4, r,
11, 227>
¢l— G. k. 4,1, 11, 2a: Parent Route of Administration TermID Version Date / Number #2-5 —>
¢]—- G.k.4.r.11.2b: Parent Reute of Administration TermID #2-5 —>
CoriginalText»G. k. 4. r. 11, 1</originalText> .
¢l— G.Lk.4.1. 15 1: Parent Route of Administration (free text) #2-5 —>
{/value> '
{/chservation}
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
{l== G,k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. b 4. x. 8¢/ text>
¢!~ G.k. 4.r.8: Dosage Text H#2-5 —>
CeffectiveTime xsi:type="SKPR_TS™>
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(t.:amp xsi:type="PIVL_TS™>
{period value="10" unit="G.k.4.r.3°/>
{— G.k.4.r.2: Number of Units in the Interval #2-6 —>
{l— Gk 4.r.3: Definition of the Time Interval Unit #2-6 -—>
- {/comp>
{comp Xsi:type="IVL_TS™ opsrator="A">
<width value="4" unit="G. k. 4.r1.6b"/>
{l— 6.k 4.r.6a: Duration of Drug Administration (number) ﬁ2—6 —
¢!== G.k.4.1.6b: Duration of Drug Administration (unit) #2-6 —>
</eompy .
{/effectiveTimed .
¢rauteCode code="G.k. 4. 1. 10 2b” codeSystem="2.16.84C. 1. 113883, 3,989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a">
¢l— G.k 4.1r.10,2a: Route of Administration TermID Version Date / Number ¥2-6 —>
. {l== G, % 4.r.10.2b: Route of Administration TermID #2-6 —>
’ CoriginalText>G. k. 4. r. 10. 1</originalText>
¢l=- G.k.4.r.10.1: Route of Administratien (free text) #2-6 —>
+ </routeCode>
¢doseQuantity value="1¢" unit="G.k.4.r.1b"/>
¢l— €.k 4.r.1a Dose (number) #2-6 ~->
¢}— G.k 4.r.1b: Dose (unit) #2-6 —>
{consumable typeCode="CSM">
<instanceOfKind ¢lassCode="INST™> . ;
- <productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™> !
<lotNumberText>G. k. 4. r. 7¢/lotNunberText>
<!— G.k.4.r.7: Batch / Lot Number #2-6 ——>
. {/productInstancelnstance>
<kind0iProduct classCode="MMAT" determinerCode="KIND™>
{fornCode code="G.k.4.r.9,2b" codeSysten="TED-DoseForm” codeSystemVersion="G.k.4.r:9.2a">
(l-- G. k. 4 r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 —>
¢l== G.k 4. 1.9.2b: Pharmaceutical Dose Form TernID #2-6 —>
CoriginaiText>G. k. 4. r. 8. 1<{/originalText>
{}— G.k.4.r.9.1: Pharmeceutical Dose Form {free text) #2-6 —>
</fornCode>
</kind0fProduct>
</instance0fKind>
</consumable?
<inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883, 3,980, 2, 1. 1. 19" displayName="parentRouteOfAdministration”™/>
¢value xsiltype="CE" code="G.k.4,r.11,2b" codeSysten="2. 16, 840, 1. 113883, 3. 989. 2, L. L. 147 codeSysteaVersion="G.k. 4.r.
11. 2a">
¢l— G.k.4.r.11. 2a: Parent Route of Adeinistration TermID Version Date / Number #2-6 ——>
¢l— G.k.4.r.11.2b: Parent Route of Administration TermID §2-6 —>
<originalText>G. k. 4. 1. 11, 1</original Text>
<{l— G.k.4.r. 11, 1: Parent Route of Administratiocn (free text) #2-6 —>
¢/value>
¢/observation>
{/inboundRelationship>
¢/substanceAdministration>
{/autboundRelationship2>
<outboundRelaticnship? typeCode="COMP™>
¢l— G.k.4.r: Dosage and Relevant Information (repeat as necessary} #2-7 —>
¢substanceAdministration classCode="SBADW" moodCode="EVN™>
{text>G. k. 4. T, 8/text?
¢l-= G. k. 4.r.B: Dosage Text #2-7 —>
<effectiveTime xsi:type="PIVL_TS™>
{period value="10" unit="G. k.4.r.3"/>
<l— G k.4 r.2: Number of Units in the Interval #2-7 —>
{!— G.k.4.1.3: Definition of the Time Interval Unit #2-7 —>
{/effectiveTime>
(routeCode code="G.k.4.r. 10.2b" codeSystem="2, 16, 840. 1. 113883, 3. 989, 2. 1. 1. 14" codeSystemVersion="G. k. 4.r. 10, 2a™>
{I— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-7 =~>
<l— G.k.4.1. 10, 2b: Route of Administration TermID #2-7 —>
{originalText>G. k. 4. 1. 10, 1</originalText>
<|— G.k.4.r.10.1: Route of Administration (free text) #2-7 —>
</routeCade>
{doseQuantity value="10" unit="5.k. 4.1 1b"/>
' . <l— G.k. 4.7, 1a Dose (number) #2-7 —
{l== G, k.4.r.1b: Dose (unit) #2-7 —>
{consumable typeCode="CSM™> .
{instance0fKind classCode="INST™>
¢productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText?
<l=- G.k.4.1.7: Batch / Lot Number #2-7 —>
</productInstancelnstanced
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<kindOfProduct classCode="MMAT” determinerCodes"KIND™>
fornCode code="G. k. 4. 1.9, 2b" codeSysten="TBD-DoseForm” codeSystemVersion="G.k, 4. r. 9.2a">
{l-= G,k.4. 1.9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-7 -—>
<l== G.k.4.71.9.2b: Pharmaceutical Dose Form TermID #2-7 —>
<originalText?G. k. 4. r. 9. 1{/originalText> .
{l— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-7 —>
</fornCode>
</kind0fProduct>
</instance0fKind>
{/consumable?
<inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCade="EVN">
<eode code="28" codeSysten="2. 16, 840, 1. 113883. 3. 980. 2. 1. 1. 19" displayName="parentRouteOfAdninistration”/>
(value xsi:type="CE” code="G.k. 4.r.11.2b" codeSystew="2. 16. 840, 1. 113883, 3. 980, 2. 1. 1, 14" codeSystemVersion="G. k. 4.r.
11, 22"> ) ’ ‘
{}= G.k. 4.r. 11.2a: Parent Route of Administration TermID Version Date / Number #2-7 —>
¢l-- G,k 4.r. 11, 2b: Parent Route of Adninistration TernID #2-7 —>
<originalText>G. k. 4. r. 11. 1{/original Text>
¢l-- G.k.4.r. 11.1: Parent Route of Administration (free text) #2-7 —>
{/value>
{/observation}
{/inboundRelationship
{/substanceAdministration>
{/outboundRelationship2>
{outbotndRelationship2 typeCode="COMP™>
¢!-— G.k.4. r: Dosage and Relevant Infarmation (repeat as necessary) #2-8 —>
{substanceAdministration classCode="SBADH" moedCede="EVN">
{text>G. k. 4.r. B¢/ textd> ’
¢l=- 6.k 4.r.8: Dosage Text #2-8 —>
{offectiveTime xsi:types"IVL_TS™>
<low value="20000101"/>
¢!~ G.k.4.r.4: Date and Time of Start of Drug #2-8 -~>
{/effectiveTime>
<routeCade code="G.k.4.r. 10.2b" codeSystem="2, 16. 840. 1. 113883, 3. 985. 2. 1. 1. 14" codeSystemVersion="G, k, 4, r, 10, 2a">
<l— G.k.4.r. 10.2a: Route of Adninistration TermID Version Date / Number #2-8 —>
¢l=- G.k.4.1.10.2b: Route of Administration TermID #2-8 -—>
<original Text}G, k. 4, r, 10, 1{/originalText>
{l-- G.k.4.r.10. 1 Route of Administration (free text) #2-8 —>
</routeCode> ’ '
<doseQuantity value="10" unit="G,k 4,r. 1b"/>
¢l— G.k.4.r, 1a Dose {number) #2-8 —>
v 4l— G.k.4.r.1b: Dose (unit) #2-8 —>
{consumable typeCode="CSM™>
<instance0fKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNurherText>G. k. 4 r. 7¢/lotNumberText>
<{l— G.k.4.r.7: Batch / Lot Number #2-8 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{fornCode code="G. k. 4.1.9.2b" codeSysten="TBD-DoseForn” codeSystenVersion="6.k: 4.r.9. 2a">
¢l— G,k 4.1, 9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 —>
<I-- G.k. 4.r.9. 2b: Pharmaceutical Dese Form TermID #2-8 —>
<originalText>G. k. 4, r. 9, 1{/originalText>
¢l-- G. k. 4.7.9. 1: Pharmaceutical Dose Form (free text} H2-8 —>
</formCode>
{/kind0fProduct>
</instance0fKind>
{/consunable>
<inhoundRelatienship typeCode="REFR™>
{observation classCede="0BS" moodCode="EVN">
{cade code="28" codeSystem="2. 16.840. 1, 113883, 3,989, 2. 1. 1. 19" displayName="parentRouteOfAdministration”/>
¢value xsi:type="CE” cede="G.k.4.r.11. 25" codeSystsm="2.16. 840. 1. 113883, 3. 989. 2. L. 1. 14" codeSystenVersion="G. k. 4. 1.
11.2a">
{]— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-§8 —>
¢l— G.k.4.r. 11, 2b: Parent Route of Administration TermlD #2-8 —>
<originalText>G. k. 4. r. 11, 1{/originalText>
Ctw~ G, k.4,r. 11.1: Parent Route of Administration (free text) #2-8 —>
{fvalue> !
</abservation)>
</inboundRelationship>
{/substanceAdministration>
</outboundRalationship2>
<outbeundRelationship2 typeCode="COMP™>
<l=~ G.k.4.r: Dosage and Relevant Information {repeat as necessary) #2-9 ~—>
{substanceAdministration classCode="SBADM™ moodCode="EYN™>
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{textdG. k. 4. r. 8</text>
¢l— G.k 4.r.8: Dosage Text #2-9 —>
CeffectiveTime xsi:type="IVL_TS™>
<high value="200001017/>
I~ G.k.4.r.5: Date and Time of Last Administration #2-9 =
<feffectiveTimed>
(routeCode code="G. k.4, T. 10, 2b" codeSystem="2, 16. 840. L. 113883, 3,989, 2, 1, 1, 14" codeSystenVersion="6. k. 4.r. 10 2a">
¢l— G.k.4.1.10,2a: Route of Administration TermID Version Date / Number #2-9 —>
¢l-- G.k.4.r.10.2b: Route of Administration TermID #2-0 —>
<ariginalText>G. k. 4, r. 19, 1</originalText>
¢l G.k.4.7.10, 1: Route of Administration (free text) #2-9 -=>
{/rduteCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
¢{— 6.k 4. 1. la Dose (number) §2-9 —>
{l-= G.k 4. r. 1b: Dose (unit} #2-9 —>
{consumable typeCode="CSM™>
<instanceQfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotRumberText>
<l— G.k.4.r.7: Batch / Lot Number #2-8 —>
{/productInstancelnstance>
<kindDfProduct classCode="MMAT" determinerCode="KIND">
¢fornCode code="G.k.4.r.9.2b” codeSystem="TED-DoseForn” codeSystem¥ersion="G.k.4.1.9.22">
¢!— G.k.4.r.9. 2a: Pharmaceutical Dosc Form TermlD Version Date / Number #2-9 —>
<}— G.k.4.1,9,2b: Pharmaceutical Dose Form TernID #2-9 -=>
CoriginalText>G. k. 4. r. 8. 1{/originalText>
¢!— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-9 —>
/tfornCode>
</kind0fProduct)
</instance0fKind>
{/consumable>
{inboundRelationship typeCede="REFR™> )
{observation classCode="0BS" moodCode="BVN">
<code code="28" codeSystem="2, 16. 840, 1, 113883, 3. 989. 2. 1. L. 19“ displayName="parentReuteOfAdministration”/>
¢value xsiitype="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.B40. . 113883, 3.989. 2. 1. 1. 14" codeSystenVersion="G.k. 4.
11.2a™>
¢l== G k. 4.r.11. 2a! Parent Route of Administration TernmID Version Date / Number #2-9 -->
<|— G.k.4.r, 11 2b: Parent Route of Administration TermID #2-3 —>
<originalTextG. k. 4. 1. 11, 1¢/originalText>
{l— G.k, 4,r.11. 1: Parent Reute of Adwinistration {free text) #2-9 —>
{/value)
</observation>
{/inboundRelationship>
{/substanceAdministration>
<{/outboundRelationship2>
<outhoundRelationship? typeCode="COMP™>
¢!~ G.k.-4.1: Dosage and Relevant Information (repeat as necessary).§2-10 —>
{substanceAdministration classCode="SBADM™ moodCode="EVN™>
{text>G. k. 4. r. 8</text>
¢l— G.k.4.r.8: Posage Text #2-10 —>
CeffectiveTime xsittype="IVL_TS">
{width value="4" unit="G. % 4.r,6b"/>
¢l== G. % 4.r. 6a: Duration of Drug Administration (number) #2-10 —>
{l== G.% 4,r.6b: Duration of Drug Administration (unit) ¥2-10 —>
</effectiveTime>
CrouteCode code="G. k. 4.T. 10. 2" codeSysten="2. 16. 840, 1, 113883, 3,989, 2. 1. 1. 14" codeSystenVersion="G. k. 4.r.10.2a">
<l— G.k.4.r. 19, 2a: Route of Administration TermID Version Date / Number #2-10 —>
¢l== G, k. 4,r.10.2b: Route of Administration TermID #2-10 -->
CoriginalText>G. k. 4. r. 10. 1</originalText>
¢|— Gk 4.1.10.1: Route of Administration {free text) #2-10 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 16"/
<] G.k.4.r. la Dose (number} #2-10 —>
{l== 6.k 4.r.1b: Dose (unit) #2-10 —>
{consumable typeCode="CSM"> ’
(mstanceOfKind classCode="INST™>
(productInstanceInstance classCode="MMAT" determinerCode=" INSTJ\NCE >
{lotNumberText>G. k. 4, r, 7</lotNumberText>
¢l— G.k.4.r.7: Batch / Lot Number #2-10 —>
</productInstancelnstance’
<kindDfProduct classCode="MMAT" determinerCode="KIND™>
{fornCade code="G. k. 4.r.9.2h" codeSystem="TBD-DoseForm” codeSystenVersion="G.k.4.r.9.2a">
<l-- 6.k 4.1.9. 2a: Pharmacettical Dose Form TermID Version Date / MNumber #2-1C -—>
"¢~ 6.k .41, 9 2b: Pharmaceutical Dose Form TermID #2-10 —>
{originalText)G. k. 4. r. 8. 1{/originalText>
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<l— 6.k.4.7.9.1% Pharmacentical Dose Form (free text) #2-1¢ —
</formCode)
</kind0fProduct>
</instanceOfKind>
{/consumable>
¢inboundRelationship typeCode="REFR">
<observation classCede="0BS” mocdCode="EVN">
<code code="28" codeSysten="2. 16. 840, 1. 113883, 3,989, 2, 1. 1. 19 displayName="parentRouteOfAdministration”/>
Cvalue xsi:type="CE” code="C. k. 4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 14" codeSystenVersion="G.k. 4.r.
11.2a™>
{!— G.k.4.r. 1L 2a: Parent Route of Adwinistration TermID Version Date / Number $2-10 -->
{l—— G.k.4.r. 1L 2b: Parent Route of Administration TermlD #2-10 —>
<originalText>G, k. 4., 11. 1</originalText>
¢l— G.k.4.r.11.1: Patent Route of Aduinistration (free text} #2-10 -->
<fvalue>
{/observation>
¢/inboundRelationship>
{/substanceAdninistration>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="SUMM™>
{observation classCode="0BS" moodCode="EVN™>
{code code="14" codeSystem="2, 1. 840. 1. 113883.3.989.2.1.1.19" dlsplayName- cumulativeDoseToReaction”/>
<value xsi:type="PQ” value="10" unit="G.k.5b"/>
¢|— G.k.5a! Cumulative Dose to First Reaction (number} #2 -->
{l— G.k.5b: Cumulative Dose to First Reaction (unit} #2 —>
{/observation>
</outboundRelationshipn2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0B5" mocdCode="EVN™>
{eode code="16" codeSystem="2. 16. 840, L, 113883, 3. 989, 2. 1. 1. 19" displayName="gestaticnPariod”/>
<value xsi:type="PQ” value="10" unit="G.k.6b"/>
¢l— G.k.6a: Gestation Periad at Time of Exposure (number} #2 —>
<l— G. k. 6b: Gestation Peried at Time of Exposure (unit) #2 —>
¢/observation> .
</outhoundRelationship2> .
SoutboundRelationship2 typeCode="FERT™>
{ohservation classCode="0BS" moodCode="EVN">
{code cade="31" codsSystem="2. 16, 840, 1, 113883, 3,989, 2, 1, 1, 197 displayName="recurrancedfReaction”/>
<value xsi:type="CE” code="6.k. 9,1, 4" codeSysten="2. 16.B40. 1. 113883 3. 989.2. 1. 1. 167/
<l— 6.k, 9.1, 4: Did Reaction Recur on Re-administration? Drug ¥2, Reaction #1 —>
<outboundRelationshinl typeCode="REFR">
{actReference classCode="0BS™ mondCode="EYN">
” ' ¢id root="154ch§89-058b=45§2~a02f-42d4dBI4657 />
{/actReference?
</outboundRelationshipl>
{/chservationd
</outhoundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
¢code code="31" codeSystem="2, 16. 840. 1. 113683, 3. 989. 2. 1. 1. 19" displayNeme="recurrance0fReaction”/>
{value xsittype="CE” code="6.k.9.1.4" codeSystem="2.16.840. 1.113883.3.989,.2, 1. 1, 167/>
¢]— G. k. 9.1, 4: Did Reaction Recur on Re-administration? Drug #2, Reaction #2 —>
{autboundRelationshinl typeCode="REFR™>
<actReference classCode="0BS" moodCode="EVN™>
<id root="2baa28d6-cOe8-4etic-03e9-5L860b3142207/>
{/actReference>
{/outboundRelationshipl>
{/chservation>
</outboundRelationship2>
{cutboundRelationship? typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
{code code="9" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1.1.197 displayName="codedBrugInformation”/>
<value xsi:type="CE" code="G.k.10.r" codeSystem="2.16.840. 1. 113883.3,989,2,1.1.17"/>
¢!~ G.k. 10.x: Additional Information on Drug {coded} (repeat as nenessanr) #2-1 —>
</observation>
</outboundRelationship2>
{outboundRelationship? typeCede="REFR"> -
<observation.classCode="0BS" moadCode="EVN">
<eode code="9" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="codedDrugInformaticn”/>
¢value xsiitype="CE” code="G, k. 10.r" codeSystem="2.16.840. 1, 13883, 3,989, 2.1,1.17°/>
¢I— 6,k 10.r: Additional Information on Drug {(coded) (repeat as necessary) #2-2 —>
{/observation>
</outbaundRelationship2>
{outboundRelationship? typeCade="REFR">
{chservation c¢lassCode="0BS" moodCode="EVN">
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<code code="2" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2, 1. 1. 19" displayName="additionalInfermation”/>
<value xsiitype="ST">G. k. 11<{/valus>
<%— G.Xk 11: Additional Information on Drug (free text) #2 —>
</observation>
<{/outboundftelationship2>
¢inboundRelationship typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
<code cods="19" codeSystem="2. 16, 840, 1. 113883, 3, 989, 2. 1. 1. 19" displayName="indicatian”/>
<value xsiitype="CE" code="G.%.7.r.2b" codeSystem="2. 16. 840. k. 113883, 6. 163" codeSystemVersion="G.k.7.r.2a">
<l— G.%. 7.r.2a: MedDRA Version for Indicatien #2-1 —>
¢l— G.k 7.r.2b: Indication (MedDRA code) #2-1 —>
<originalText>G. k. 7. r. 1{/originalText>
¢l=— G. k. 7.r.1: Indication as Reported by the Primary Source #2-1 —>
</value> ' .
<perforner typeCode="PRF">
{assignedEntity classCode="ASSIGNED">
(code code="3" codeSystem="2, 16, 840. 1. 113883, 3, 989, 2. 1. L. 21" displayName="sourceReporter”/>
{/assignedEntity>
</performer>
{/ohservation>
¢/inboundRelationship> !
¢inboundRelationship typeCode="RS0N">
{observation classCode="0BS" moodCode="EVN">
Ccode code="19" codeSystem="2. 16, B40, 1. 113883 3. 989, 2, 1. 1. 19" displayName="indication”/>
<value xsiitype="CE" code="G.k.7.r.2b" codeSystem="2, 16,840, 1. 113883. 6. 163" codeSystemVersion="G.k, 7.r.2a™>
¢l-= G,k 7.1, 2a: MedDRA Versien for Indication #2-2 —> '
¢l-— G.k.7.r.2b: Indication (MedDRA code} #2-2 —>
CariginalText>G, k. 7. r. [{/originalText>
¢!~ G.k.7.7.1: Indication as Reported by the Primery Source #2-2 —>
</value>
{performer typeCode="PRF">
<assignedBntity classCode="ASSIGNED">
¢code code="3" codeSystem="2. 16. 840, 1. 113883, 3,989, 2, L. 1. 21" displayName="sourceReporter”/>
¢/assignedEntity>
</performer>
</chservation>
¢/inboimdRelationship>
¢inboundRelationship typeCode="CAUS">
<act classCode="ACT" moodCode="EVN">
<code code="G.k.8" codeSystem="2. 16, B40. 1. 113883, 3,989,2. 1. 1. 15°/>
¢]— G,k 8: Action(s) Taken with Drug #2 —>
fact)>
</inbeundRelationship>
{/substanceAdministration>
¢/component>
{/organizer> : -
</subjectOf2>
<subjectOf? typeCode="3BJ">
{organizer classCode="CATEGORY" moodCode="EVN™>

¢code code="1" codeSystem="2, 16. 840, 1. 113883. 3. 989,5.1.3. 2. 1. ll displayName="F5BRDARE"/>
{component typeCode="COMP™> -
Cobservation clagsCode="0BS” moodCode="E¥YN™>
Ccode cade="7" codeSystem="2, 16, 840. 1. 113889, 3. 989, 5. 1. 3. 2. L. 10" displayName="/B I />

<value xsi:type="INT" value="1"/>
<l-- @gajz, 13.r. 1: FAHEE # —>
{/observation> e
¢/component>
<component typeCode="COMP™>
{chservation classCode="0BS" moodCode="EVN">
<code code="8" codeSystem="2. 16. 840, 1, 113883, 3, 9589, 5. 1. 5. 2, 1. 10" displayName="21@ B />
<value xsi:type="ED">J2, 13.r.2¢/value>
¢!— 688J2.13.1.2: ﬁﬁ&ﬁﬂ #—> ‘
</observation? .
</ccrponent’
{component typeCode="COMP">
{chservation classCode="0B5" maodCode="EVN">
- ¢eode code="9" codeSystem="2, 16. 840, 1. 113883, 3, 985. 5. 1. 3. 2. 1. 10* displayNeme="PHFEE"/>
{value xsiitype="CE" code="J2.13.r1.3" codeSystem="2. 16, 840,1.113883.3,989,5,1,3.2. L.1°/>
{]— @@8J2.13.r.3: BEIAE #1 —
{/ebgervation>
{/component>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2, 16, 840. 1. 113883, 3. 989,6.1.3. 2, L. ID d1splayName—’%{%‘P@ﬁﬂ@ﬁﬁ'/)
{value xsi:type="BL".value="true”/>
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<l 888]2. 13, r. 4: WEPDOEFOFE #1 -—>
{/observation}
</componentY
{/organizer>
¢/subject0E2>
{subject0Of2 typeCode="SB]">
{organizer classCode="CATEGORY" moodCode="EVN">
<code code="1" codeSysten="2. 16, 840, 1. 113883. 3. 989, 5. 1.3. 2. 1, 11” displayName="{AERDIATE"/>
{component typeCode="COMP™>
{cbservation classCode="0BS" mondCode— EVN™>
<cade code="7" codeSystem="2. 16. 840 1. 113883, 3. 989, 5. 1. 3, 2. 1. 107 displayName="/8 HE}HL"/>
<value xsi:typs="INT" value="1"/>
<l— @@aJ2. 13.x. 1: RHEEK #2 >
{/observation>
£/eomponent>
{component typeCode="COMP™>
Sobservation c¢lassCode="0BS” mocdCode="EYN™>
<code code="8" codeSystem="2, 16, 840, 1, 113883, 3. 989, 5.}, 3. 2. 1. 10" displayName="3#:5 /A" />
<value xsiitype="ED">J2.13.r. 2</value> ‘
<l— g@aJz. 13. 1. 2: wHRIES 42 —>
{/observation>
{/component>
<compenent typeCode="COMP™>
{observation ¢lassCode="0BS" moodCode="EVN">
<code code="9" cadeSystew="2. 16.840. 1, 113883, 3, 989, 5. 1. 3. 2. L. 10" displayName="P5E38"/>

¢value xsi!type="CE” code="J2.12.r,3" codeSystem="2.16.840. 1. (13883, 3.989.5.1.3. 2. 1. 7"/>
¢l-- @8éJ2, 13,1, 3: FASEAA #2 —
<{/observation)
</component>

{compenent typeCode="COMP™>
Cobservation classCade="0BS" maedCode="EVN">
<code cade="10" codeSystem="2. 16,840, 1, 113883, 3,089.5.1.3.2. 1. 10" displayName="{123R P OJEH| DA E"/>
<value xsi:type="BL" value="false”/>
<l— @912, 13, 1. 4: {RPOEFOHFE 42 —>
<{/observation>
</component?
{/organizer> R
¢/sub juet02> ,
{/primaryRole>
</subjectl>
{eomponent typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCode="EVN™>
<code code="20" codeSystem="2. 16. 840. I. 113882, 3,989, 2, 1.1, 19" displayName="interventionCharacterization”/>
<value xsi:type="CE” code="G.k. 1" codeSystem="2.16.840. 1. 113883, 3,989.2.1.1.137/> :
¢l— 6,k. 1: Characterisaticen of Drug Rele Drug #1 —> .
<subject2 typeCode="SUBJ">
{preductlseReference classCode="SBADK” moodCode="EVN™>
<id reat="3c91bdd5=e039-4aTa-9c30-67671b0efFed"/>
{/productlUseReference>
{/subject2>
{/caugalityAssessment>
{/component> 1
{component typeCade="COMP™> R
{causalityAssessment classCode="0BS™ moodCode="EVN">
{code code="20" codeSystem="2, 16. 840, 1. 1138832, 3. 989, 2. L. 1. 19" displayName="interventionCharacterization”/>
¢value xsi:type="CE” code="G.k.1” codeSystew="2, 16. 840. 1. 113883, 2,989.2, 1. },137/>
<l== G,k.1! Characterisation of Drug Role Drug #2 —>
{subject? typeCode="SUBJ">
{productUseReference classCode="SBADM™ moodCode="EVN">
<id root="68d6f5ce-3b3b—-45¢7-92dd-69e06730c3a9" />
{/productUsefaference>
¢/subject2>
{/causalityAssessment>
</component>
{component typeCode="COMP">
<causalityAssessment classCode="0BS” mnodGade— ~EVN™>
{code code="39" codeSystem="2. 16.840.1.113883. 3, 989, 2. 1. 1, 19" displayName="causality”/>
<value xsi:type="ST">G.k.9.1i.2.r. 3¢/value>
¢{1— G.k,5.i.2. 1.3 Result of Assessment Drug #1, Reaction #1, Assessment §1 —>

{methodCade> )
<originalText>G. k. 9. i. 2. r. 2</originalText>
¢l— G.k.9.1,2.r.2: Method of Assessment Drug #1, Reaction ¥1, Assessment ¥l —>
{/methodCede>

<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
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{code?
<originalText>G, k. 9. i. 2. x. 1</criginalText>
¢l== G.k.9.1.2.r.1: Source of Assessment Drug #1, Reaction #l, Assessment #1 —>
</cade>
</assignedEntity>
{/author>
¢subjectl typeCode="SUBJ™>
" {adverseEffectReference classCode="0BS" moodCode="EVN™>
<id root="154eb889-958b—4512-a02f-42d4d6T46571"/>
{/adverseEffectReference>
</subjectl>
<subject2 typeCode="SUBJ™>
<{productlUseReference classCode="SBADM” moodCode="EVN">
¢id root="3c91bdd5~e039-4aTa-9c30-67671b0efIe4"/>
¢/preoductUseReference>
<{/subject2>
{/causalityAssessment>
{/compenent> )
{component typeCode="COMP">
{causalityAssessment classCode="0BS” mcodCode="EVN">
¢code code="39" codeSystem="2. 16. 840, 1, 113883, 3. 989, 2. 1. 1, 19" displayName="causality"/>
{value xsiitype="ST">G.k.9.1.2.r. 3</value>
<]—G.% 9.1.2.1r. 3! Result of Assessment Drug #1, Reaction #2, Assessment #l —>
{methedCode?
<originalText>G. k. 9. i. 2. r. 2¢/originalText>
{1==G.k.9.4.2. 1.2 Method of Assessment Drug #1, Resction #2, Assessment #1 —>
</methodCode>
<author typeCoede="AUT™>
<assignedEntity classCade="ASSIGNED">
{code>
<originalText>G. k. 9, i, 2. . 1</originalText>
{l— .k 9,i,2.r.1: Source of Assessment Drug #1, Reaction #2,. Assessment Hl —>
</code>
¢/assignedEntity>
</author>
<subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0BS” moodCode="EVN™>
‘<id reat="2baa28d6~c9eB~4e6c-9309-5hB60b314220" />
{/adverseEffectReference>
{/subjectl>
{subject2 typeCode="SUBJ]">
{productUseReference classCode="SBADM”™ moodCode="EVN">
¢id root="3c01h4d5—e038-4aTa~9c30-67671b0eided” />
{/productUseReference?
</subject2>
{/causalityAssessment>
</component>
{component typeCade="CONP™>
{causalityAssessment classCode="0BS™ moodCode="EVN">
<code code="38" codeSystem="2. 16, 840, 1. 113883, 2. 989, 2, 1, 1, 19" displayName="causality”/>

Cvalue xsiitype="ST™>G.k.%. 1.2 r.3¢/value>
¢1—G. k. 9.1.2. 7. 3: Result of Assessment Drug #2, Reaction #2, Assessment #1 -—>
<methodCode> : .

{originalText>G. k. 9. i, 2. r. 2¢/originalText>
—G. k. 9. 1.2, r. 2 Methed of Assessment Drug #2, Reaction #2, Assessment §1 —>
{/methodCade>
<author typeCode="AUT™>
{assignedBntity classCode="ASSIGNED™>
{code?
CoriginalText?G. k. 9. i. 2. r. 1</originalText>
¢lu= G.k.0.1.2.r.1: Source of Assessment Drug H2, Reaction #2, Assessment #1 —>
<fcode> :
' </assignedEntity>
{/authar>
<subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0BS” meodCode="EVN™>
{id root="2baaZ8dé-cleB-defc-93e9-5b860b3 142207 />
{/adverseEffectReforence>
{/subjectl>
{subject2 typeCode="SUBJ">
<productUseReference classCode="SBADH" moodCode="EVN">
¢id reot="68d6f5ce—3b3b=46c7~92dd-69606730c3al” />
</productUseReference>
</subject2>
{/causalityAssessment>
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</component>
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSystew="2.16.840. 1. 113883, 3, 989. 2. 1. 1. 19" displayNeme="causality”/>
<value xsittype="ST™>6.k. 9.1, 2. r, 3¢/value>
A—G.k. 9. 1. 21,3 Result of Assessment Drug #2, Reagtion #2, Assessment #2 —>
{methodCode>
{originalText)G. k. 9. i. 2. r. 2{/originalfext>
<!—G.k.9.1.2.1. 2: Method of Assessment Drug #2, Reaction #2, Assessment §2 —>
{/methodCode>
¢author typeCode="AUT">
CassignedBatity classCode="ASSIGNED">
{eode?
<originalText>G, k. 9. i. 2. r. 1<{/originalText> N
<l— 6. k. 9.£.2.r. 1 Source ¢f Assessment Drug ¥2, Reaction 2, Assessment #2 -->
{/cade> '
{/assignedEntity? .
{/author>
{subjectl typeCode="SUBJ">
{adversoEffectReference classCode="DBS” moodCode="EVN™>
¢id root="2baa28d6-cOe8-4ebc-93e9-5LB60b314220" />
¢/adverseEffectReference>
{/subjectl>
{subject? typeCode="SUBJ™>
{productlseReference c¢lassCode="SBADM" moodCode="EVN™>
<id root="68d6f5ce-3hIb-45c7-92dd-69e06730c329" />
{/preductlseReference>
{/subject2>
{/causalityAssessment>
</component>
<componentl typeCode="COMP">
{chservationBvent classCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2, 16,840, 1, 113883.3.989. 2. 1. 1. 19" displayName="comment”/>
(value xsi:type="ED">H. 2¢/value>
¢<I— H.2: Reportexr’ s Comments —> .
¢author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED"> '
<code code="3" codeSystem="2, 16. 840, 1. 113883. 3.989. 2. 1, 1. 21" displayName="sourceReporter”/>
¢{/assignedEntity>
{/author>
. ¢/observationBvent>
{/component1>
{componentl typeCode="COMP">
<observationEvent ¢lassCode="0BS” mcodCode="EVN™>
<code code="15" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 197 displayName="diagnesis"/>
<value xsittype="CE” code="H.3.r.1b" codeSystem="2. 16. 840, 1. 113883. 6. [63" codeSystemVersion="H.3.r. 1la™/>
¢I— H.3,r.1a: MedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #l —>
<I— H.3.r. 1b: Sender’s Diagnosis / Syndrome and / er Reclassification olf Reaction / Event (MedDRA code} #1 -~
<author typeCode="AUT"> / \
{assignedEntity ¢lassCode="ASSIGNED">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1, 21" displayName="sender”/>
{/assignedEntity>
</author>
{/ubservationEvent>
</componentl>
<componentl typeCode="COMP™>
<observationBvent classCode="0BS" moodCode="EVN">
Ceode code="15" codeSystem="2, 16, 840, 1, 113883. 3.989. 2. 1. 1. 19" displayName="diagnosis”/>
<valup xsi:types"CE” code="H.3.r.1b" codeSystem="2. 16. 840. L. 113883. 6. 1637 codeSystemVersion="H.3,r, 12"/>
(== H.3.1.la: MedDRA Yersion for Sender’ s Diagnesis / Syndrome and / or Reclassification of Reaction / Event #2 —>
¢]— H.3.r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Bvent (MedDRA cade} #2 —>
<auther typeCode="AUT"> .
<assignedEntity classCode="ASSIGNED"> .
<code code="1" codeSystem="2. 16, 840, 1. 113883.3.98%. 2. 1. 1, 21" displayName="sender”/>
{/assignedEntity>
{/author>
{/observationEvent>
</camponentl>
{componentl typeCode="COMP"™>
<observationEvent classCede="0B5" moodCode="EVN™>
<code code="10" codeSystex="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19" displayNeme="comment”/>
<value xsiitype="ED>H. 4</value>
{}— H.4: Sender’s Comments —>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
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¢code cade="1" codeSystem="2. 16, 840, 1. 113883, 3.98¢.-2, 1. 1. 21" displayName="sender”/>
{/assignedEintity>
{/author>
{/observationEvent>
{/companentl>
{componentl typeCode="COMP™>
CobservationBvent elassCode="0BS" meodCode="E¥N">
¢code code="3" codeSystem="2. 16. 840, 1. 113883, 3, 989. 5. 1. 3. 2. 1. 107 d;splayName—'ﬁe%TLﬂﬁ‘am;ﬁ v
{value xsi:type="ED">JZ.7. 2¢{/value>
(1— @8@32.7.2: RETITHTEIAV P —
{/observationBvent>
¢/ componentl>
<conponent] typeCoede="COMP™>
{observationBvent classCode="0BS" moodCede="EVN">
¢code code="4" codeSystem="2, 16. 840. 1. 113883. 3. 989, 5. 1. 3. 2. L. k0" d:spiayname—”mge;"mﬂ&mi"b
<value xsi:type="ED">JZ2.9</value>
<|— e88)2. 9: BREOEERWE —
</observationEvent> -
{/eomponentl>
{componentl typeCode="COMP“>
{observationBvent classCode="0B5” moodCode="EYN™> -
¢code code="5" codeSystem=”2. 16.840. 1. L13883, 3. 989. 5. 1. 3. 2. 1, 10 displayName="48®xHE"/>
<value xsi:type="ED">J2. 10{/value}
<1 288]2. 10: SHEOXE —>
</cbservationEvent?
</component1>
{componentl typeCede="COMP™>
{observationBvent classCode="0BS" moodCode="EVN">
{code tode="6" codeSystem="2, 16. 840. 1. 113883, 3. 989, 5, 1, 3. 2. 1. 107 displayName="% D{L&FWIHE"/>
<yalue xs5ittype="ED">J2. 11</value>
{1— @g8J2. 11: TOMBIERE —
¢/observationBvent>
{fcomponent 1>
{component] typeCode="COMP™>
<observatiohBvent elassCode="0BS" meodCoda="EVN">
<code code="12" codeSystem="2. 16. B40. 1. 113883. 3. 989, 5. 1. 3. 2. 1. 10 displayName="#R%HNEDELR"/>
<value xsi:type="ED">J2. 16<¢/value)
¢le- p@dre. 16: MEABTOER —
{/observationEvent>
</compenent1>
{componentl typeCode="COMP"> . )
¢ohservationBvent classCode="0BS" moodCode="EVN"> '
{code code="13" codeSystem="2, 16. 840. 1. 113883. 3, 989. 5. 1. 3. 2. 1. 10" displayName="{g351"/>
<value xsi:type="ED">J2. 19</value>
<1— @eayz. 19: ffEL —>
{/chservationBvent>
</componentl’
{e¢omponent] typeCode="COMF™>
{observationEvent classCode="0BS" noodCode="EVN">
{code code="14" codeSystem="2, 16, 840. 1. 113883. 3.989. 5. 1. 3.2, 1. 107 displayNamF"lﬁ%Z'/)
<value xsi:type="ED">]2. 20</value> .
<l-- @@@Jz. 20: #HE2 —>
</observationEvent>
{/component1>
¢component] typeCode=" COHP >
{ohservationBvent classCode="0BS" moodCode="EVN™>
<code code="15" codeSystem="2, 16, 840. 1. 113863, 3. 986. 5, 1. 3 2.1. 10" displayName="{#:%3"/>
<vaiue xsi:type="ED">J2.21¢{/valued
<1— geeJe.21: #5E3 —>
{/observationEvent>
{/component1>
<component} typeCode="COWP™>
{ohservationBvent classCode="0B5” moodCode="EVN™> -
{code code="16" codeSystem="2, 16, 840. 1. 113883. 3. 989,5.1,3.2. 1,10 dlsplayName—'{ﬁ%ti’h
<value x5i:type="ED">]2,22¢/value>
<I— geaye. 22; ¥4 —>
{/ohservationEvent’"
{/eomponentl>
{/adverseBventAssessment>
</component>
<component typeCode=" COMP™>
<observationBvent classCode="0BS" mcodCade="EVN™>
¢eode code="1" codeSystem="2. 16. 840. 1, 113883. 3.989. 2. 1. 1, 19” displayName="additicnalDocumentsivailabls™/>
{value xsi:type="BL" value="true”/> '
{l— C.1.6.1! Are Additional Documents Available? —»
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¢/observationBvent>
{/component>
{conponent typeCodes"COMP™>
{observationBvent classCode="0BS” mocdCode="EVN">
{code code="23" codeSystem="2, 16, 840. 1, 113883, 3. 989, 2, 1. 1, 19" displayName="lacalCriteriaForExpedited”/>
<value xsi:type="BL" value="true"/>
¢}= C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
{/ohservationEvent>
</component>
{cempenent typeCode="COMP™>
<observatianBvent classCode="0BS” moodCade="EVYN">
<code code="36" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19” displayName="sunmaryAndComment”/>
<value xsi:type="ED" language="H.5.r.1b">H.5. r. la</valued
¢]l— H.5.r.1a: Cnse Summary and Reporter’s Comments Text H#1 —>
{]— H,5, r. 1b: Case Summary and Reporter's Comments Language §1 -->
<author typeCode="AUF">
{assignedEntity classCode="ASSIGNED">
{code code="2" codeSystem="2. 16, 840, 1. 113883, 3. 9889, 2. 1. 1, 21" displayName="reporter”/>
<{/assignedEntity>
{/author>
¢/observationEvent>
</component>
<compenent typeCode="COMP™>
{ohservationEvent classCode="0BS" moodCode="EVN">
¢code code="36" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2, 1. 1. 19" displayName="sunnaryAndComnent”/> -
<value xsiitype="ED” language="H,5.r. lb">H. 5. r. 1a{/value>
¢l-- H.5.1.1a: Case Summary and Reporter's Comments Text #2 —>
¢l— H.5.r.1b: Case Summsry and Reporter’'s Comments Language #2 -->
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
{eode code="2" codeSystem="2, 16, 840, 1. 113883, 3,989, 2. 1, 1, 21" displayName="reporter”/>
{/assignedBntity>
{/author>
{/observationEvent>
</companent>
<outboundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG” moodCode="EVN™>
(code code="1" codeSystem="2. 16, 540, 1. 113883, 3. 989, 2, 1. 1. 227 displayName="initialReport™/>
{subject0f2 typeCode="SUB]">
{centrolhctEvent classCede="CACT” moodCode="EVN">
{author typeCode="AUT">
CassignedEntity classCode="ASSIGNED™>
{code code="C.1.B.2" codeSystem="2, 16.840, 1. 113883.3.980.2.1. 1. 3"/>
¢l— C.1.8.2: First Sender of This Case —>
{/assignedEntity>
{/author>
</eontrolictEvent>
{/subjectOf2>
</relatedInvestigation’
</outboundRelationship>
¢outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG" moodCode="EVN™>
{code nullFlavar="NA"/>
{subject0f2 typeCode="SUB]™>
{controlActEvent classCode="CACI” moodCode="BYN">
¢id extension="C.1. 10.r" root="2. 16, 840. 1, 113883, 3.989,2.1.3,2"/>
&l C.1.L0.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)
</controlActEvent>
{/subject0f2>
</relatedinvestigation>
£/outboundRelationship>
¢outhoundRelationship typeCode="SPRT™>
¢relatedInvestigation classCode="INVSTG" moodCode="EVN™>
{cade nullFlavar="NA"/>
{subject0f2 typeCade="SUBJ™>
{contrelActEvent classCode="CACT” moodCode="EVN™>
{id extension="C, 1. 10.r" root="2.16, 840.1, 113883, 3.989.2.1.3.2"/> .
¢1— C.1.10.x: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
{fecontrolActEvent>
</subject0f2>
</relatedInvestigation>
{/outheundRelationship>
<cutboundRelationship typeCode="SPRI">
{priorityNumber value="1"/>
¢}== €. 2,1.5: Primary Source for Regulatory Purposes H#1 >
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{relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
¢oode code="2" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 22" displayNane="sourceReport”/>
{subjectOf? typeCode="SUBJ">
<contrelactBvent classCade="CACT” macdCode="EVN™>
<author typeCode="AUT">
{assignedBntity classCode="ASSIGNED"> -
<adde)
{strestAddressLine}C. 2. r. 2. 3{/strestAddressline?
{l-- €.2,r.2.3: Reporter's Street #1 —>
{eity>C. 2. 1. 2. 4</city>
¢l-— €. 2. 2.4! Reporter’ s City #l —>
(statodC. 2. 1. 2. 6</s1ated
{l==C,2.1.2.5: Reporter’s State or Province #1 —>
¢nostalCededC, 2. r. 2. 6</postalCade> '
¢l— C.2.r.2.6: Reporter’ = Postcede 1 —>
</addr>
<telecom value="tel:C.2.r.2.77/>
¢4~ . 2,127 Reporter's Telephone i1 —>
¢assignedPerson classCode="PSN” determinexCode="INSTANCE™>
<name>
<prefixC. 2.r. 1, 1/prefix>
¢I— C.2.r.1.1: Reporter’s Title #l —>
Cgiven>C, 2.r. 1. 2¢/given>
¢l— C.2.r. L.2: Reporter's Given Name #1 —>
{givendC.2.1. 1. 3</given>
{I— C.2.r.1,3: Reporter' s Middle Name #1 —>
<{family>C. 2. r. 1. 4</family>
{!— €.2.r.1.4: Reporter’s Family Neme HE ——>
</name>
<asQualifiedBntity classCode="QUAL">
<{code code="C.2.r.4" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. L. 1. 67/>
{l-—= C.2.r.4: Qualification #1 >
</asQualifiedEntity>
¢asLocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.2.r.3" codeSystem="1.0.3166.1.2.2"/>
. ¢l— C.2.r.3! Reporter's Country Code #1 —>
¢{/location>
{/asLocatedEntity>
</assignedPerson>
¢representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<name>C. 2. r. 2. Z{/namwe>
{l— €. 2.1.2.2: Reporter’ s Department #1 —>
CassignedBntity classCode="ASSIGNED">
<representedOrganization classCode="0RG™ determinerCode="INSTANCE™>
<name>C. 2. r. 2. 1<{/name> ‘
<l— C,2.1.2.1: Reporter’ s Organisation #1 -—>
{/representedOrganization’
{/assignedBntity> R
{/represented)rganization>
{/assignedBntity>
</author> .
* {/controlictBvent’ ,
</subject0f2>
{/relatedInvestigation>
{/outhoundRelationship>
<outboundRelatienship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
{codn code="2" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2, 1, 1. 22 displayName="sourceReport”/>
¢subjectOf2 typeCode="SUBJ™> :
(controlActEvent classCode="CACT” moodCode="EVN™>
<author typaCodes"AUT™>
<assignedEntity classCode="ASSIGNED">
{addr?>
¢streetAddrossLinedC, 2. r. 2. 3¢/streetaddressLinel
§l— €. 2,r.2.3: Reporter’s Street #2 —>
{eity>C. 2. 1. 2. 4</city>
¢l— C.2.r.2.4: Reporter's City #2 —>
<statedC. 2. r. 2, 5<{/state>
{!— C.2.1.2.5: Reporter’s State or Province #2 —> .
<postalCode>C. 2. r. 2. 6¢/postalCode>
{l— C.2.r.2.6: Repoerter’s Postcode #2 —>
</addr>
<telecom value="tel:C.2. 1,277/
{l— (. 2.r.2.7: Reporter’'s Telephone #2 —»
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CassignedPerson classCode="PSN” determinerCode="INSTANCE">
{name>
{prefix>C. 2.1, 1. 1{/prefix>
Cl~~ C.2.r. 1. 1: Reporter's Title #2 —>
<givendC. 2. r. 1, 2¢/givend>
<{!— C.2.r. 1. 2: Reporter's Given Name #2 —>
<given>C, 2. r, 1, 3{/given>
{!-— C.2.r.1.3: Reporter’s Middle Name #2 —>
<Family>C. 2. r. 1, 4¢/fanily>
<!— C.2.r.1.4: Reporter's Family Name HZ2 =~>
{/name> :
{asQualifieéBntity classCode="QUAL">
{code code="C. 2, r.4" codeSystem="2, L6, 840, 1, 113863, 3.989.2.1.1.6"/>
{l=— €. 2, r.4: Qualification #2 —>
{/asQualifiedEntity>
{asLocatedEntity classCode="LOCE™>
(location ¢lassCode="COUNTRY" determinerCode="INSTANCE™>
<code code="C.2.r.3" codeSystem="1.0. 3166, 1. 2.2"/>
{!~= C.2.r. 3: Reporter’s Country Code #2 ——>
{/location>
{/asLocatedEntity>
{/azsignedPersond
{representod0rganization classCode="ORG” determinerCode="INSTANCE™>
<name>C. 2. r. 2. 2{/name>
¢t €. 2.1.2.2: Reporter's Department #2 ——>
CassignedEntity classCode="ASSIGNED™>’
{representedOrganization classCode="0RG”™ determinerCede="INSTANCE™>
<name>C. 2. r. 2. 1{/name>
<!— C.2.r.2.1: Reporter’s Organisation #2 =-=>
{/representedOrganization}
<{/assignedBntity>
{/representedOrganization?
{/assignedEntity>
{fauthor>
</controlactEvent>
</subjectdf2> N
¢/rolatedInvestigation
</outboundRelationship>
<subjectOf1 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>
<author typeCode="AUT™>
{assignedBntity classCode="ASSIGNED™>
<code code="C.3.1" codeSystem="2, 16,840, 1, 113883,3.989,.2, 1. L.7°/>
<1— C.3.1: Sender Type =~>
{addr>
{streetAddressLine>C. 3. 4. 1<¢/streetAddressLine>
_¢1— £.3,4,1: Sender's Street Address =->
<eitydC. 3. 4. 2¢/city>
<1— €.3.4.2: Sender’s City —>
{statedC. 3. 4. 3¢/state>
{1— £.3,4,3: Sender's State or Province —>
<faddr>
¢telecom value="tel:C.3.4.6"/>
{l-- C.3.4.6: Sender’ s Telephene 3
(telecom value="fax:C.3.4.77/>
<l——C.3.4.7: Sender' s Fax —>
<telecom value="mailto:C.3.4.8"/>
{l— £.3.4.8: Sender’s E-mail Address —=>
<assignedPerson classCode="PSN" determinerCode="INSTANCE">
<name>
<prefixdC. 3. 3. 2</prefix>
¢4— (. 3,3 2: Sender’ s Title —)
<given>C. 3. 3. 3</given>
¢l— €.3.3.3: Sendexr’ s Given Name —>
<given>C. 3. 3. 4</given>
{!— . 3.3, 4: Sender’ s Middle Name ~->
<family>C. 3. 3. 5</family>
¢{l— C.3.3.5: Sender’ s Family Name —> .
<{/name>
<asLocatedBntity classCode="LOCE™>
{location classCode="COUNTRY" determinerCode="INSTANCE">
¢cede code="C.3.4.5" codeSystem="1. 0. 3166. 1.2.2"/>
¢I— .3.4.5: Sender’s Ceuntry Code —>
</location>
{/asLocatedEntity>
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{/assignedPerson>
{representeddrganization classCode="0RG” determinerCode="INSTANCE™>
<name>C. 3. 2{/name>
¢{l— C,3,2: Sender's Organisation —>
{/representedOrganization>
{/assignedEntity>
<fauthor>
{primaryInformationRacipient typeCode="PRCP™>
<assignedEntity classCode="ASSIGNED>
" <assignedPerson classCode="PSN” determinerCode=" TNSTANCE™>
<name> :
<prefix»J2. 18. 2{/prefix>
<]— g@8jz. 18.2: R{EF FEE —
{family>J2. 18. 3¢/ fanily>
<1— @eajz. 18.3: |iAF M --
{given>J2. 18. 4{/given>
<|— @8aj2.18. 4: S{8H H —
</name>
{/assignedPersom>
{representedOrganization classCode="ORG" determinerCode=" INSTANCE >
¢name>J2. 18, 1</name>
(I— @@aJz. 18, 1: REAE Med —
</representedOrganization>
{/assignedEntity>
{/primaryInformationRecipient)
{/controlActBvent)>
{/sub ject0f1>
¢sutb jectdf] typeCode="SUBJ">
. €controlActEvent classCode="CACT” moodCode="EVN™>
¢id assigningAuthorityName="C.1.9.1.r.1" extension="C.1,9.1.r.2" root="2, 16.840. 1.113883,3,989.2.1,3.2"/>
¢]-- C.1.8.1.x. 1! Source(s) of the Case Identifier (repeat as necessary) #1'=-->
¢l—= €. 1.8.1.1.2 Case Identifier(s) #1 -=>
</controlActEvent>
{/subject0f1> .
<subjectOfl typeCede="SUBJ">
{contrelictEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extensien="C.1.9.1.r.2" root="2.16. 840, 1. 113883 3,088.2,1,3.37/>
¢!— £.1.9.1.r.1:, Saurce(s) of the Case Identifier (repeat as necessary) #2 —>
¢l— € 1.9.1, 1.2 Case Identifier(s) #2 —>
{/controlActEvent>
{/sub ject0f1>
<subject0f2 typeCode="SUBJ">
{investigationCheracteristic classCode="0BS" moodCode="EVN">
{code codew”1" codeSystem="2.16.B40. 1. 113883, 3. 689, 2, 1. 1, 23" displayName="ichReportType”/>
<value xsi:type="CE* cade="C.1.3" codeSystem="2.16.840. 1, 113883,3,989,2,1.1,27/>
¢!— . 1.3 Type of Report —>
{/investigationCharacteristic>
¢/subject0f2>
<subject0OfZ typeCode="SUBJ">
{investigationCharacteristic classCode— 0BS" moodCode="EYN™>
{code code="2" codeSystem="2. 16.B840. 1. 113883, 3. 489, 2, 1. 1. 23" dlsplayName— otherCaseIds'/)
<value xsiitype="BL" valwe="true"/>
¢l—  1.9.1 Other Case Jdentifiers in Previous Transmissions —>
¢/investigationCharacteristicy
</sub ject0f2> -
<subject0f2 typeCode="SUBJ">
{investigationCharacteristie classCode="0BS" moodCode="EVN™>
{code code="3" codeSysten="2.16.B40. 1. 113883, 3. 989, 2. L. 1, 237 displayNane="nullificationAmendmentCode”/>
¢value wsi:type="CE" code="C.1.1L 1" codeSystem="2, [6. 840, ], 113283, 3, 989, 2,1, 1. §°/>
¢1— €. 1,11, 1: Report Nullification / Amendment -->
</investigationCharacteristic)
</sub ject0£2>
<subjectDfZ typeCode="SUBJ">
¢investigationCharacteristic classCode="0BS” moodCode="EVN">
¢code code="4" codeSystem="2. 16. 840. 1. 113883, 3. 489, 2, 1. 1, 23" displayName="nullificationfmendmentReason™ />
{value xsi:type="CE">
{originalText>C, 1, 11, 2{/criginalText>
¢l— €. 1.11,2: Reason for Nullification /- Amendment ==>
</valued>
</investigationCharacteristic>
</subject0f2>
<subjectOf2 typeCoda="SUB]">
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
<eode code="1" codeSystem="2, 16, 840, 1, 113883. 3. 989. 5. 1. 3. 2. 1. 12" displayNeme="MERIFH5E (W& "
¢value xsiitype="CE” cade="]2, 1a” codeSystem="2. 16. 840. 1. 113883. 3. 89,5, 1. 3. 2. 1. 1" />
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<l-- @80J2. 1a: BRREEE (BEHE) -
{/investigationCharacteristicd ' '
{/subject0f2> .
<subjectdf? typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<eode code="2" codeSystem="2, 16, 840, 1, 113883, 3,989, 5, 1. 3. 2, 1. 12° displayName="$B K A"/
<value xsi:type="TS" value="20130107"/>
<1— egaJ2. 2.1: RFEHA —
{/investigationCharacteristicy
</subject0f2>
{subject0f2 typeCede="SUB]">
<investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2, 16. 840. 1, 113883, 3,989,5,1,3,2, 1, 12" displayName="§R& B BICET B2 A2 ')
<value xsiitype="ED">]J2, 2.2<{/value>
o <l—gee]2.2.2: BEEWBIPTS=AVE —
{/investigationCharacteristic)
{/subjectOf2>
{subject0f2 typeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="4" codeSystem="2. 16. B40. 1. 113883. 3.989.5, 1. 3. 2. 1. 127 displayName="FB4i& 7 5 &7 />
<value xsiitype="CE" code="J2.3" codeSystewm="2. 16, 840, 1, 113883, 3,989,5,1.3.2. 1.27/>
<l g@dJe. 3: BIRRE 75 Y >
{/investigationCharacteristic>
{/subject0f2>
{subjectDf2 typeCode="SUB]™>
¢investigationCharacteristic classCode="0BS" moodCode="EVN™>
{code code="5" codeSystem="2. 16. 840. 1, 113883, 3. 989. 5. 1. 3. 2. 1. 12" displayName="$ &3 @H7F ¥ />
<value xsi:type="CE" code="J2.8.17 codeSysten="2. 16, 840, 1, 113883. 3,989, 5.1, 3. 2, L,6°/>
<l-- 8@QJ2.8.1: WEMBPHT TV > '
¢/investigationCharacteristic}
</5ubject0f2>
<subject0f2 typeCede="SUBJ">
CinvestigationCharacteristic classCode="0B5S” moodCode="EYN™> .
{code code="6" codeSystem="2, 16, 840, 1, 115883, 3, 989, 5.1, 3. 2. 1. 12* displayName="$453} A OB H "/
{value xsi:type="ED">J2. 8. 2¢/value>
(le- 880]2.8.2: BEFRNOHEEY >
<{/investigationCharacteristic)>
</sub jectHI2>
</investigationEvent>
</subject>
</eontrolActProcess>
</PORR_IN049016UY>
<l=~ Wessage #1 —>
<|— Message #2 —>
_<1=- PORR_INO49016UV —>
<1— /PORR_INO4S0QIGHY —>
¢l Message #2 —>
{receiver typeCode="RCV"> .
{device classCode="DEV" determinerCode="INSTANCE">
<id extension="N, 1.4 root="2, 16, 840, 1. 113883, 3, 989. 2. 1.3, 4"/>
¢l— N.1.4: Batch Receiver ldentifier —>
</deviee>
{/receiver>
<sender typeCode="SND">
<device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N. !.3" root="2.16. 840, 1. 113883, 3. 989, 2, 1. 3. 13" />
¢(!— N 1.3: Bateh Sender Identifier —>
<{/device>
</sender>
</MCCI_IN200LCOUVOL1>
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XMLBRA v AF A (BFRHRE)

¢Pxml version="1.0" enceding="UTF-8"7>
<MCCT_IN200100UVOL ITSVersion="YML_1.0" xsi:schemalocation="urn:hl7-org:v3 MCCI_IN200100UVOL, xsd” smlng="urn:h17-org:v3" xmlns:xsi="http://www, wi. org/
2001/¥MLSchema-instance™>
¢id extension="N.1.2" roat="2.16.840. I, 113883.3,980.2.1.3.22°/>
¢l— N.1.2: Batch Number —>
<creationTime value="201012141516177/>
¢l— N.1.5: Date of Batch Transmission —>
{responseModaCode code="D"/>
<interactionld extension="MCCI_IN200100UVO1” root="2. 16. 840. 1. 113883. 1. 67/>
<name code="N.1.1" codeSystem="2, 16,840, 1,113883.3.989.2. 1. 1.1"/>
¢lr= N.1.1: Type of Messages in Batch —
{|— Message #1 —>
<PORR_IN049016LV>
¢id extension="N.Z.r.1" root="2.16.840.1.113883.3.989.2, 1.3,17/>
<l-— N.2.r.1: Message Identifier —>
(creationTime value="20101214151617"/>
¢1— N. 2,r. 4: Date of Message Creation —> .
{interactionld extension="PORR_INO49016UV* root="2. 16, 840, 1. 113883. 1. 67/>
{processingCode code="P"/>
{processingModeCode code="T"/> ' s
CacceptAckCode code="AL"/> .
{receiver typeCode="RCY™>
<device classCode="DEY” determinerCode="INSTANCE">
¢id extension="N.2.r. 3" root="2, 16.840.1. 113883, 3, 989.2.1.3.12°/>
— N.2.1.3: Message Receiver Identifier — .
{/device>
</receiver>
(sender typeCode="SND">
¢device classCode="DEV” determinerCade="INSTANCE™>
<id extension="N,2,r. 2" root="2, 16. 840, 1. 113883. 3.989. 2. 1.3, 11"/>
<l-— N.2,r.2: Message Sender Identifier ——>
¢/device>
{/sender>
<controlActProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TEC4$0I6UV” codeSystem="2. 16, 840. 1. 113883, 1, i8"/>
<l-- HLT Trigger Event ID ->
{effectiveTime value="20101214151617"/>
¢l— £,1,2: Date of Creation —>
<subject typeCode="SUBJ™>
¢investigationEvent classCode="INVSTG” moodCode="EVN™>
<id extension="C.1.1” roat="2.16.840, ], 113883.3.980. 2, L.3.1"/>
¢l— C.1. 1! Sender' s (case) Safety Report Unigue Identifier ==>
{id extension="C. 1.8, 1" ract="2.16.840, 1. 113983, 3,989.2.1.3.27/>
¢!=~ 0. 1.8.1: Worldwide Unique Case Identification Number —>
<id extension="J2. 1b* root="2. 16,840, 1, 113883.3.989,5. 1.3.2.3. 1"/>
<l-- apajz. 1b: WMES (FF)
¢code code="PAT_ADV_BVNT" codeSystem="2. 16. 840, 1, 113883, 5. 4"/>
{text>H, 1¢/textd '
¢l~- H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant Information —>
(statusCode code="active”/>
¢!— 9@8J2.7.1 58T, KETERS —>
{effectiveTime>
(low value="20090101"/>
¢1— C.1.4: Date Report Was First Received from Source -=>
¢/effectiveTime>
{availabilityTime value="200901017/>
. ¢l— &.1,5: Date of Most Recent Informatien for This Report —>
<reference typeCode="REFR™>
{document classCode="DIC" moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1. 113883.3.989,2, 1,1, 27" displayName="1literatureReference vl
<titlerJ2.17. ré/title>
(I— g8y 17. r ¥ TIROSE #1 -
<text mediaType="application/pdf” representation="B64">C.4. r.2</text>
¢l—"¢. 4,r.2: Included Doctments HI —> .
¢bibliographicDesignationText>C. 4. r. 1{/bibliographicDesignhationText>
¢1— G.4.r.17 Literature Reference(s) #1 —>
{participation typeCode="AUT™Y
<assignedBntity classCode="ASSIGNED">
(representedOrganization ¢lnssCode="0RG" determinerCode="INSTANCE™>
¢asLocatedEntity classCode="LOCE™>
Clocation elassCode="COUNTRY" determinerCode="INSTANCE™>
¢cede code="J2, 15.r" codeSystem="1.0,3166. 1. 2. 2"/
<l g@aajz. 15.r AFEHE § —
¢/location>
{faslocatedEntity> -



</representedDrganizationd
</azsignedEntity>
{/participation>
</document>
</reference’>
{reference typeCode="REFR™>
{document ¢lassCode="DOC” mcodCode="EVN">
{coda code="2" codeSystem="2. 16. 840. 1, 113883, 3. 989, 2. 1. 1. 27" displayName="1iteratureReference”/>
{title>J2. 17. ré/title>
<1— @88]2.17.r BB/ DIROHE #2 —
{text mediaType="application/pdf” representation="B647>C. 4. r. 2{/text>
<1—- C.4.r.2: Included Documents #2 =3
<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>
{l— C.4.r.1: Literature Reference(s) #2 ~->
<participation typeCede="AUT"> .
{assignedBntity classCode="ASSIGNED"> ’ R
{representedOrganization ¢lassCode="ORG" determiherCode="INSTANCE™>
<asLocatedBntity classCode="LOCE™>
{loecation classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="J2.15.r" codeSystem="1. 0. 3166. 1.2.2"/>
<— @éeJz. 15. r AFRE #2 —
</location>
{/asLocatedEntity>
</representedOrganization? .
<fassignedEntity>
{/participation>
</document>
{/referenced
{component typeCode="COMP™>
{adverseEventAssessment classCode="INVSTG” moodCode= BVN'> .
(subjectl typeCode="SB]™>
{primaryRole classCode="INVSB]">
<nlayerl classCode="PSN" determinerCode="INSTANCE"/>
¢subjectOfl typeCode="SBJ"> I
(researchStudy clagsCade="CLNTRL” moodCode="EVN™)
<id extension="C.5.3" root="2.16.840.1.113883.3.989.2.1.3.5"/>
¢l-- €.5.3: Sponsor Study Numher —»
<code code="C. 5. 4" codeSystem="2, 15.840. 1. 113883.3.985. 2. 1. 1. 8*/>
{l== C,5,4; Study Type Where Reaction(s) / Event(s} Were Observed —>
{titledC. 5. 2¢/titled
¢l— C,5,2: Study Name ~—>
{authorization typeCode="AUTH™>
¢studyRegistration elassCode="ACT" mcodCode="EVN™>
<id extension="C.5.1.1.1" ront="2. 16, 840. 1. 113683.3.989. 2. 1. 3.6"/>
¢]— .51 r. 1t Study Registration Number #1 ——>
<author typeCode="AVT">
<territorialAuthority classCode="TERR™>
<governingPlace elassCode="COUNTRY” determinerCode="YNSTANCE™
<code code="C.5.1.r.2" codeSystem="1. 0. 3166.1.2.27/>
<|— C.6.1,r.2: Study Registration Country #l ~->
{/governingPlaced
</territorialAuthority>
{/author>
{/studyRegistration
{/authorization>
{authorization typeCade="AUTH™>
{studyRegistration classCode="ACT" mood{ode="EVN">
<id extension="C.5. 1 r.1" root="2.16.840. 1. 113883. 3. 989. 2, 1. 3.6"/>
{l— C€.5.1.r.1 Study Registration Number ¥2 —>
<author typeCode="AUT™>
{territorialAuthority classCode="TERR">
{governingPlace classCode="COUNTRY" determinerCode="INSTANCE">
<code code="C,5, L. r.2" codeSysten="1, 0, 3166, 1.2.2"/>
{l— .8, 1.r. 2: Study Registration Country #2 —>
{/governingPlace> .
¢/territorialAuthority>
{/author}
</studyRegistration>
{/muthorization>
{/researchStudy>
{/subject{fl> ,
<subject0F2 typeCode="SBI">
{organizer classCode="CATEGORY” moodCode="EVN">
<code code="4" codeSysten="2. 16, 840, 1. 113883, 5, 989. 2. 1.1, 20" displayNawe="drugInformation”/>
{J== G.k Drug(s) Infermation (repeat as necessary) #1 —>
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{component typeCoda="COMP"»
{substanceAdministration classCode="SBADM" moodCode="EVN™>
¢id root="3cH1b4d5-e039-4aTa-0c30-67671b0cfe4" />
{consumable typeCede="CSM">
<instance0fKind classCode="INST">
<kind0fProduct classCode="MMAT™ determinerCode="XIND">
¢eode code="G.k, 2. L. 16" codeSystem="TBD-MPID"/>
¢l== 6.k 2. 1. 1b: Medicinal Product Identifier (MPID) #1 —>
<name>G. k.2, 2¢/name’
¢|=- G.k.2. 2! Wedicinal Product Name as Reported by the Primary Source #1 —>
{asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SB]">
<approval classCode="GNTRCT" moodCode="EVN™>
¢id extension="G.k.3.1” roet="2, i6.840,1. 113883, 3,989.2.1.3.47/>
<]-- G.k.3.1: Authorisation / Application Number #1 —>
<author typeCode="AUT™>
<territorialAuthority classCods="TERR">
Cterritory classCode="NAT" determinerCode="INSTANCE™>
¢code cade="G.k.3.2" codeSyster="1.0.3166. 1.2.2"/>
¢!— G. k. 3.2: Country of Authorisation / Application #1 —>
</territory>
</territorialAutharity>
</author>
{pertinentInformation typeCode="FERT">
{policy classCode="POLICY" moodCode="EVN™>
<code code="]2.5.k" codeSystem="2, 16. 840. 1. 113883, 3.980.5. L. 3.2. 1.4"/>
¢1— eg@J2. 5. k: —BRAEERED Y RAIESF ¢ —
{/policy>
{/pertinentInformation>
</approval’
" {/subject0f>
¢subject0f typeCode="SB]">
{characteristic classCode="0BS" moodCode="EYN">
<code code="1" codeSystem="2, 16. 840. 1. 113883, 3, 980, 5. 1. 3. 2. 1. 107 displayNane="37E R K% OWRES ">
{valus xsi:type="CE" code="J2.4.k" codeSystem="2. 16, 840, 1, 113683.3.989.5.1.3. 2. 1.3"/>
<l-- @Bz 4. k: FIEELFORRES #1 —
¢fcharacteristic>
</subject0f>
{/asManufacturedProduct>
{asSpecializedKind classCode="GEN">
<generalizedfaterialKind classCode="MAT" detcrminerCode="] KIND™>
<code>
<originalText>J2. 12¢/originalText>
<|— eaJz. 12: IREBBRARES —
<{fcode>
</generalizedMaterialKind>
" ¢/asSpecializedKind>
<ingredient classCode="ACTI™>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”/>
¢}— G.k.2.3.r.2b! Substance / Specified Substance TerelD H1-1 —>
<nameG. k. 2. 3. . 1</name> '
¢J— 6.k 2.3 1. 1: Substance / Specified Substance Name §1-1 -
{/ingredientSubstance>
¢/ingredient>
{ingredient classCode="ACTI™>
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
{cods code="G.k. 2. 3.r.2b" codeSystem="TBD-Substance”/>
<l— 6. k.2.3.r. 2b: Substance / Specified Substance TermID #1- 2 —>
<name’G. k. 2. 3, r, 1</name>
¢l= G k.2.3.r.1% Substance / Specified Substance Name #1-2 —>
<fingredisntSubstance>
{/ingredient>
</kind0fProduct>
{subjectOf typeCode="SBJ">
{observationBvent classCode="0BS" moadCode="EVN"> .
<oode’ code=*2" codaSysten="2, 16. 840, 1. 113883, 3. 989, 5. 1.3, 2. 1. 10" displayNane="—AERROATFEH"/>
<value xsi:type="CE” code="J2.6.k" codeSysten="2.16. 840, 1, 113883,3.989.5.1.3.2. L. 5/
<l— 86@J2.6, k: —RYMERROAFERE 1 — ,
{/observationBvent>
{/subject0f>
</instance0fKind>
{/consumable> '
{/substanceAdministration>
</compenent>



<{/organizer>
{/subject0f2)>
<subject0f2 typeCode="SB]">
{erganizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSysten="2, 15, 840, 1, 113883, 3,989, 5, 1. 3. 2. 1. 11" displayName="{5%0oMET" />
<component typeCode="COMP™>
{observation classCode="0BS" maedCode="EVN™> X
{cade code="7" cadeSystem="2. 16. 840. 1. 113883, 3. 98%. 5. 1. 3. 2. 1, 10" displayName="fGHHEI¥"/>
<value xsi:type="INT" value="1"/2
<l e88J2.13.r. 1: JEHE #1 —
{/chservation>
{/component>
{ctmponent typeCode="COMP™>
{observation clessCode="0BS" moodCode="EVN">
{code cade='8" codeSystew="2. 16, 540, 1. 113883, 3. 989. 5. 1. 3. 2. L. 10" displayName="3%}@EHm"/>
<value xsi:type="£D">]2.13.r, 2¢/value>
(i 80872, 13, 1. 2: WHERM #1 —>
{/observation’
</corponent>
<component typeCode="COMP™>
(observation ¢lassCode="0BS” moodCode="EVN™>
<code code="9" codeSystem="2, 16, 840. 1. 113883, 3,989, 5, 1, 3, 2. 1. 19" displayName="[R5E$8"/>
<value xsiitype="CE” code="J2.13.r. 3" codeSystem="2.16.840.1. [13883.3,989.5. 1.3 2. .77/
<|— @aajz. 13.r.3: PAZEAR #2 —> .
</observation>
{/component>
{component typeCode="COMP™>
Cobservation classCode="085" moodCode="EVN™>
{code code="10" codeSystem="2, 16.840. 1. 113883.3,989.5.1,3.2, 1. 10" displayName="fF P DEROEHE"/>
{value xsi:type="BL" value="trus"/>
<I— #8872, 13.v. 4: REPOENDOHE §1 —
</cbservation?
{/component?
{/orgenizer>
</sub ject0f2>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY" moodCode="EVN™>
<code code="1" codeSystem="2. L6, B40. 1. 113883.3,989.5.1.3.2. 1. 11" displayName="T3BREE"/>
<component typeCode="COMP™>
{observatioh classCode="0BS” moodCode="EVN">
{code code="7" codeSystem="2, 16, 840, 1. 113883. 3, 989. 5. 1. 3. 2. L. 10™ displayName="/& HREI¥%"/>
Cvalue xsiitype="INT" value="17/>
<|— @éajz. 13.r. 1: JAHEN #2 —
{fobzervation>
¢/component>
<component typeCode="COMP™>
{observation classCode="085" moodCode="EV¥N">
{code code="8" codeSysten="2.16. 840. 1. 113883. 3. 889. 5. 1. 3. 2. 1. 107 displayName="%13R MW" />
<value xsi:type="ED">J2.13. 1. 2{/value>
<l-- §@8J2.13.r. 2: HEEB #2 —
{/chservation>
{/component>
<component typeCode="COMP">
<observation classCode="0BS” moodCode="EYN"> .
{code code="9" codeSysten="2, 16, 840, 1. 113883, 3.989.5.1.3. 2. L. 10" displayName="PRRHH"/>
Cvalue xsiitype#"CE” code="J2.13.r.3" codeSysten="2. 16.840. 1. 113883.3,080.5.1.8.2.1.7°/>
<[-- 86@)2.13.r.3: PARIA #2 -=>
{/vbservation>
</component>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
Ccode code="10" codeSystem="2, 16, 840, 1. 113883, 3. 989.5.1.3.2. 1. 10”7 displayName="iZER OEMOHIE"/>
{value xsiitype="BL" value="false”/>
<I-- 888]2.13.r. 4: REWPOEFOFE §2 —
{/chservation>
{/campenent’>
{/organizer>
{/subject0f2>
{/primaryRole>
<{/subjectl>
Ccompenentl typeCode="COMP>
{observationEvent classCode="0BS" moodCode="EVN">
<code code="10" codeSystem="2.16. 840, 1. 113883. 3. 989, 2. 1. L. 19" displayName="comment”/>
<value xsi:type="ED">H, 4</value>
<|— H.4! Sender’'s Comments —>



<author typeCode="AUT >
{assignedEntity classCode="ASSIGNED">
<code code="1" codeSystem="2. 16. 840, 1, 113883, 3,989. 2. 1. 1. 21" displayName="sender”/>
¢fassignedBntity> i '
</author>
{/observationBvent>
</componentl> ’
<componentl typeCode— *COMP" >
{observationEvent classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2.16. 840, 1. 113883. 3, 989.5.1.3.2. 1. 10" dlsplayName—'ﬁEmT"ﬁ?’f):} ¥R
{value xsi!type="ED">JZ. 7. 2{/value>
<1— @eeJ2.7.2: RETICHTHIALF -
{/observationEvent>
</componentI>
{componentl typsCode="COMP“>
{observationEvent ¢lassCode="0BS” moodCode="EVN™>
¢code code="5" cadeSysten="2. I6. 840. L. 113883, 3,989, 5. 1. 3.2. 1. 10" displayName="S# O HE"/>
{value xsi:type="ED">]J2,10</value>
<1— e@ay2. 10: SHEoEEk —
{/obhservationBvent>
{/component1> )
{componentl typeCode="COMP*> -
<abservationBvent classCode="0BS” moodCode="EVN™>
<code code="6" codeSysten="2. 16. 840. 1. 113883, 3,980, 5. 1. 3. 2. 1. 10" displayName=" %@Rﬂ%ﬁ‘ﬁlﬁ%'h
<yalue xsittype="ED">J2. 11¢{/value
<I— 8882 11: £ OhBEFRS —>
{/observationBvent>
<{/componentl>"
{componentl typeCode="COMP™>
{observationEvent classCode="0BS” moodCode="EVN™>
<code code="12" codeSystem="2. 16. B40. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 10" displayName="HEREDCER"/>
{value xsi:type="ED">J2.16¢/value>
<l— eeaJ2. 16: WHAFOER —
. {/observationBvent>
{/component1>
{/adverseEventAssessment?
</component>
{component typeCode="COMP™>
{observationEvent classCode="0BS" moadCode="EVN">
- ¢code code="23" codeSystem="2. 16. B40, 1, 113883, 3, 989, 2, 1. 1. 19" displayiane=" 1oualﬂntenaForExpedlted'b
<value xsiitype="BL" value="true”/>
¢l— C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
¢{/ohservationBvent>
¢/component?
{outbonndRelationship typeCode="SPRT™>"
{relatedInvestigation classCode="INVSTG" moodCode="EVN">
<cade cade="1" codeSyster="2. 16. 840. 1. 113883, 3,989, 2, 1. 1, 22" displayName="initialReport”/>
{subjectOf2 typeCode="SUBJ™>
{controlActEvent classCode="CACY” moodCode="BVYN">
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
{code code="C.1.8.2" codeSystem="2, 16. 840, 1, 113883. 3.989.2. 1. 1. 3"/>
¢I— C.1.8.2: First Sender of This Case —>
{/assignedEntity>
{/author>
</controlActEvent>
{/subject0f2>
</relatedInvestigation’
{/euthoundRelationship>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG™ mocdCode="EVN™>
{cade nullFlavor="NA"/>
¢subject0f2 typeCode="SUB]™>
{controlActEvent classCode="CACT" moodCode="EVN™>
{id extensien="C. L. 10.r" root="2 16.840,1 113883, 3.989.2.1.3.27/>
¢l— G, 1. 10.2: Identlflcatmn Number of the Report Which Is Linked to This Report {repeat as necessary) #l —>
{/controlActEvent>
</subject0f2>
{/relatedInvestigation>
{/outboundRelationship>
<outhoundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG™ mocdCode="EVN">
{code nullFlavor="NA"/>
<subject0f2 typeCode="SUBJ">
{controlActBvent classCode="CACT" moodCode="EVN">



<id extensien="C.1, 10, r" root="2, 16. 840, 1, 113883, 3, 989. 2. 1.3.2" />
¢l— C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessbry)
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
</foutbeundRelationship>
{subject0Of1 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">
<auther typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{addr>
<streetAddressLine>C. 3. 4. 1¢/streetAddressLine>
{l-= C.3.4.1: Sender's Street Address —>
{oitydC, 3, 4, 28/city>
¢l~- C:3.4.2: Sender’s City —>
{state>C. 3. 4. 3{/stated
¢]— C.3.4.3: Sender's State or Province —>
</addr>
<assignedPersen classCode="PSN” determinerCede="INSTANCE">
<name>
{prefix>C. 3. 3. 2¢/prefix>
¢|=— C.3.8.2: Sender’s Title —>
{given>C, 3. 3. 3</given>
¢l— C,3.3.3: Sender’s Given Name —>
{givan>C, 3. 3, 4¢/given>
<!— C.3.3.4: Sender’s Hiddle Name —>
{Family>C. 3, 3. 5</family>
¢|— C.3.3.5: Sender’ s Family Name —>
{/name>
¢asLocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY" determinerCode="INSTANCE">
<code code="C, 3. 4.5" codeSysten="1, 0, 3164, 1. 2, 2"/>
<l— C.3.4.5: Sender’s Country Code —>
{/locationd )
{/asLocatedEntity>
</assignedPerson> .
{representedirganization classCode="ORG™ determinerCode="INSTANCE >
<name>C. 3. 2</name>
¢(!— €. 3.2! Sendexr's Organisation —>
{/representedOrganization)
</assignedEntity>
</author>
{feontrolictEvent)
¢/subject0f1>
<subject0f1 typeCode="SUB]">
<controlActBvent classCode="CACT" moodCode="EVN">

¢id assigningAuthorityName="C.1.9.1.r.1" extension="C.1.%.1.r. 2" root="2. 16. B40. L. 113883, 3.989.2.1.3.3" />
{I— €, 1.8.1, r.1: Source{s) of the Case Identifier (repest as necessary} #1 ==>
¢I— €.1.9.1.7.2 Case Identifier(s} #1 —>
</controlictBvent>
<{/subject0fl>

<sub jectOf1 typeCode="SUB]">
{controlActEvent classCode="CACT" moodCode="EVN™>
<id assigningAuthorityName="C.1.%.1.r.17 extension="C.1.9.1.r. 2" root="2, I6. 840, [, 113883.3.969.2.1.3. 3" />
{]— C.1.9.1.1.1: Source(s} of the Case Identifier (repeat as necessary) #2 —>
{l=~ C,1.9.1.1.2 Case Identifier(s) 42 —>
</controlActBvent>
</subject0f1>
{subject0f? typeCode="SUB]™>
<investigationCharacteristic classCode="0BS" moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840.. 113883, 3. 989. 2. . 1. 23° displayName="ichReportType”/>
<value xsiitype="CE” cade="C.1.3" codoSystem="%, 16.B40, 1, 113883, 3,089,2,1,1,2°5> )
¢<l— €, 1,3 Type of Report =>
{finvestigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]™>
{investigationCharacteristic classCode~"0BS" moodCode="EVN")>
<eode code="2" codeSysten="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 23" displayName="otherCaselds”/>
<value xsi!type="BL* value="true”/>
¢]— C.1.9.1 Other Case Identifiers in Previous Transmissions ——>
{/investigationCharacteristic>
{/subject0f2>
<subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS” moedCods="EVN"> ,
<code code="3" codeSystewm="2. 16. 840, 1, 113883, 3. 989, 2, 1. 1. 23° displayName="nullificationAmendmentCode”/>
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<value xsi’type="CE* code="C. 1. 11.1" codeSysten="2.16. 840, 1, 112883, 3, 689.2. 1, 1, 5"/>
<l= €.1.11. 1: Report Nullification / Amendment —>
{/investigationCharacteristic>
{/subject0f2> .
<subject0f2 typeCode="SUB]"> ~
{investigationCharacteristic classCode="0BS" moodCode="EVN">

{code code="4" codeSysten="2. 16. 840, 1. 113883, 3,989, 2, 1, 1, 23" displayName="nullificationAmendmentReasan”/>

{value xsi:type="CE™>
<originalText>C. 1. 11. 2</originalText>
<|— C.1.11.2: Reason for Mullification / Amendment —>
{/value>
</investigationCharacteristic?
{/subject0f2>
{subjectdf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN™>

{code code="1" codeSysten="2. 16.840. 1. 113883. 3. 089. 5. 1. 3. 2. 1, 12" displayName="SRBIE S (RELHW 7/,

<value xsi:type="CE” code="]2, 1a” codeSystem="2. 16.840. 1. 113883.3.589.5.1.3.2. . 1"/>
<I— agaJ2. 1a: WAES GREHHE) —
{/investigationCharacteristic>
</subject0fz>
¢subject0f2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113882, 3, 989.6, 1. 3,2, 1, 127 displayName="$REHEX A"/
{value xsiitype="TS" value="20130107"/> '
<!— geajz. 2. 1: WEEKD —
{/investigationCharacteristic
{/subject0f2>
{subjectOf2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS” moodCode="EVN">

¢code code="3" codeSystem="2. 15.840. L. 113883.3.989. 5. 1. 3. 2. 1. 12° displayName="#&ERKBIZMT 322> ")

<value xsi:type="ED">]J2.2, 2{/value>
¢J— @80J2.2.2: MERKAKCETE=ALF —
{/investigationCharacteristic>
£/sub ject0f2>
{/investigationEvent>
</subject>
¢/contralActProcess>.
{/PORR_INO48016UV>
¢t— Meszage #1 —>
{— Message #2 —> .
¢l-= PORR_INO49016UV ——>
¢!— /PORR_INO48016WV —>
I Message #2 —>
{receiver typeCode="RCV™>
{device classCode="DEV" dsterminerCode="INSTANCE">
<id extension="N. 1. 4" root="2. 16. 840, 1, 113883, 3,989.2.1.3. 14" />
<!— N. 1. 4: Batech Receiver Identifier —>
{/device>
{/receiver>
¢sender typeCode="SND™>
{device classCode="DEY" determinerCode="INSTANCE™>
<id extension="N, 1. 3" reot="2, 14. 840. 1, 113883, 3,989.2. 1. 3. 13" />
I~ N.1,3: Batch Sender Identifier -->
{/device>
¢/sender>
<MCCI_IN200100UV01>



XMLBRA VR Z A (HEHFERS)

<7xml version="1.0" encoding="UTF-8"?>
<HCCT_IN200100UV0L ITSVersion="XML_L. 0" xsi:schemal.ncation'-‘-'urn:hl?-urg:vs MCCI_IN200100UV01. xsd” xmlns="urn:hl7-org:v3™ xmlna:xsi="http://www, w3, org/
2001/¥MLSchema—instance”™>
<id extension="N, 1, 2" root="2.16.840. 1. 113883. 3.989. 2, 1. 3. 22" />
{!l=- N.1.2: Batch Number —>
{creationTime value="201012141516177/>
¢}— N.1.5: Date of Batch Transmission —>
<{responseModeCode code="D"/>
{interactionld extensien="MCCI_IN200FO0UVCL® root="2.16. 840, 1.113883.1.6"/>
<name code="N. 1. 1" codeSystem="2. 16, B40, 1, 113883, 3,989, 2. k. 1, 1"/>
<l— N.1,1: Type of Messages in Batch —>
¢l Message #1 —>
<PORR_INO49016UV>
<id extension="N. 2, r.1” root="2. 16. 840, 1. 113883.3.980.2.1.3.1"/>
{l-- N.2.r.1: Message Identifier ——>
{creationTime value="20101214151617"/>
<|— N.2.r.4: Date of Message Creation ~—>
<interactionld extension="PORR_IN049016UV” root= 2 16, 840, 1 113883. 1.6"/>
{pracessingCode code="P"/>
{processinghodeCode code="T"/>
<acceptAckCode code="AL"/>
{receiver typeCode="RCY"™>
<device classCode="DEV" determinerCode="INSTANCE™>
¢id extension="N.2.r.3” root="2.16.840. 1. 113883. 3.989, 2. 1, 3, 12"/>
<i—— N.2.r.3: Wessage Receiver Identifier —>
{/devica>
{/receiver>
{sender typeCode="SND">
{device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N.2.1.2" root="2, 16, 840, 1, 113883. 3.969. 2. 1. 3. 117/>
¢lu= N, 2,1, 2: Hessage Sender Identifier —> .
</device>
</sender>
<controlActProcess classCode="CACT” moodCode="EYN™>
{eode code="PORR_TE049016UV" codeSystem="2. 16. 840, 1. 113883.1.18"/>
¢l— HLT Trigger Event ID —>
CeffectiveTime value="20101214151617"/>
¢{l== C.1,2: Pate of Creation —>
{subject typeCode="SUBJ">
{investigationBvent classCode="INVSTG” moodCode="EVN">
¢id extension="C. 1.1 root="2.16.840. 1. 113883.3.989.2.1. 3. 17/>
{lm=~ C,1.1: Sender’s (case) Safety Report Unique Identifier —>
<id extension="C.1.8.1" rcot="2.16.840.1, 113883.3,989,2,1,3.2"/>
(l-~ C.1.8.1: Worldwide Unique Case Identification Number ——>
<id extension="J2. 1b” root="2.16.840. 1. 113883.3,980.5,1.3.2.3.1"/>
<|-- g@aje. 1b: WRES (HFEY —
<eode code="PAT_ADY_EVNT" codeSystem="2, 16, 840, 1. 113883. 5. 47/>
{textoH. 1</text> '
<I—— H.1: Case Narrative Including Clinical Course,’ Therapeutlc Maasures, Quteome and Additional Relevant Information —>
{statusCode cede="active”/> ' i
<l— 888J2.7.1 FET, RRETREH —> .
{effectiveTine>
{low vall;e='20090101'/>
- C.1.4: Date Roport Was First Received from Source —>
{feffectiveTime>
CavailabilityTime value="20090101/>
<l-- G.1.5: Date of Most Recent Information for This Report -
{reference typeCode="REFR">
<ducument classCode="D0C" moodCode="EVN">
- ¢code code="2" codeSysten="2, 16, 840, 1, 113883, 3. 989, 2. 1. 1. 27" displayName="1iteratureReference”/>
{text mediaType="application/pdf” representation="B64">C.4.r.2¢{/text>
¢!—- C.4.r.2: Included Documents #1 ——>
<bibliegraphicDesignationText>C. 4, r. 1<{/bibliographicDesignationText>
<l-- C.4.r.1: Literature Reference{s} #1 —>
.<participatien typeCode="AUT™>
¢assignedEntity classCode="ASSIGNED">
{representedbrganization classCode="0RG” determinerCode="INSTANCE™>
¢asLocatedEntity classCode="LOCE">
¢location classCode="COUNIRY” detorminerCode="INSTANCE™>
{code code="J2. 15, 1" codeSystem="1.0, 3166.1,2.27/>
<!— 888J2, 16, r AXKE #1 >
{/locationd
{/asLocatedBntity>
</represented0rganizationy
{/assignedEntity>



 {/participation>
¢/document?>
{/reference>
{reference typeCode="REFR™>
{document classCode="N0OC” moodCode="EVYN>
<code code="2" codeSystem="2. 16. B40. 1. 113883. 3,989, 2, 1, 1. 27" displayName="1iteratureReference”/>
¢text mediaType="application/pdf” representatien="B647>C. 4. 1, 2{/textd
{I=- C.4.r.2! Included Documents HZ >
<bibliographicDesignationText>C. 4.r. 1</bibliographicDesignationText>
¢l=— C.4.r. 1: Literature Reference(s) #2 —>
{participation typeCode="AUT">
<assignedBntity classCode="ASSIGNED™>
{representedOrganization classCode="CRG” determinerCode="INSTANCE">
(nsanatedEnt1ty classCode="LOCE™>
¢location classCode="COUNTRY” determinerCode="INSTANCE">
{code code="J2. 15.r" codeSystem="1. 0. 3166. 1.2.2"/>
<|— @@ayz, 16.r AFE #2 —
¢flocation>
{/asLocatedEntity?
{/represented0rganization>
{/assignedEntity> )
{/participation?
</documnent?
{/reference’
{compenent typeCode="COMP">
¢adverseEventAssessment: classCode="INVSTG” moodCode="EVN">
<subjectl typeCode="SBJ">
{primaryRole elassCode="INVSB]">
<playerl classCede="PSN" determinerCode="INSTANCE"/>
{subject0f1 typeCade="SBJ™>
¢researchStudy classCode="CLNTRL® moodCode="EVN™>
<id extension="C.5.3" root="2.16.840, 1, 113883. 3. 989. 2. 1. 3.5"/>
¢<l— C.5.3: Spensor Study Number ~—>
¢code code="C,b5,4" codeSystem="2. 16,840, 1. 113883, 3,989, 2. 1.1.87/>
¢l C,5.4: Study Type Where React1on(s) / Event(s) Were Observed —>
<titledC. 5. 2{/title>
{l— (. 5.2: Study Name =-> .
<authorization typeCode="AUTH">
¢studyRegistration classCode="ACT™ moodCode="EVN™>
<id extension="C. 5. 1.r.1" root="2.16.840. 1. 113883.3.989.2. L.3.6"/>
{!— C.5.1.n.1: Study Registration Number #1 —>
<author typeCode="AUT">
{territerialAuthority classCode="TERR">
¢governingPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="C. 5. 1.1.2" codeSysten="1.0, 3166, 1.2.27/>
<}-- C.5.1.r.2: Study Registration Country #1 —>
{/governingPlace>
{/territorialAuthority> '
</author>
{/studyRegistration’
{fauthorization>
¢autherization typeCade="AUTH™>
¢studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C, 5.1, r.1" root="2,16.540, 1, 113883.3.989.2. 1,3.6"/>
¢!— C.5 1r.1 Study Registration Number $2 —>
<author typeCode="AUT™>
{territorialAuthority classCode="TERR™>
¢governingPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<cede cade="C.5.1.r.2" codeSysten="1.0,23166.1.2.27/>
<!— . 6. 1.r.2: Study Registration Country #2 —>
{/governingPlace>
<fterritorialiuthority)
¢/author>
{/studyRegistration>
{/authorization>
{/researchStudy>
¢/subjectOf1l>
<subJect0f2 typeCode="SBI">
{organizer classCode="CATEGORY” moodCode="EVN">
<code code="4" codeSystem="2, 16, 840, 1. 113883, 3, 989. 2. 1. 1, 20" displayName=" drugInformation” />
<1~ G.k Drug(s) Information (repeat as necessary) #1 -
.{component typeCode="COMP"> -
{substanceAdninistration classCodo="SBADM" moodCode="EVN">
<id- ract="3c¢91b4d5-e039-4aTa-0c30~67571b0e9e4" />
{consumable typeCode="CSM™>



{instance0fKind classCoda="INST™)
<kind0fPreduct classCode="MMAT" determinerCode="KIND">
¢code code="ti k. 2.1.1k" codeSystem="TBD-MPID"/>
<l— 6.k 2.1.1b: Medicinal Product Identifier (MPID) #1 —>
{name>G. k. 2. 2{/name>
<l— 6,k.2.2: Medicinal Product Name as Reported by the Primary Source #1 —>
<asManufacturedProduct classCode="MANU™>
<subjectQf typeCode="SBI">
<approval classCode="CNTRCT” moodCode="EVN">
<id extension="G. k. 3.1" root="2. 16. B40. 1. 113883.3.989.2.1.3.47/>
¢|~= G.k.3.1: Avtherisation / Application Number #1 —>
{adthor typeCode="AUT")
{territorialAuthority classCode="TERR">
{territory classCode="NAT" determinerCode="INSTANCE">
<code code="G. k. 3.2" codeSysten="1.0.3166.1.2.27/>
¢l== 6,k 3,2: Country of Authorisation / Applicaticn #1 —>
</territory’
{/territorialAuthority
{/author>
<pertinentInformation typeCode="PERT™>
<policy classCode="POLICY” moodCode="EYN™>
<code code="J2.5.k” codeSystem="2. 186, 840. 1. 113883.3.989.5.1.3.2. 1. 4"/>
KI— @d@)j2. 5. k: —AERSFOVRIESE #1 —
<{/policy> .
</partinentInformationd
{/approval>
{/suhb jectOf>
{subject0f typeCode="SB]">
<characteristic classCode="0B3” moodCode="EVN">

<code cade="1" codeSystem="2. 16. 840. L. 113883, 3. 989. 5. 1. 3. 2, 1. 10" displayName="3FERHFOREAES"/>
<value xsi:type="CE" code="J2.4. k" codoSystem="2.16.840.1.113883,3.989.5.1.3. 2. 1.3"/">
<l @8aJ2. 4.k FEBRBFORAES #1
</characteristic>
</subjectOf>

{/asManufacturedProduct>
<asSpecializedKind classCode="GEN">
{generalizeddaterialKind classCade="MAT" determinerCode="KIND">
<code>
{originalText>J2.12{/originalText>
<l— 88Jz. 12: HMAEHRE —>
{/eoded
¢/generalizedfaterialKind>
{/asSpecializedKind>
<ingredient classCode="ACTI"> )
{ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code code="G. k. 2. 3.r.2b" codeSysten="TBP-Substance”/>
<l-= 6.k.2.3,r. 2b: Substance / Specified Substance TermID #1-1 —>
<nams>G. k. 2. 3. r. 1{/nane>
<l— G.k.2.3.r.1: Substance / Specified Substance Name #1-1 —>
¢/ingredientSubstance} ‘ ’
{/ingredient> . .
{ingredient classCode="ACTI">
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”/>
¢t— 6.k 2.3.r.2b! Substance / Specified Substance TermID #1-2 —>
<name>G. k. 2. 3. r. 1{/nane>
l— G. k.2, 3. 1. 1; Substance / Specified Substance Name #1-Z ==>
</ingredientSubstance>
{/ingredient>
{/kindOfProduct>
{subjectOf typeCode="SEJ">
{observationEvent classCode="0BS" moodCode="EVN™>
{code code="2" codeSystem="2, 16. 840, 1, 113883, 3,989, 5. 1. 3. 2. 1. 10" displayName="—f} I E IS D AFEERE"/>
{valuo x5i:type="CE" code="J2.6. k" codeSystem="2. 16, 840. 1. 113583.3.989.5.1.3.2.1.5"/>
{l-- @8a12.6, k: —RRAEEKOCATEH #1 —
</chservationEvent>
</subject0f>
{/instance0fKind>
{/consumable>
{/substanceAdministration>
</component>
{forganizer>
</subjectlf2>
<subjectOf? typeCode="SBT">
{organizer classCode="CATEGORY" moodCode="E¥YN">



<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3.2, 1. 11" displayName="faSRDPLE"/>
{companent typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{cade code="7" codeSystem="2. 16. 840. 1. 113883, 3. 989, 5, 1. 3. 2, 1, 10" displayName="/R HH[EI%L"/>
<value xsiitype="INT" value="1"/>
(l— egaJz. 13.1. 1 JEHIEE #1 —>
{/observation>
</conponent>
{compenent typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
{cade code="8" codeSystem="2. 16. 840, 1, 113884, 3. 989. 5. 1. 3. 2. 1. 10" displayName="%} 8 8" />
<value xsi:type="ED">J2, 13.r. 2¢/value>
<l gRaJ2. 13.r.2: H&EES B —
</obsarvation
{/eomponent>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EYN™>
{code code="9" codeSystem="2. 16. 840, 1. 113883, 3, 98%. 5. 1. 3. 2. 1, 107 displayName="PRASE3R"/>
{value xsi:type="CE" code="]J2.13.r.3" codeSysten="2. 16,840, 1, 113883. 3. 989. 5.1.3.2. L7177/
¢1— @@872.13. 1. 3: PAREHH H1 —>
{/observation>
</component>
{component typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1, 113883, 3. 989. 5. 1. 3. 2. 1. 107 displayName="ik¥ P DEROFE"/>
<value xsi:type="BL" value="true"/>
{1~ g8aY2. 13.1.4: WEPOEROHTE #1 -
</ohservation?
{/camponent?
</organizery’
</sub ject0f2>
{subject0f2 typeCode="SB]">
{organizer classCode="CATEGORY” moodCode="EVN™>
¢eode code="1" codeSystem="2. 16.840. 1, 113883, 3,989,5,1,3.2. 1. 117 dlsplayName—’a‘fa&m&E >
{component typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN">
Soode code="T" codeSysten="2. 16, 840. 1. 113883, 3, 989, 5. [.3. 2. 1.10" displayName="/& i [E1%" />
<value xsiitype="INT" value="1"/)
<l— 8eaj2. 13, r. 1 JRHERK 2 —
{/observation>
</component>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
_ <code code="B" codeSystem="2, 16. 840, 1. 113883, 3. 989, 5. . 3. 2. 1. 10" displayName="3%f 58" />
<value xsi!type="ED">J2.13.r. 2{/value>
<I— e@88J2. 13, r. 2 FEIRA 2 —
<fohservation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS" moodCade="EVN™>

{code code="9" codeSystem="2.16.840. 1, 113883, 3,989, 5, 1, 3, 2, 1. 10" displayName="BRZE$R"/>
<value xsi:type="CE" cede="J2, 13,r.3" codeSystem="2. 16.840. 1. 113883.3,980.5. L. 2. L. 7°/>
<|— @e@Jz, 13.r. 3: BARAE 42 —>
{/ohservation?
</ componsent>

{component typeCode="COHP™>
<observation classCode="0BS" moodCode="EVN™>
{code code="10" codeSystew="2, 16. 840, 1. 113883, 3,989, 5. 1. 3,2, 1. 10” displayNome="HE R DEMOFE"/>
<value xsi:type="BL" value="false”/> -
- «l— @gaJ2, 13, 1. 47 BIEPOEFIOHFE 2 —>
{/ohservation>
</compunent>
{/organizer>
{/subjectOf2>
{/primaryRole>
</subjectl>
{compenentl typeCode="COMP"> *
{observationEvent clessCede="0BS” moodCode="EVN™>
(code code="10" codeSystem="2.16.840. 1. 113883. 3,989.2, 1. 1. l& displayName=" comment'/)
<value xsi:type="ED">H. 4</value>
<I— H.4: Sender's Comments —»
Cauthor typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™> ]
<code cade="1" codeSystew="2. 16.540. 1. 113883.3.989,2. 1. 1. 21" displayName="sender"/>
{/nssignedEntity>



{/author>
{/cbservationBvent>
{/component1>
<compohentl typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN™>
<code code="3" codeSystem="2. 16, B40. I, 113883, 3.989,5, 1, 3. 2. 1. 10* displayName="shm Tzt H a2 A 10
<value xsi:type="ED">J2,7, 2¢/valued>
<I— @@aJe.7.2: KETRMHTIaA L —
</observationEvent>
{/component1>
<componentl typeCode="COMP™>
{ehservationBvent classCode="0B5” mocdCade="EVN™>
{code code="5" codeSystem="2. 16, 840, 1. 113883, 3. 989.5. 1. 3. 2. 1, 10" displayName="21& hsfI" />
Cvalue xsiitype="ED">J2. 10</value>
© Kl— e@aJe. 10: SRoHE —
{/observationEvent>
{/component1>
{componentl typeCode="COMP™>
SobservationEvent classCode="0BS" meodCode="EVN">
<code code="6" codeSystems 2, 16, 840, 1, 113883, 3, 989, 5. 1. 5. 2. 1, 10”7 displayName=" %@ﬂﬂ##‘ﬁﬁ'ﬂ
<value xsi:type="ED">]J2. 11</value>
<l— @geJ2.11: FToOMBEEGE —
{/observatienBvent>
</componentl>
{componentl typeCoda="COMP*>
{observationEvent classCode="0BS" moodCode="EVN">
{code code="12" codeSystew="2. 16.840. 1, 113883, 3, 980.5. 1. 3. 2. 1. 10" displayNane="$f5HNEDBE ",
<value xsi:type="ED">J2. 16</value>
<1— 8@8J2. 16: WERBEOEL —
{/ohservationEvent>
</componentl>
{/adverseEventAssessment>
" </component?
<component typeCode="COMP">
{observationBvent classCode="OBS" moadCode="EVN™>
<code code="23" codeSystem="2. 16.840. 1. 113883. 3. 959, 2. 1. 1. 19 dlsplayName— localCriteriaForExpedited” />
<ynlue xsi:type="BL" value="true”/>
{1— C.1.7: Does This Case Fulfl] the Local Criteria for an Expedited Report? —>
{/observationEvent>
{/component>
{outboundRelationship typeCode— SPRT™>
{relatedInvestigation classCode="INVSTG” moodCode="EVN™>
{code code="1" codeSystem="2. 16. 840, 1, 113883, 3.989. 2. 1. 1. 22" displayName="initialReport”/>
<subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT™ moodCode="EVN™>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{code code="C, 1,8, 2" codeSy;tem‘—"Z. 16, 840, 1, 113883,3,980,2, 1,1, 37/>
<l— C.1.8.2: First. Sender of This Case —>
</assignedEntity>
{/author>
¢/controlActEvent>
</subject0f2> ‘
{/relatedInvestigation>
{/outboundRelationship>
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG" moodCode=" EVN 2
<code nullFlavor="NA"/>
{subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN™>
{id extension="C.1.10.r" root="2.16. 840, 1. 113883, 3,989.2.1.3.2"/>
¢!— C.1.10,r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
{/controlActEvent>
{/subjectOf2>
¢/relatedInvestigationd
</outbeundRelationship)
{outhoundRelaticnship typeCode="SPRT">
(relatedInvestigation classCode="INVSTG™ moodCode="EVN">
<cade nullFlaver="NA"/>
¢subjectOf2 typeCode="SUBJ™>
{centrolActEvent classCodes"CACT” moodCode="EVN™>
¢id extension="C. 1. 10. r" root="2. 16, 840, 1, 113883, 3,988, 2,1,3,2°/>
¢l== C.1.10.r: ldentification Number of the Report Which Is Linked to this Report (repeat as necessary) #Z —>
¢/controlActEvent?
{/subjectOf2>



¢/relatedInvestigation>
</outhoundRelationshipy
{subjeetOf] typeCode="SUBJ"™>
{controlActBvent classCode="CACT" moodCode="EVN">
<author typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
{addr)
{streetAddressLinebC. 3, 4. 1{/streetAddressLine
¢l— €.3.4.1: Sender's Street Address —>
{eity>C. 3. 4. 2{/city>
¢l €.3.4.2! Sender’s City —>
{state>C. 3. 4, 3{/state>
{l-— C.3.4.3: Sender's State or Province —>
</addry
<assignedPerson classCode="PSN" detarmmerCode— INSTANCE™>
{name>
<prefix>C. 3. 3, 2</prefix>
<|~= C.3.3.2: Sender’s Title —>
<given>C. 3. 3. 3¢{/given>
¢l— €.3.3.3: Sendex’ = Given Name ~—>
. £given>C, 3, 3, 4¢/given>
¢!— C.3.3.4: Sender’s Middle Name —>
<family>C. 3. 3. 5</family>
¢!— . 3.8.5: Sender’ s Family Name —>
{/name>
{asLocatedEntity elassCode="LOCE™>
¢location classCode="COUNTRY”™ determinerCode="INSTANCE™
{code code="C, 3, 4.5" codeSystem="1. 0. 3166. 1.2.27/>
¢l=- C.3.4.5: Sender’ s Country Code —>
{/location>
. {/asLocatedEntity>
{/nssignedPerson>
{representeddrganization classCode="ORG” determinerCode="INSTANCE™>
{name>C, 3. 2¢/none>
¢l— C.3.2: Sender’s Organisation ——>
{/representedOrganization>
¢/assignedEntity>
</author>
{/controlActEvent>
</suh ject0Of1>
<subjectOfl typeCede="SUBJ">
{controlictEvent classCode="CACT” moodCode="EVN">
¢id assigninghuthorityName="C.1.9.1.r.17 extension="C.1.9.1.r.2" root="2, 16.840.1. [13883,3.989,2,1,3,3°/>
I~ €. 1.9.1.1.1: Seurce(s) of the Case Identifier (repeat as necessary) #1 ==>
‘ ¢J— € 1.9.1. 1.2 Case Identifier(s) #1 —>
</controlActEvent>
</subject0f1>
¢subjectOf1 typeCode="SUB]">
<controlActEvent classCode="CACT” moodCode="EVYN">
<id ass1gn1ngAuthontyName- C.1.9.1.r. 17 extension="C. £. 9. 1. r. 2" root="2, 16. 8B40, 1, 113883, 3,989, 2, 1 3,3/
4— C.1.9.1.1r.1: Source(s) of the Casc Identifier (repeat as necessary) #2 —>
¢1— . 1.9.1. 1.2 Case Identifier(s) #2 ——> ’
" ¢/controlActBvent)
</sth jeetOfI>
<subjectOf2 typeCode="SUB]"> .
<investigationCharacteristic classCode="0BS" moodCode="E¥N">
<code-code="1" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2, 1, 1. 23" displayName="ichReportType™/>
<value asiitype="CE* cede="C. 1, 3" codeSysten="2. 16,840, 1, 113883,3,989,2,1,1.2"°/>
¢1— C.1.3 Type of Report —>
</investigationCharacteristic?
¢/subject0f2>
{subject0fZ typeCode="SUBJ">
<investigationCharacteristic classCode="CBS” moodCode="EVN™>
<code codes"2" cadeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 23" displayName="otherCaselds”/>
<value xsi:type="BL" value="true”/>
<}=— €.1.9.1 Other Case Identifiers in Previous Transmissions =)
</investigationCharacteristic> .
{/subject0f2>
{subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS" moodCode="EVN™> .
<code code="3" codeSystem="2. 16. 840. 1, 113883, 2. 989, 2, 1. 1. 23" displayName="nullificationAmendnentCada”/>
<value xsi:type="CE” code="C.1,11.1" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 5°7/>
<!=— C.1.11.1: Report Nullification / Amendment -
{/investigationCharacteristic>
{/subject0f2>



<subject0f2 typeCode="SUBI">
{investigationCharacteristic classCode="0BS" meodCede="EVN™>
<code code="4" codeSystem="2, 16, 840, 1. 113883, 3, 989, 2. 1. 1. 23" displayName="nullificatisnAnendnentReason™ />
{value xsi:type="CE™)
{originakText>C. 1. El. 2</ariginal Text>
¢!— C.1.11.2: Reason for Nullification / Amendment —>
<{fvalue>
<{/investigationCharacteristic>
</subjectOf2>
<subjectQf? typeCode="SUBJ]">
{investigationCharacteristic classCade="DBS" moodCode="EVN™>
<code code="1" codeSysten="2.16. 840. 1. 113883, 3. 989. 5. . 3. 2. 1. 12" displayName="HEENET (HERH "
{value xsiitype="CE” code="]2. 1a” codeSystem="2. 16, 840. 1. 113883.3.989.5.1.3.2. 1. 1*/>
{1— eearz. 1a: WREE BESE —
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS" moodCode="EVN™)>
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3.980.5. 1. 3. 2. 1. 12" displayName="$R4540H B />
" ¢value xsi:type="TS" value="20130107"/>
. <I— epfJe. 2. 1: RERFEH — .
{/investigatienCharacteristic>
{/subjectQf2>
{subject0f2 typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS” mcodCode="E¥YN">
<code code="3" codeSysten="2. 16. 840. 1. 113883. 3.989.5. 1. 3. 2. 1. 127 displayName="8SHAAIZWT 324> ")
<value xsi:type="ED">]J2.2. 2¢/value>
- @88J2.2.2: HERRAKRTSaAYE —
{/investigationCharacteristic>
{/subject0f2> .
{subfectlf2 typaCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
<eode code="4" codeSystem="2. 16. B40. L. L13883. 3, 689, 5. 1. 3. 2, 1. 12" displayName="E[EEsRis 75 &7/
{value xsi:type="CE” code="J2.3" codeSystem="2, |5, 840, 1, 113883. 3,989, 5.1. 3. 2. 1. 2°/>
<1— @8aJ2. 3: PBIRMRE T T —
</investigationCharacteristic>
{/sub jectdf2>
<finvestigationBvent>
</subject>
{/contralActPrecess)
</PORR_IN0490I6LV>
¢l Hessage #1 —>
¢l— Message #2 —
<]~ PORR_IN0O490160V —>
{l—— /PORR_INO4S016UV —>
{l— Message #2 —>
<receiver typeCode="RCV™>
{device classCode="DEV" determinerCode="INSTANCE™)
<id extension="N.1.4" root="2.16.840. 1. 113883.3.989.2. 1.3. 14" />
¢!— N.1.4: Batch Receiver Identifier —»
</device)
{/receiver>
¢sender typeCode="SND">
{device classCode="DEV™ determinerCode="INSTANCE">
¢id extension="N.l,3" root="2, 16, B40, 1, 113883, 3. 989.2. 1. 3. 13"/>
{l— N.1.3: Batch Sender Identifier —>
</device> N
</sender>
</HCCI_IN200E00UVOL>
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XPath /MCCI 1N200100UV01[@ITsversion='XML_1.o'][@xsi:schemaLocation='urn:h17-
orgwv3

MCCI_IN200 100UV01.xsd/PORR._IN0490 16UV[r]/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'/ sub]ect[@typeCode='SUBJ N[1]/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN'l/subjectOf2[@typeCode="SUBJ'][inve
stigationCharacteristic/code[@code="1"][@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.121[1)/investigationCharacteristic[@classCode="OBS" [@mood Code="EVN'
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XPath /MCCI IN200100UV01[@ITSVer51on—'XML 1.0'l[@xsi:schemaLlocation="urn‘hl7-
org:v3 |

MCCI_IN200100UV01.xsd'l/PORR_ IN049016UV[1']/controlActProcess[@classCod
e='CACT[@mood Code="EVN'l/subject[@typeCode="SUBJ'|[1}/investigationEvent
[@classCode=INVSTG'][@mood Code="EVNI/id[@root='2.16.840.1.113883.3.989.5.
1.3.2.3.11{1]/@extension
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XPath

e='CACT'l[@moodCode="EVN"l/subject(@typeCode="SUBJ'I[1)/investigationEvent

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn:hl7-
org.v3 .
MCCI_IN200100UV01.xsd')l/PORR_IN049016UVIr]/controlActProcessl@classCod.

[@classCode="INVSTG [@moodCode="EVN'l/subjectOf2[@typeCode="SUBJ'l[inve
stigationCharacteristic/codel@code='2"l[@codeSystem='2.16.840.1.113883.3.989.5.
1.8.2.1.127][1)investigationCharacteristic[@classCode="OBS'| [@mood Code="EVN'
Itvaluel@xsi:type="TS'l/@value :
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| CE—BICBNT, [C.LAEREL D EMCEERATE SRR & [J2.2.1 B4
BA BRRLGE )
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XPath MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT][@mood Code="EVN"/subjectl@typeCode="SUBJ'}[1)/investigationEvent
[@classCode="INVSTG'N{@mood Code="EVN"/subjectOf2[@typeCode='"SUBJ|[inve
stigationCharacteristic/code[@code='3'[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.12'11[1]/investigationCharacteristic[@classCode='OBS'] [@mood Code="EVN'
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. XPath

/MCCI_IN200100UV01[@ITSVersion=XML,_1.0'{[@xsi:schemaLocation="urn:hl7-
org-v3 |

MCCI_IN200100UV0 1.xsd'//PORR_IN049016UVIxrl/controlActProcess[@classCod
e='CACT"] [@mood Code="EVN/subjectl@typeCode='SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN')/subjectOf2[@typeCode="SUBJ'][inve
stigationCharacteristic/codel@code='41[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121[1)/investigationCharacteristic[@classCode="OBS' [@mood Code="EVN'
1/valuel@xsi‘type='CE][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.2)/@code
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0][@xsi'schemaLocation="urn:hl7-
orgv3 ' ‘

MCCI_IN200 IOOUVO1.xsd‘]/PORR_INO490'16UV[r]/controlActProcess[@classCod '
e='"CACT'l[@mood Code="EVN'/subject[@typeCode="SUBJ']|[1)/investigationEvent
[@classCode="INVSTG][@moodCode="EVN"l/component@typeCode='"COMP'|[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG1[@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'l[1)/primaryRole[@classCode=TNVSBJ'
VsubjectOf2l@typeCode="SBJ"] [organizer/code[@code='41[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.201][1]/organizer[@classCode='CATEGORY'] [@mood Code="E
VN'l/component(@type Code='"COMP'][substanceAdministration/id][kl/substanceA
dministration[@classCode='SBADM'l[@moodCode="EVN'l/consumable[@typeCode
='CSM'[1)/instanceOfKind[@classCode="TNST)/kind OfProduct[@classCode=MM
AT'|[@determinerCode="KIND')/asManufactured Product{@classCode=MANU'l/su
bjectOfl@typeCode='SBJ'l [characteristic [1}/characteristiclcode[@code='1][@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.101][1] [@classCode="OBS' [@mood Cod
| e=EVN/valuel@xsi:type='CE'1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.

3')/@code
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation=urn:hl7-
org-v3 '

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIxr)/controlActProcessl@classCod |
e="CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'|[1}/investigationEvent
[@classCode=TNVSTG'][@mood Code=EVN/component[@typeCode="COMP'[adv
erseEventAssessment)[1)/adverseEventAssessment{@classCode=TNVSTG'l{@mo
0dCode="EVN'/subject1[@typeCode="SBJ'1[1]/primaryRole[@classCode="INVSBJ'
VsubjectOf2[@typeCode='SBJ'][organizer/code[@code='4"][@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20][1]/organizer[@classCode='CATEGORY'l [@moodCode='E
VN')/component[@typeCode='COMP'][substanceAdministration/id] [k]/substanceA
'| dministration[@classCode='"SBADM'l[@moodCode="EVN'l/consumable[@typeCode
='CSM'[1)/instanceOfKind[@classCode="INSTV/kindOfProduct[@classCode="MM
AT [@determinerCode=KIND')/asManufactured Product[@classCode="MANTU"V/su
bjectOf[@typeCode="SBJ'] [approvall[1)/approvall@classCode='CNTRCT][@mood
Code="EVN'l/pertinentInformation[@typeCode="PERT[1)/policyl@classCode="PO
LICY'][@moodCode=EVN'/codel@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.
4’]/@code : |
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XPath

(value)

/MCCI_IN200100UVO01[@ITSVersion="XML,_1.0'][@xsi:schemal.ocation="urnhl7-
org:v3 .
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/control ActProcess[@classCod
e='CACT][@moodCode="EVN'l/subject[@typeCode="SUBJ'|[1)/investigationEvent
{@classCode='INVSTG[@moodCode="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode="INVSTG'l [@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'[1}/primaryRolel@classCode=INVSBJ'
I/subjectOf2l@typeCode='SBd'l[organizer/code[@code="4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.2011{1)/organizer[@classCode='"CATEGORY'l [@mood Code="E
VN'//component[@type Code='COMP'] [substanceAdministration/id] [k]/substanceA
dministration[@classCode="SBADMj{@mood Code="EVN'//consumable[@typeCode
='0SM'1[1)/instanceOfKind[@classCode="TNST')/subjectOff@type Code="SBJ'/obse
rvationEventlcode[@code='2"] [@codesystem='2.16_.840.1.113883.3.989.5.1.3.2'.1.10' '
Ni11[@classCode="OBS'l[@moodCode="EVN']/value[@xsi:type='CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'1/@code |

XPath
(null

fiavor)

/MCCI_IN200100UV01[@ITS Version="XML,_1.01[@xsi:schemal.ocation="urn‘hl7-
org-v3 |

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[xl/controlActProcessl@classCod
e='"CACT'][@moodCode="EVN"/subjectl@typeCode="SUBJ1[1)/investigationEvent

[@classCode="INVSTG'[@moodCode="EVN'/component[@typeCode='COMP'1[adv

erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG'[@mo

0dCode="EVN'/subject1[@typeCode="SBJ'] [1)/primaryRole[@classCode='INVSBJ'
I/subjectOf2l@typeCode="SBJ][organizer/code[@code='4"l[@codeSystem="2.16.840.
1.113883.8.989.2.1.1.207][1)/organizer[@classCode='CATEGORY l{@moodCode=E
VN'/component[@typeCode="COMP'][substanceAdministration/idj[1)/substanceA

: | dministrationl@classCode='"SBADM'[@moodCode="EVN'l/consumable(@typeCode

= CSM'I[1VinstanceOfKindl@classCode="INST'l/subjectOf[@type Code='SBJ'l/obse
rvationBEvent{code[@code='2"[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
N1} [@classCode="OBS' [@mood Code="EVN'/value[@xsi:type='CE'l[@codeSystem
='2.16.840.1. 113883.3.989.5‘. 1.3.2.1.5')/@nullFlavor

HERH

WHREILOWT, RETHREXRZETHREORSETT.

ot e

T REFEORERET L TORWESIE, RETHREL LTHRETHZ &, 72
B, BTHREBHEREFREAFLESEEAR. XD TERTHREL LTHRET B,
HL7 Ik W EZREN-a— REAWTRERET I Z &,

[
X
[

HL7 =—F 10A

2y,
[l

active=3R55 T

completed=527T




XPath

/MCCI_INZOOIOOUVO1[@ITSVe;sion='XML_1.0'] [@xsi:schemalocation="urn:hl7-
org.v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{r]/controlActProcessl@classCod
e='CACT} [@moodCode="EVN'l/subject[@typeCode='SUBJ'|[J/investigationEvent

[@classCode="INVSTG'] [@mood Code="EVN'l/statusCode/@code

RETHEDBEL, KETHEORH LT,

L
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B B FCHk

/MCCI_IN200100UV01[@ITSVersion=XML_1.0[@xsi:schemal.ocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'I/PORR_IN049016UVI[r)/controlActProcess[@classCod
e='"CACT"] [@moodCode=EVN'/subjectl@typeCode='SUBJ"|[1)/investigationEvent
[@classCode="INVSTG'l [@mood Code="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessment] [1)/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVN'l/component1[@typeCode="COMP'][observationEvent|code[@code="
31l@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10]1[1)/observationEvent[@c

lassCode="OBS'l[@moodCode="EVNl/value[@xsi:type="ED')/text0
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XPath /MCCI_IN200100UV01[@ITSVersion="8{ML_1.0'l[@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd‘]/PORR_INO490 16UVIx]/controlActPraocessi@classCod
e='"CACT][@moodCode="EVN'/subjectl@typeCode='SUBJ'1[1)/investigationEvent
[@classCode="INVSTG'[@mood Code="EVIN'I/subjectOf2[@typeCode='SUBJ | [inve
stigationCharacteristic/code[@code='5"][@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.12'[1)/investigationCharacteristic[@classCode="OBS] [@moodCode="EVN'
Ivaluel@xsi:type='"CE'l[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.6'1/@code
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F— 5l 10000J

HEIE B HFCE ‘

XPath /MCCI_IN200100UV01[@ITSVersion="¥ML_1.0'[@xsi:schemalocation="urn:hi7-
org-v3 ‘

Iivalue[@xsitype="ED/text(

MCCI_IN200100UV01 xsd'l/PORR_IN049016UV[r)/controlActProcessl@classCod
e="CACT")[@moodCode="EVN'l/subject[@typeCode="SUBJ'][1)/investigationEvent

[@classCode="INVSTG1[@moodCode="EVN']/subjectOf2[@typeCode="SUBJ'][inve

| stigationCharacteristic/codel@code='6'1{@codeSystem="2.16.840.1.113883.3.989.5.

1.3.2.1.12'11[1)/investigationCharacteristic[@classCode="OBS'{@mood Code="EVN'
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XPath . |/MCCI_IN200100UV01l[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urnhl7-
orgv3 . : .
MCCI_IN?.OOIOOUVO1.xsd']/PORR__INO4901GUV[r]/co'ntrolActProcess[@c’lassCod‘
e='CACT'][@mood Code="EVNl/subject(@typeCode='SUBJ'H{1)/investigationEvent
7 I@classCode=‘INVSTG'] [@moodCode="EVN'}/component[@typeCode='COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG][@mo
0dCode="EVN'l/component1[@typeCode='"COMP'][observationEvent[code[@code='
41[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2. 1. 1011 1]/observationEventl@c
lassCode="0BS'][@mood Code="EVNl/valuel@xsi:type="ED')/text0
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XPath

/MCCI_IN200 100UV01[@ITSVer510n—'XML 1.0%[@xsi:schemalLocation="urn:hl7-
org.v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcess[@classCod
e='"CACT']{@moodCode="EVN'l/subjectl@type Code="SUBJ'] [1]/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN'l/component[@typeCode="COMP'} [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'l{@mo -
0dCode="EVN'l/component1{@typeCode='"COMP'] [observationEvent[code[@code="
5'l{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']1[1]/observationEvent[@c
lassCode="OBS'I[@moodCode="EVN'l/valuel@xsi:type="EDT/text(
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XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'l [@xsi: schemaLocation="urn‘h17-
org.-v3

MCCI_IN200100UV01.xsd'J/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'| [@moodCode="EVN/subjectl@typeCode="SUBJ'|[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l//component[@typeCode='COMP'][adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode=TNVSTG'l{@mo
0dCode="EVN')/component 1[@typeCode='COMP'][observationEventlcode[@code="
6'l[@codeSystem="2.16.840.1.113883.3. 989.5.1.3.2.1.10']]][1]/observat1onEvent[@c
lassCode="OBS'l[@mood Code="EVN']value(@xsi:type=ED/text(
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XPath /MCCI_IN200 IOOUVOI[@ITSVersmn—'XML 1.01[@xsi:schemaLocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd']/PORR_INO490 16UV[r)/controlActProcessl@classCod
e='CACT'|[@mood Code="EVN'l/subject[@type Code="SUBJ'I[1)/investigationEvent
[@classCode="INVSTG')[@moodCode="EVN'//component[@type Code='"COMP'][adv
erseEventAssessment)[1]/adverseEventAssessment[@classCode=TNVSTG[@mo
odCode="EVN"/subject 1[@typeCode="SBJ'][1]/primaryRole[@classCode=TNVSBJ'
J/subjectOf2[@typeCode='"SBJ j [organizer/code[@code='4"T[@codeSystem="2.16.840.
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1.113883.3.989.2.1.1.2011[1)/organizer[@classCode="CATEGORY'[@moodCode="E
VN'l/component[@type Code="COMP'] [substanceAdministration/idl/substanceAd

ministration[@classCode='"SBADM'[@mood Code="EVN'][consumable/instanceOf

Kind/kindOfProduct/ asSpecializedKindlgeneralizedMate,ria]Kind/code!briginalTe
xtl[1)/consumablel@typeCode="CSM1[1)/instanceOfKind[@classCode=TNST'|/kin |
d0OfProducti@classCode="MMAT'][@determinerCode="KINDVasSpecializedKindl
@classCode="GEN'][1)/generalizedMaterialKindl@classCode="MAT'l [@determiner
Code="KIND")/code/originalText/text(
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XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'@xsi:schemalLocation="urn*hl7-
orgv3

MCCI_IN200100UV01.xsd'[/PORR_IN049016UV[rl/controlActProcessl@classCod
e='"CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ "[1)AinvestigationEvent
[@classCode="INVSTG [@moodCode="EVN/component[@typeCode='COMP'[adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode=TNVSTG'][@mo

0dCode="EVN'//subject1[@typeCode='"SBJ'][L]/primaryRole[@classCode=TNVSBJ'
I/subjectOf2[@typeCode="SBJl[organizer/codel@code= 1'l[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11 1] [x}/organizer[@classCode='CATEGORY'][@mood Code
=EVN')/component[@typeCode='"COMP")/observation[@classCode="OBS'l[@mood

Code="EVN'[code[@code="71[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
1I/valuel@xsi:type=INT')/@value :

o
THE A BER T LI, BBREHERESCEHRIN TV IHEEB 2T D,
FLERLT I TR R B ZEH LTV ASAIE. THfE2EB T2 LA TE 5. 2B, BRE
| EREAEELTVWARVEA I, BRERHEEICERLCOINRRBERET S
T b, A—0OBEBRERHEE COEROREENS L TIHAIT. V< TEE- TR
BTozt.
F—28 | 1000J
(G2 - =1
XPath /MCCI_ IN200100UV01[@ITSVers1on"‘XML 1.0][@xsi: schemaLocatlon—'urn hi7-

org-va

MCCI_IN200100UV01.xsd'[/PORR_IN049016UV[tl/controlActProcessl@classCod
e='CACT'] [@mood Code="EVN'l/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'l/component[@typeCode='"COMP][adv |

9




erseEventAssessment][1]/adverseEventAssessmentl@classCode="TNVSTG'[@mo
0dCode="EVN'l/subject 1[@typeCode="SBJ'[1)/primaryRole[@classCode=TNVSBJ
1/subjectOf2[@typeCode="SBJ'l[organizer/code[@code="1"1{@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11')l{r)/organizer[@classCode="CATEGORY | [@moodCode
—'EVN']/component[@typeCode—'COMP']/observation[@classCode—'OBS'] [@mood
Code="EVN'l[code[@code='8'] [@codeSystem="2.16.840.1. 113883 3.989.5.1.3.2.1.10°
[lvaluel@xsi:type="EDl/textQ

TEHE | R ERECER ST B BRI TR,
ik | BRGHEE M E R LV BB AT, EREAT 5 LATE B, 2B, BEH
FBBZRM LTORVEAICIE, BISES & 0 R 7 — MEZRR L CRRT 5 =

&,
7=z IN
TFAE BUAK 5 &R * “n
XPath /MCCIL_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemal.ocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd VPORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'l/subject[@typeCode="SUBJ'I[1]/investigationEvent
[@classCode=TNVSTG']{@moodCode="EVN'//component[@typeCode='"COMP'| [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'[{@mo

0dCode="EVN'l/subject1[@typeCode='"SBJ'|[1]/primaryRole[@classCode="TNVSBJ'
l/subjectOf2[@typeCode="SBJ'llorganizer/code[@code="1"1l@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'11 [r}/organizerl@classCode="CATEGORY'] [@mood Code
='EVN'l/component[@typeCode="COMP")/observation[@classCode="OBS"l{@mood

Code="EVN'][code[@code='9"] [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
Ivaluel@xsiztype='"CE'll@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.7'/@cod

”ﬁaﬁ@““é ﬁmwﬁﬁmﬁ&&£¢wmﬁ%@ﬁﬂ%w#o

mE TR a— RMETRALL TV RTHZYERVWBZHEEIX ITrue=F ] 75: WRWIBEIE
[False=8E] ZBURT DT &,

F—58 | 7R 10A

FrEE true=%4
' false =%E

10




XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0[@xsi:schemalocation="urn’hl7-
org-v3 |
MCCI_IN200100UV01.xsdl/PORR_IN049016UV[r)/controlActProcess@classCod
e='"CACT'][@moodCode="EVN'subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'Vcomponent[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment{@classCode=INVSTG'l[@mo
0dCode="EVN"/subject1[@typeCode="SBJ'l[1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode="SBJ'|[organizer/codel@code="11[@codeSystem="2. 16.840.
1.113883.3.989.5.1.3.2.1.11'1{r)/organizer[@classCode='"CATEGORY'] [@moodCode
="EVN')/component[@type Code='"COMP'}observation[@classCode='"OBS'l[@mood
Code="EVN'llcodel@code="10"[@codéSystem="2.16.840.1. 113883 3.989.5.1.3.2.1.1

']]/value[@x51 type="BL'l/@value

ETEr

”%ﬁ@% T ﬁﬁwﬂﬁm%mﬁﬁﬁﬁﬁém6$@fé&w%mfﬁé%Am

KA, FEOMDBEIEEEM LT 5, ICSR IRE @ E.i.2.1b BHER /A EHES (MedDRA
a—R) LREE-SH AN, BHEREICRS - BEAER 575, (FRIEOHEERET,
ABABED (8. TOMOBREMERSEHECHELTOREFE © (1) 288T
k)

HEFE | - FENOBBRLTERTLII L,

F—&8 | IN

FrEE 1=3R%0
2=BLA

XPath | MMCCI_IN200 100UV01[@ITSVersion=‘XML_1.0‘] [@xsi:schemaLocation="urn:hl7-

orgv3d
MCCI_IN200100UV01.xsd'l/PORR _ IN049016UV[r]fcontrolActProcess[@classCod
e='"CACT1[@moodCode="EVN/subject@typeCode="SUBJ'|[1)/investigationEvent
[@classCode=TNVSTG'] [@mood Code="EVN/componentl@typeCode="COMP] [adv
‘erseEventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'l [@mo
0dCode="EVN)/subject 1[@typeCode="SBJ1[1//primaryRole[@classCode='TNVSBJ'
l/subjectOf2[@typeCode="SBJ[observationfid]lcodel@code='29'] [@codeSystem="2.
16.840.1.113883.3.989.2.1.1.191]1[il/observation[@classCode='0BS ] [@mood Code=
"EVN/outboundRelationship2[@typeCode="PERT'] [observation/code[@code="11"1[
@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10'] [1]/observation[@classCode=
'OBS'[@moodCode="EVN}/value [@xsi:type="CE'] [@'code.Systelm"—;'Z 16.840.1.11388

EEET:

B

BT, AEICB O CHENERARSN T BHE

ARERTY ..
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FEE5IE Eo— Fb@EdRa— FEERUTRERTIZ &,
MIcs DS, EE/NMETSEOMBEXII. RREMBFOEZRHRT S &,
7o, AEEEREDOES, BEET-EBZRE&TIZ L, :
BERESICBVT, BEEORMUBILL > TR—OHER L SNERE, 1 20H
HLLTHRELTELE LRV, TORICEIAREEL 1 FBICERHL. BV ELEFH
BLT, ZBEURIZZOMDAREEZEHTIHIZ &,
# A, A—OEBEAE TR ENEAICE. SEAREICSWTEBNRET 3, %
DB, BRSSO ICHT CUMBNREORREEERT I &, YEBED
AREPREEHIPHEESIIRVELENATLHZ &,
7B, FEOEERANFRERIGEIIX. REETHI L,

F— R 2A ,

FrEE ISO 3166-1 77 7-2 DE=—F ‘ :

XPath /MCCI_IN200100UV01[@ITS Version=XML_1.0"l[@xsi:schemaLocation="urn:hl7-

| e="CACT'][@moodCode="EVN'l/subjectl@typeCode="SUBJl[1)/investigationEvent

orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessi@elassCod

[@classCode=TNVSTG'1[@moodCode="EVN'l/referencel@typeCode="REFR'][docu
ment/codel@code='2][@codeSystem="2.16.840.1.113883.3.989.2.1.1.277][r}/docum
ent[@classCode=DOC'][@moodCode=EVN/participation[@typeCode="AUT"]/assi
gnedEntity[@classCode='"ASSIGNEDI/representedOrganization[@classCode="OR
G'l[@determinerCode="INSTANCE'/asLocated Entity[@classCode="LOCEocatio
nl@classCode="COUNTRY")[@determinerCode=INSTANCE'l/codel@codeSystem=
'1.0.3166.1.2.2']/@code

| 9216 " BEREOE

FRBE L AR EREOSE. SUBEOREOERETT,

HEHAA
m#FE | AL
| F—#% | 500
HAE Efzz ki q
XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r]/controlActProcessl@classCod
e='"CACT"l[@moodCode="EVN'/subject[@typeCode="SUBJ'][1]/investigationEvent
[@classCode='INVSTG'H@moodCode="EVN'l/component[@typeCode='"COMP'] [adv
erseEventAssessment][1]/adverseEventAssessmentl@classCode=TNVSTG[@mo

0dCode=EVN"/component1[@typeCode="COMP'][observationEvent[code[@code="
12'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.101]][1)/observationEvent[@
="ED'/text()

classCode="OBS'l[@mood Code="EVN'l/value[@xsi‘typ

12



HE#H WEEsREDHE, TRERMER TR Xix FERRRER T3] OZRT.
mEFE | kL ' ’
F—5E 1N
FrAfE 1=FE R 3B BT
o=JEEPRER, B %8
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0"[@xsi:schemaLocation="urn:h17-

orgv3 -
MCCI_IN200100UV01. xsd’]/PORR IN049016UVIrl/controlActProcessl@classCod
e='CACT']|[@moodCode="EVN'l/subjectl@typeCode="SUBJ'[[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN/referencel@typeCode="REFR[docu
ment/code[@code="21[@codeSystem='2.16.840.1.113883.3.989.2.1.1.27T1[x}/docum
ent[@classCode="DOC[@mood Code="EVN'l/title/text(

J218.1  EEERR

TH H #LA ICSR DFEAEHE DA 2T,

FEFE | MSITEE AEES EREISERSHUE L RHT 5,

F—z& | 100J '

HrAME B e Re

XPath /MCCI_IN200100UV01[@ITS Version=XML_1.0'l[@xsi‘schemaLlocation="urn’h17-
orgv3d

MCCI_IN200100UV0 1.xsd']/PORR_INO490_1GW[r]/controlActProcess[@classCod
e='CACT'] [@mood Code="EVN'/subjecti@type Code="SUBJ'|[1)investigation Event
[@classCode="TNVSTG'[@moodCode="EVN'l/subjectOf1[@typeCode="SUBJ'][cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode="CAC
T [@moodCode—'EVN']/primaryInformationRecipient[@typeCode—'PRCP']‘/assign |
edEntlty[@classCode“'ASSIGNED']/representedOrgamzatlon[@classCode““'ORG ]

[@determmerCode“’INSTAN CE I/ meftextO

”umgoﬁmﬁwﬁggérfc

ias RS HER LHE#HT 5,

7— s R 100J

FrAE B HEEk

XPath /MCCI_IN200100UV0 1[@ITSVersion="XML,_1.0'/[@xsi: schemaLocatmn-‘urn hi7-
org'vad

MCCI_IN200100UVO01. xsd'//PORR_IN049016UVIr)/controlActProcessl@classCod
e='CACT"|[@moodCode="EVN')/subjectl@typeCode='SUBJ'1[1)investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN'l/subjectOf[@type Code="SUBJ"lcont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode="CAC

T @moodCode="EVNl/primaryInformationRecipient[@typeCode="PRCP')/assign
| 13




edEntity[@classCode='ASSIGNED/assignedPersonl@classCode="PSN'l[@determ
1nerCode—'INSTAN CE']fname/preﬁx[l]/textO

J2I83 CREEE .

%‘@&E%aﬁ‘c

HHE ;REBEJ ICSR @Fi{ =
FEAE BWEOHEREOHZ TR T .
— 5By 100J '
FAE B Bt .
XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'[@xsi:schemal.ocation="urn:hl7-
orgva

MCCI_IN200100UVO1. xsd]/PORR _IN049016UV[r]/controlActProcess@classCod
e="CACT']l@mood Code="EVN'l/subject[@type Code='SUBJ'|[1]/investigationEvent
[@classCode='INVSTG'][@mood Code="EVN')/subjectOf1[@type Code="SUBJ Tlcont
rolActEvent/primaryInformationRecipient}{1]/controlActEventi@classCode="CAC
T [@mood Code="EVN'l/primaryInformationRecipientl@type Code="PRCP')/assign
edEntity[@classCode='ASSIGNED')/assignedPersonl[@classCode="PSN'|[@determ

1nerCode“'INSTAN CE']/name/famﬂy[l]/textO

J2.18.4. F‘-in%‘,_;ﬂ.“

ICSR R (EE DL &R

THEEE
T BHEoBEROAZRET S,
F—F 8 100J
A B BEHE
XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'[@xsi:schemalocation="urn:hl7-
org-v3
/| MCCI_IN200100UV01.xsd'/PORR_IN0490 16UV[r]/controlActProcess[@classCod
e='CACT'][@mood Code="EVN')/subjecti@typeCode='SUBJ'] [1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'V/subjectOf1[@typeCode='"SUBJ"] [cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode='"CAC
T'][@mood Code="EVN'l/primaryInformationRecipientl@type Code="PRCP!/assign
edEntity[@classCode='ASSIGNED')/assignedPerson[@classCode="PSN'][@determ
inerCode="INSTANCE'//name/given[1}/text()
J219 WEL. o LA
HEA FiER
EETE kL
Vahub it 10000J
R EfzzEan
XPath, /MCCI_IN200100UV01[@ITSVersion=XML,_1.0'][@xsi’schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'/PORR_IN049016UV[r)/controlActProcess[@classCod
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e='CACT[@moodCode="EVN'/subject@typeCode="SUBJ'H[1}/investigationEvent
[@classCode="INVSTG'] [@moodCode='EVN']/component[@typeCode=‘COMP']‘[adv
erseBventAssessmentl[1]/adversefventAssessment[@classCode="INVSTG' [@mo
0dCode="EVN')/component1[@typeCode="COMP"l[observationEvent[code[@code='
13"1[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'][1}/observationEvent[@

classCode='0BS"N{@mood Code="EVN'l/value[@xsi:type="ED"l/text(

TFiHEE

2L

10000dJ

B i ek

/MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemaLocation="urn:h17-
org:v3 '

MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r)/controlActProcessl@classCod
e='CACT'] [@mood Code="EVN"V/subject[@typeCode="SUBJ[1}investigationEvent
[@classCode=TNVSTG) [@moodCode="EVN'//componenti@type Code='COMP'] [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG][@mo
odCode="EVN'//component1[@typeCode='COMP'l[observationEventlcode[@code=",
141[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']][1)/observationEvent(@

classCode="OBS1[@moodCode="EVNlvaluel@xsi:type="EDV/text(

H B /A FHEEE

FLE T A 3L

F—&% | 10000J

FEE ERzzErmhan

XPath /MCCIL_IN200100UVO01[@ITS Version="XML_1.0'[@xsi:schemalocation="urn:hl7-
org-v3 :

MCCI_IN200100UV01.xsd)/PORR_IN049016UV[rl/control ActProcessl@classCod
e='CACT][@moodCode="EVNT/subject[@typeCode='SUBJ'][1)/investigationEvent
[@classCode=TINVSTG[@moodCode="EVN'//component[@typeCode='"COMP][adv
erseEventAssessment][1)/adverseEventAssessmentl@classCode="INVSTG'] [@mo
odCode='E‘VN‘]/component1[@typeCode='COMP'] [observationEvent{code[@code="
157[@codeSystem="2.16:840.1.113883.3.989.5.1.3.2.1.10'1{1[1)/observationEvent[@ |
classCode="OBS'T@moodCode='"EVN/valuel@xsi:type="ED1/text(

B iA FHEE R
REFIE L

F—HE

10000J
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HAE =Rz
XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'[@xsi:schemalocation="urn:hl7-
' org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[r}/controlActProcess(@classCod

e='CACTl[@moodCode="EVN'l/subject[@typeCode='"SUBJ}[1)/investigationEvent

[@classCode="INVSTG'l[@mood Code="EVN'l/component[@type Code="COMP'l[adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode=TNVSTG'{@mo
0dCode="EVN')/component1[@typeCode="COMP'][observationEvent[code[@code='

16'][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10T]I{1)/observationEvent[@

classCode='0OBS'l[@mood Code="EVN']/value[@xsi:type="ED'l/text()
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